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SecTioON ONE — VVORKING WITH INUMBERS q

Place Value

For each row of numbers below, circle the number that has the smallest valuye,

1. 2076 2109 10 102 1979 2000

2. 106 6.15 15.06 10.56 100.50

3. 4755 54.75 7.55 7.09 15.01

4. 980.1 974.8 98.01 98.45 98.1

5. 0.946 0.878 1.811 1.02 0.923 @

Copy out the numbers below, and add a decimal point so that each number has 5 tens.
Example: 35982 'Va e :]2 \}]_\ \T\ S
— ~1nt; he tenS o LW /
- [um ; Iy 7
6. 62520 m ) = [othelefi of e de;’.” ™0 placeg-

- ]71 lmal OInt- —
7R {{/T U'te”t/zsp “ ~
L__J:] SR
\

7. 51303

9. 210522 EI:J_JD_U
10. 325781 U__::DDDD

Write down the number each arrow is pointing to.

L s ﬂ' ————————t—————— H ] !
35 85

e, H’ e Dm
40 60

S — i At l I “ ]l l
5.8 5.9

14. Stacey wrote down the heights, in feet (ft), of five mountains in Europe.
Circle which one is the tallest.

A 11227 ft B 11293 ft C 10991 ft D 11112 ft E 112421t

15. Which of these pairs of numbers are the same distance from 14? Circle the answer.

A 13.74 and 14.36 C 14.61 and 13.49 E 144 and 13.8
B 13.82 and 14.18 D 13.33 and 14.33 n

Section One — Working with Numbers



Rounding Up and Down

Circle each correctly rounded answer.

1. 6726 to the nearest 100 6720 6800 6700 7000 6730
2. 9345 to the nearest 10 9340 9346 9350 9400 9300
3. 64.77 to the nearest whole number 65 65.70 60 64 64.7

4. 0.287 to the nearest hundredth 0.29 0.30 0.20 0.289 0.299
5. 1095.93 to the nearest 100 1096 1100 1090 1105 1000

Round 4990.63 to:
e

6. the nearest 10. ) ”
(e =

7. the nearest 1000. l |
e

8. the nearest tenth. l[ J

9. the nearest whole number. ‘ “

10. the nearest 100. l “ ][_E

11. Which of these is equal to 2400? Circle the correct answer.

2351 rounded to the nearest 1000
2347 rounded to the nearest 100
2356 rounded to the nearest 10
2389 rounded to the nearest 10
2439 rounded to the nearest 100

12. Round 36.572 kg to the nearest 100 g. [:]Dm i

13. A newspaper reports that there were 45 500 people at a football match.
This number has been rounded to the nearest 100.

What is the fewest number of people that could

have been at the football match? U:]m
14. Josie measures the length of the school field as 125.639 m.

How long is the field to the nearest 10 cm?

Give your answer in metres. DD{ I I I \ m
15. The population of a city is 437 985.

What is the population of the city to the nearest 10 000? Lum

, Section One — Working with Numbers
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Section Ope —

r to each calculation.

6
o s oo TS
s :j 6. 3303 + 4868 m
s asesss (] |

)
SO S T N | (VA ’ /
S~ .
—  Hint: If you use the column method f, ;}z 2
1 - ; : . ése ~
: n. . -
Write down the answer to each calculatio —questions, remember to line up the decimq] Poingg =
////I/lll\\‘\ ’”31:
\
7. 93+3.5 k
8. 62+17.8

N
:D 10. 25.7+24.5 m\
—
:_m 11, 11.23+458 | m
chocolate bar for 38p and a carton of orange juice for 64p.

Tom bought a banana for 32p and bubblegum for 29p.

How much did they spend in total? £ l ’ I D

The Quick Café menu is shown on the right.

9. 34.23+22.73

smm

12. Jasmine and Tom went to the sweet shop. Jasmine bought a

13. Mrs White buys a bacon roll and Quick Café Menu
a tea from the Quick Café.

Bacon roll £1.45
How much does she spend? £ ( l 'UD Toast and jam £1.25

Full breakfast £1.85
14. Mr Brown stopped for a snack at the Quick Café and spent Tea 75p
exactly £3.55, Which items did he buy? Circle the answer. Goffoe 85p

Bacon roll, full breakfast
Full breakfast, toast and jam, tea
Full breakfast, coffee

Bacon roll, toast and jam, coffee
Full breakfast, tea

mQgOw >

I5. Farrah posts four parcels weioh;
625 kg and 5.4k, Wi 1 208 245 ke, 16.2 ke,

& What's the total weight of these parcels? U:]D ke

£ machine for £490.90, a
55.50 and 3 coffee machine

OW much did she Spend in tota]? £ m C:

Working with Numbers

16.

Vacuum cleaner for £
for £127.20. H



Subtraction

Write down the answer to each calculation. ~ I}in\r' \Pa;‘ti\ti(;ni;lg, i.s/a/g I d, i f//
= - ' a good way of —

1. 56—32 m _ tackling subtraction calculations. —
7 7 / / -~

'/"1\\\\\\\

2w () v owoees ()00
3. 1062 — 358 DDD 5. 132-4.16 ‘ ﬂ R H ,

Fill in the missing number in each of the following calculations:

6. 42—m=31 9. 174- H i =98
e e

8. 124-@ =32 11. 25.6—( ]L J( J( }m=19.46

/11
12. Shefali baked 48 cakes. She decorated 12 with
chocolate icing, 15 with lemon, 6 with orange,
9 with strawberry and the rest with coffee icing.
How many cakes were decorated with coffee icing? DD
, | Bus Stop | oo the bus
13. 60 children went on a school trip. The coach dropped them off
’ ) Creek Street 15
at different places on the way home. Patrick recorded the number
- < Exeter Street 7
of children who got off at each point. Church Avenue was the last N&w Shoot 2
stop, so everyone left on the bus got off. Crompton Road 9
: ?
How many children got off at Church Avenue? ED Market Square 14
Church Avenue

14. Mr Reid had a plank of wood which was 320 cm long.
On Monday he cut off 120 cm of wood from the plank.
On Tuesday he cut off 63 cm. On Wednesday he cut off

another 66 cm. How long was the remaining plank of wood? ED cm

Rona and Jenny went to the newsagents. Rona spent £2.60
on a comic and £1.22 on a birthday card. Jenny bought a
magazine for £3.20 and a bottle of water for 75p.

15. Rona paid for her things with a £10 note.

How much change did she get? £ ED
p

16. How much more did Jenny spend than Rona? ED

Section One — Working with Numbers



Multiplying and Divid

L.

2;

oA

4.

jon.
Write down the answer to each calculatio

ing by L Os

e T O

e (O
169.454 x 100 DICEULJU

s aosewo0 (L LI

Write down the answer to each calculation.

6.

7.

10.

11,

12

12

14.

T G R R J{ ( ]
3472 + 100 L Jk ) L N

r—r N0 T )
94.6 + 10 R A J( ][ A

o e V_JL;( J
48.3 = 100 L J;_A A Jk —

N 1 “( ‘(

0.46 ~ 10 ]

( B Y Y \( /10
3205 + 1000 I AL A _]
4720=100x ____

What is the missing number? Circle the correct answer.
A 472 B 472 C 47 D 47200 E 47200

Martin is making a scale model of his school. He measures
the length of the actual science block as 2240 cm. He wants
his model to be 100 times smaller than the real building.

How long should his model science block be? m cm

A pack of 10 pens costs £2.70. A box of pens contains

100 packs. Mrs Chapman buys 10 boxes of pens.
How much does this cost?

Section One —

Working with Numbers




Multiplication

Write down the answer to each calculation.

1. 13x8 | I l 4. 380 usmat (10 bl na) = ]
L L AL J
Famy ) 2
2. 9x24 5. 65x22
5 \ K
3. 17x14 ‘ l l | | 6. 47x16

Write down the answer to each calculation.

7. 3.6%x6 ' l l ‘ ‘ 10. 6.4 %70 I
8. 4.2x7 ' ‘ l l 22 l
11, 22552
9. 93x8 | l l 12. 0.23 x5 I s

The swimming prices for Wellbeck Swimming Baths are shown in the table.
13. How much would it cost for

4 children to go swimming? £U:J[Ij Swimming Prices

Adult £2.30

14. How much would it cost for -

5 adults to go swimming? £l l [_D Child £1.95
15. On Tuesday 50 adults and 80 children went swimming.

How much money did the swimming pool take on Tuesday? 5 I ) I

16. | 3.24 x 52 =168.48

N Y il
17. Whatis 7.7 % 6.4? Circle the correct answer. > Hin. AL
tnt: Use round;

A 6274 B 3856 C 0532 D 4928 E 486 eStimate the gyenor’ -

A wer -

/11/111\\‘\\\\\
Charlie and Shaznay are given books to read for their homework. Pages per
Their teacher tells them how many pages they each have to read per night. night
18. Charlie reads every night for three weeks. Charlie 9

How many pages does he read in this time? [:Djj Shaznay 7

19. It takes Shaznay 2.5 minutes to read a page.
How many minutes in total will it take her to

read a book that is 90 pages long? m minutes

20. | 268 x 94 =25 192

Section One — Working with Numbers




D 900 x 10 E
8)(5
(g

X 0.0

C 527x800 D 527x08  E 52m0xg
b b

int: Halvmgo ne nip, 'y,
;Z 5 ””‘ltzplzcatzo,z “Miber :
4 e pro €ans .
79 duct l,ly halve dt

~

\\\

D 47x256 E 47x256

52p each

Pack of 4 for £1.99
Pack of 6 for £2.99
Pack of 12 for £4.99
Pack of 20 for £10.00

-6 sl »




Write down the answer to each calculation.

1.
2.

2,

96 + 6 D:[:j 4. 315+7
124 =4 CIj 5. 856+8
720+ 5 CIj 6. 67.2+3

Write down the remainder in each calculation.

7.

8.

9

13.

14.

IS

375 remainder 10, 186 +9
)

103 -4 remainder 11. 244 + 8
e

126 = 8 remainder 12, 365+ 7

Year 6 are going on a trip. There are 81
children and 10 members of staff. How many
7-seater minibuses do they need to hire?

Sunita has a 560 cm length of ribbon. She cuts it into 8
equal pieces. How long, in centimetres, is each piece?

Claire has 139 pencil sharpeners. She packs them
into boxes of 8. How many boxes will she need?

A pet shop has 1586 tropical fish.

.
16.
17.
18.

EHoAwp
~ N B W

The fish are split equally between 13 large fish tanks.
How many fish will there be in each tank?

The pet shop wants to move the fish so that
there is 2 maximum of 50 fish in each tank.
What is the minimum number of tanks
that they will need to use?

Mrs Revitt has 128 photos to put up on the display board in rows.
She wants there to be the same number of photos in each row.
How many photos should she put in each row to make sure she

has no photos left over? Circle the correct answer.

remainder D
remainder D
remainder D /12

HEEs
e

HEEN

L)

51

Section One — Working with Numbers



~f::w!()l’!5

E 7+6%x4-3
F 4x6+7-3

 Ticket Prices
Adult £4.95
Child £2.95
Student £3.95
Senior £3.95

E 60+20+10-5




SECTION Two — NUMBER KNOWLEDGE 11

Types of Number

Circle the number which has the smallest value in each list.

1. -3 -1.5 0 0.2 21
5 3.6 . . B
2 3.06 2.1 3.66 R bb}m: The smallest o’ 2
: ; - D€ Jurthest t; ¢ Ll A
Circle the number which has the largest value in each list. Z line gpng the [ahr;;if g tznumbgr )
- i number wilj _
3. -5 34 0 0.05 42 2y ) PeSurthest o the righy, -
4 7 -5.15 e 0.77 7.6 EER L
5. Circle the highest temperature.
2h°C -15°C -1 °C B¢ =2 °C
Complete each calculation using a <, > or = sign.
SNA Ny g /I s
= Hint: Remempey. "~
6. '8 O 5 8. '2+6 D 7‘—3 :<means rleSS than’,:
= and > means - s
7. -4+2 D 2 9. -7T+1 D ERNE I ST erian . -
10. What is the sum of the even numbers between 1 and 11? ’
11. What is the sum of the odd numbers between 20 and 26? ]
12. How many whole numbers [Even Numbers Prime Numbers|
under 10 will go in the shaded

area on the Venn diagram?

13. Feroz’s age in years is a square number. His younger brother’s age in years is Uj
also a square number. The sum of their ages is 20 years. How old is Feroz?

14. What is the lowest positive whole Square | Not Square
number that will go into the Prime
‘Not Prime’ and ‘Not Square’ , ' H
section of the sorting diagram? gt dme
15. The temperature in five cities is shown City Temperature
in the table. What is the difference Cairo 12 °C
between the highest and the s
lowest temperatures? Frankfurt 0°C
Helsinki -13 °C
@ . London B e
Paris -1 °C

Section Two — Number Knowledge



s and Primes

rs of 16.
1523356’ 16 1’2’ 4, 8’ 16 13

@s all the factors of 45.
| 1.3.5,9,45 1,3,5,7,15,45 13

12, 15, 16 20, 25, 30

soosm [ ]

éﬁ@‘f these sets of numbers.

?2 000

?1736 DDDD




Factors, Multiples and Primes

20. Lucy’s kitten miaows every 6 seconds. Olivia’s kitten miaows every 9 seconds.

If they both start miaowing at the same time, after how many seconds
will they next miaow again at the same time? seconds

21. Anna is holding a party for six children.
She buys cupcakes which come in boxes
of four. The children eat all the cupcakes
and they all get the same number.

What is the fewest number of boxes

that Anna could have bought?

l\lllI//

Nl

Emma is planting rows of seeds.
In the first row, she places beetroot seeds 9 cm apart.
In the second row, she places carrot seeds 10 cm apart.

In the third row, she places lettuce seeds 15 cm apart.
The first seeds in the three rows are in line.

common multiples

\ NN L

Hint: Use your
knowledge of

Jfor questions
20 to 23.

T IESITE N N NN

A AT TS

/Ay

beetroot 3—9 cm——&—9 cm——§)
catrot (3——10 cm—&)
lettuce (3 15 em

O

22. After what distance will a beetroot seed be in line with a lettuce seed again? l H ’ ’ cm

23. After what distance will all three types of seed be in line again?

24. Imogen has 56 sweets and 72 chocolate bars.
If she wants to give an equal number of sweets
and an equal number of chocolate bars to a
group of friends, what is the largest number

Iy

\\lllll'lll

L e

DN SR S A

§
-
3
Q

s
Q

~
e

Q

<

|

have learnt about —

highest common ~

factors to answer

of friends she can have in the group? ’ ,qlfe“ftl;o? 2:4.\ .
Multiples of 3 Prime Numbers

25. Which number has been placed in

the wrong section of the Venn diagram?

A
(A

Factors of 24

I/
26. Brian is thinking of a number. o ey P R g 15, [ I
S -
The number is the sum of 4 square < Hint: Work out the f 3}2‘;‘;’}; ‘_ [ ]
numbers which are also factors of 64. i of 64 and then see T

What is the number? ’
A ]

, ones are 54

uare numbers. ~

UL e T N

Section Two — Number Knowledge



each pair given below.
10. % of 35 % of 30

11. % of 120 7% of 48
12. 9, 0f88 % of 72

éﬁzir_e equally between 12 children. What fraction

E %

E %
10 his sister, 26 to his friend, and [ [:D
f. How much money does he keep? '

o

*ayardlong. She cuts off % of a yard.
Martha have left? Circle the correct answer.

C Yoyards  p Moyards  E Y% yards

ipe for one batch of brownies uses 34 of a cup of flour
v

i need? Circle the correct answer.

' - C %C“PS D % cups E % cups



L

Ratio and Proportion

Jimmy has a bag of apples. For every 3 red apples, there are

9 green apples. What is the ratio of red apples to green apples D z O
in Jimmy’s bag? Write your answer in its simplest form.

Gabriel is making a spiced fruit cake.
The recipe says to use one part ginger to three parts cinnamon.

2

Gabriel adds 5 g of ginger. How much cinnamon should he add? DDOD g
Lara makes another cake using the same recipe and adds l ' D
22.5 g of cinnamon. How much ginger does she need to add? ’ g

Amelia went pond dipping with her class.
She drew a pie chart to show how many

frogs and newts she found. What ratio of ‘ D ! D
frogs to newts did she find in the pond?

. xS 23 frogs
Write your answer in its simplest form.

newts

Nick is counting birds in a wood. His guidebook says out of
every four birds he sees, he can expect one of them to be a robin.
If Nick sees 32 birds, how many can he expect to be robins?

Melissa keeps rabbits. 2 out of every 3 of her rabbits are ginger.
The rest are black. Melissa has 6 ginger rabbits.
How many black rabbits does she have?

For every 3 racing computer games that Joey owns,

he has 5 football games. He has 6 racing games. DG games
How many games does he have in total?

Divide the following numbers in the given ratios.

8.

9.

10.

ks

g =

500 in the ratio 3:2 [ l ] “ l I ]

420 in the ratio 4:3 ‘ ‘ ’ A48 I I ]
. = Wr

640 in the ratio 5:3 l l ] : W

Elise raised £240 from her sponsored swim. She divided it in the ratio
5:4:3 between 3 charities. How much more money will the charity
that receives the most get than the charity that receives the least?

2 e L

Section Two — Number Knowledge




% of 80

in a sale.

8. 2% of 6400 [—D_J

- | Type of Transport | Number of Pupils
| Walk 10
[Bioyole e

|Car

s

e ()



SECTION THREE — NUMBER PROBLEMS 17

If @ = 6, work out the values of the following expressions.
)

l. a+3
mt: R L/
2. 4a ) T oint e R0 do your ca!cu/atzons/ &
R | = (b € correct ordey — use BODMAS —
3. 2a-3 L_J\_ . rackets, ot/.ze'i: dl'wls'z'on/multlplicatz'on =
. (=Yg ) A afia;llllonl/subtractz'on). ) :
4. 3a+2a BRRURT A
e
5. S(a+4)
For questions 6 - 10, circle the answer in each row that is equal to the first expression.
6. a+ta 2@ +1) 2a a?
7. 3xA-2 3A-2 3A-6 3A-32
8. Sx+2x x+7 4x + 3x 5(x+2)
9. 3(2a+b) 6a + 6b 6a + 3b 32a + 3b
10. 25— 23%¢ o5 i 03¢ 25— 2(3% +0)
11. 4x7>3x
What is the biggest whole number that x could represent? GD
/11

Shine o’ Grime, Wishy Washy, The Sud Buds and Top Mopz are four cleaning companies. They all
charge different prices depending on the number of rooms, 7, and the number of floors, £, in the house.
The table gives their prices in pounds.

12. Lizzy has a house with 12 rooms and 3 floors. Cleaning Company Prices (£
Circle the company that is the cheapest for Lizzy. Shine o’ Grime 50 +r+f
A Shine 0’ Grime Wishy Washy 5r + 6f
B Wishy Washy The Sud Buds 2rf
C The Sud Buds Top Mopz 30 + f
D Top Mopz

13. Claire has a one-floor house with 9 rooms. How much will
it cost her if she hires Top Mopz to clean her house? £

14. Rosemary uses Wishy Washy to clean her two-storey house. D[j
She spends £92. How many rooms are in her house?

15. How much money could Rosemary have
saved if she had hired The Sud Buds instead? £ m

Section Three — Number Problems



£

is £260 for the vehicle and driver, and
¢ expression you could use to show
ch and » passengers on the ferry.
c 260xn D 26051  E 260+5y,

. Paul works out that if

, if he is silent for 25 minutes? £m

expression represents the total amount he spends?
35 C 150-35n D 150x352 E 150x35+,

i tobake a cake is given by the formula 60 + 50,
the number of eggs used in the recipe.
u d it take to bake a cake made with 8 eggs? m minutes

00 Whlch i5 150 cm long. He uses all of the wood t0 make foU
cm, one shelf of length » cm and one shelf of length "

saang 1
: .ﬁﬁnmifhﬁfthe 150 cm plank of wood in terms of @, b and ¢
L @BEk C150-2(+b+o) D 150=axb*’



Number Sequences

Work out the missing value in each sequence

| SRR 12 15 18 2 ’_ﬁD
"X N 1
2, 113 110 107 104 9 ﬁg@
- o
3. 26 21 2 11 6 j
_—

48125 15 175 9 | 5 Uj
5. 2 8 16 32 g IDD

Write down the fifth number in the Sequence which follows each rule below.

6. First number 6, count on in steps of 4, Mtj
N
7. First number 30, count back in steps of 5. r—-3
___J
8. First number 3, double the previous number, f_ﬂj
.-
9. First number 23, count back in steps of 3. SD
10. First number 5, count on in steps of 0.5. D D /10

Peter makes up a rule for the nth term of a sequence.
He uses it to generate the sequence:

3, 7, 11, 15, 19... //Sofort}le3rdtseQuence_
/

ef‘m, e =
11. Circle the rule below that Peter used.
An+4 B 3n+4 C 4n+3 D 4n—-1 E n+2

12. Which of the following statements is true of any term in Peter’s sequence?
Circle the correct answer.

A Terms can be either odd or even
B All terms will be odd
C All terms will be even

Peter creates a new sequence where the nth term is (%4 + n).
13. Using this rule, find the two missing numbers in the sequence below.

1.25(”I] lﬂl S
14. What is the 20th term in Peter’s new sequence?

-

15. What term in the sequence has the value of 50? Circle the correct answer.
A 50 B 45 C 30 D 40 E 20

Section Three — Number Problems



tk counts forward

wi _ th boys count? m

rule.
umber by 3 and then add |.

] )

pattem*
Pattern 1 Pattern2  Pattern 3 9

® @® @0
® @ 0!
shape*

gl 3 ,
Shape 1 Shape 2 Shape 000
)
- @@ o000 0000 .,
~ @@ oee 00
@ ) .
o @
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Matt worked for 3 hours
and 3 hours on Wedn \
How much money did |

G

Two identical shirts and one
One shirt cost £11. What

Finlay got a box of 56

He decided to eat ei.

days had he eaten
ey

HBE

Stationery Prices

Calculator £4.50
Ruler £1.00
Pencil 25p
Rubber 75p
Sharpener £1.50

Football Kit Prices
Boots £32
Shirts £12.50
Shorts £8.50
10. | Socks £2.25
airs of socks?

Section Three — Number Problems



12. Connor bought six choc ices. He gave the shop as.smzmt ﬁ’/ £D m
h did each choc 1c€ cost? /

and got 10p in change. How muc

13. One jelly snake weighs 234 grams and COSIS 4p. Arthur spends
24p on jelly snakes. Circle the weight of jelly Snakés he buys.
A 1125¢g B 66.5¢ C 36g D 165¢ E 258

14. Chris is serving tea and coffee at a concert. In the first hour

he sells 57 drinks. Circle the statement that cannot be true.

A Chris sold more teas than coffees. <=
B Most people bought coffee.
C Chris sold five more teas than coffees.

D  Chris sold twice as many coffees as teas.
E Ten more teas than coffees were sold.

15. Mr Churchill builds a brick wall. Each brick has a height of 15 cm.
He puts a 2 cm thick layer of concrete between each row of bricks.
He also puts a 2 cm thick concrete layer beneath the first row of bricks.
The finished wall has 10 rows of bricks. How high is the wall? 7 .

(L e

16. A 2 litre bottle of blackcurrant concentrate makes enough squash to fill six 800 ml jugs.

How many litres of concentrate are needed to fill :
48 glasses, each holding 200 ml of squash? litres

15¢cm

17. Some Year 6 students organised a charity car wash day. They bought enough
soap and wax to wash exactly 100 cars. It costs them 24p to wash each car.

How much money would they raise (after taking off their costs)
if they wash 100 cars, and charge £1.20 for each car? £CI:D

Ben wants to make some rock cakes and lemon buns.

18. Eggs cost 22p each. How much will Rock Cakes (makes 24) Lemon Buns (makes 20)
it cost to buy enough eggs to bake Flour 450 g Flour 1009
36 rock cakes and 60 lemon buns? Eggs 2 Eqgs 5
[ I ] { l ] Butter 200g Butter 100 g
: Sugar 100 g Sugar 100 g
Raisins 3009 Lemon 1

19. The total cost for the ingredients of 24 rock cakes is £5.04.
Assuming the cost per rock cake stays the same, calculate
‘how much the ingredients for 70 rock cakes would cost. EE]ED

20. Ben sells 'll‘emon buns at a school fete. Each bun costs 20p to make and is sold for 50p.
He sells all the buns he made and makes £20.40 profit. How many lemon buns does he sell?

1 . - i g
. II .-.
- | : . :
] =L T

hree — Number Problems




SECTION FOUR — DATA HANDLING 23
Data Tables

\ school surveyed the ways that pupils travel to school. The results are shown in the table.

(T8

n

10.

L_fr Bus Car ~ Wak | Other
Class A 1) 8 7 4
Class B 14 12 5 6
Class C 9 17 6 2

How many pupils in Class A travel to school by car? [I]

How many pupils in Class B walk to school? CD

In Class C, how many more pupils get to school by car than by bus? m

In which class do the largest number of pupils catch a bus to school? Circle the correct answer.
Class A Class B Class C

How many pupils in total get a car or bus to school? OD

In which class do the most pupils use a car to get to school? Circle the correct answer.
Class A Class B Class C

How many pupils are in Class B? Uj

40 children were asked their favourite colour out of red, green and blue.
How many girls chose green?

Red _ Green |  Blue (:[j
Boys 8 4 8

Girls 5 7
In a recent study, some children were asked St Amount of | Number of
how much pocket money they received. pocket money children
The results are shown in the table. Less than £1 15
Between £1 and £3.50 12
How many children received £3.50 or less? More than £3.50 but less than £5 23
m Between £5 and £10 18
More than £10 8

The table shows the number of pizzas sold in one hour by a takeaway.
Fill in all the missing data in the table.

| tege | smal | ol
Pepperoni T R Py
Cheese and ham =
| Total ; : -

Section Four — Data Handling



Frequency

o N & 9 o

~ each evening one week,

Displaying Data

Horse Cat Dog Rabbit Hamster Fish

How many people said that rabbits were their favourite pet?

Which was the least popular pet? Circle the correct answer.
A Horse B Cat C Dog D Rabbit E Hamster

How many more people preferred cats than preferred hamsters?
How many more people preferred dogs than preferred fish?
How many people did Sarah survey in total?

Which two pets were equally popular? Circle both answers.
A Horse B Cat C Dog D Rabbit E Hamster F

The pictogram shows the i

number of fish in ium.
e Suarim Angelfish

How many Blue Acara fish '
are in the aquarium? Blue Acara

Em Clownfish

Acinema has 450 seats. The bar chart shows the
number of people who watched the 7 pm film




Displaying Data

survey asked teenagers about how they spend thei
t
e results are shown in the pie chart, ¢ - e ey

g teenagers said they preferred to spend their pocket money

0 'chnology. How many teenagers were interviewed altogether?
Circle the correct answer. ;

B 36 C 54 D72 E 38

)

e graph shows the distance travelled by Joe when he took his dog for a walk.

2500 -

Juring his walk he stopped to talk to a friend.

How long did the ? | 1]
v g y talk for? . 2000 Paul

p minutes 1500 _1_[/]‘/’. l l;
= L]

: . 1000 1"
(fter how many minutes had Joe I
x . y 500 ]
alked half of the total distance? ED minutes Fl i Ii }
0 2 4 6 8 10 12 14 16 18 20 22 24 26

Time (minutes)

Distance (m)

jie chart shows the proportion of tickets sold for different sports at an athletics event.

13. 250 tickets were sold for the shot put.
How many tickets were sold for the high jump?

] javelin

shot put

14. How many tickets were sold for the javelin?

)

ine graph can be used to convert pounds (£) t© dollars ($).

A B 15, How many dollars is £3 worth?

: )

_ How many pounds is $6 worth?

)/4 : & GCD

17. How many pounds is $45 worth?

X
| e e R |

=5
(=}

O = N W & 0 O N ® ©

0 1 2 3 4 5 6
Pounds (£)

Section Four — Data Handling



Analysing Data

What is the mean of the following sets of numbers?

6,6,8,5, 10
17,19, 18,12, 19
14,18, 17, 16, 15
4,6,7,3,4,3,2,3

1,2,9,8,4,7,2,5,7

Hoood

What is the most common number in each of the following

6. 5,693,6,2

an

T W52 5758 5050 2

These sets of numbers all have a mean of 10. Find the S8
| ERELY
v Gall o

Rt |

8. 12,146,
9. 9: 12, ?,“'6,, 3

10. 15,5,12,8,?,10, 6

it

L

I 14 S AT
many cl hicks

=i




27

Analysing Data

ere are the results of Phillip’s last six spelling tests,
4,6,7,2, 10, 5

His mean score was 7. What was the score in his fourth test? m

able shows the daily temperatures (in °C) for Weymouth over one week

- Mondzy Tuesday | Wednesday | Thur sday Friday Saturday Sunday
ow | 10 6 4 3 2 4 6

What was the mean of the ‘High’ temperatures over the week? [j:]"c

What was the mean of the ‘Low’ temperatures over the week? m%

spotted her first UFO in 2002. The line graph below shows
mber of UFOs spotted by Neila from 2002 to 2007.

2 ﬁ 16. In which year did she spot her 10th UFO?
4

s—wf \ Cyila

2 v 17. What is the mean number of UFOs Neila

spotted per year?

02002 2003 2004 2005 2006 2007 CD

Year

arts players take it in turns to throw their best score.
sults are shown in the table below.

Turn 1 Turn 2 Turn 3 Turn 4
Gary 140 140 100 180
Zoe 100 140 60 140

hat was the most common score thrown? U:D

-

hat is the difference between the mean of
ary’s throws and the mean of Zoe’s throws? m

Section Four — Data Handling



O

Who became the new scho
A Anne

<D

2. The pictogram shows the nu

misleading nEwSs report.

hisisa

Landslide Victory for Popular Pupil \

re was a Iandsl
| representative.
to be their repre

Yesterday, the
the next school e
25% wanted Jamie

ide victory in a school election between five pupil
Just 12 children chose Anne, ten percent Picﬁ( :dfc: .
sentative and 5% voted for Ted. Lex didn’t asim,

B Hasim C Jamie D Ted

ol representative? Circle th

mber of animals in a Z0O.

e correct answer.
E Lex

Name of Number in Zoo
Animal

1 picture = 4 animals

Crocodile | gt <@l P

Number of people

Why is the pictogram misleading?
Circle the letter next to the correct angys
T.

h
Ejapbant m m A It doesn’t show other animals in the Z
B The categories are not in ™
Snake : order.
a“ “ “' ‘b d‘ ‘ C The pictures are not the same size
D There cannot be half a :
Monkey monkey.
@" ﬂ‘ A ¢ E Not all zoos have the same animals,

Which of the statements below describes 32)
why this line graph is misleading? 16
Circle the letter next to the correct answer. %

c 8
A Itis not a straight line. k)
B The horizontal scale is not numbered. 5.4
C The result for Thursday looks wrong. E 2
D The vertical scale does not go up in even steps. = 0
E Saturday and Sunday are not included. M T W Th F
S 4. This misleading bar chart shows the eye colours of

L e f:hildren in Year 6. Which of the following statements

321 is true? Circle the letter next to the correct answet.

NN N W
£ O ® QD

N
nd
g 0O

Blue Green Hazel Brown
Eye colour

=

Section Four — Data Handling

A The number of people with blue eyes is double
the number with brown eyes.

B The number of people with hazel eyes is % of

the number with blue eyes.

The number of people with green eyes is3t

as many as those with blue eyes.

The number of people with blue €yes i

number with green eyes.

The number of people with gree

as many as those with brown eyes-

imes
S % Of the

n eyes 18 5 times
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the diagram to answer questions 1 to 3.

1. Calculate the size of angle x. Em 0
2. Calculate the size of angle y. m
3. Calculate the size of angle z. m

Angles A, B and C lie around the same point and form a

straight line. ED:] °
What is the total of these three angles?

Angles S, T and U lie around the same point and form a straight

line. o
If Sis 34° and T is 23°, what is the size of U? } l I l

A triangle has one right angle and one angle of 67°. [:EDO
What is the size of the other angle?
Estimate the size of angle a. Circle the correct answer. /
o a
A 75° B 45° C 15° D 90° E 125

Which of these shapes contains at least one obtuse angle? Circle the correct answer.
2 E
E B ¢

Grace drew a shape using a square
and two equilateral triangles.

What is the size of the shaded mo
angle in her shape?

10. The minute hand on this clock turns 300° clockwise.
What number is it now pointing to?

Jimmy draws the shape below on a piece of paper.

11. What is the size of angle y? m
12. What is the size of angle z? m

Section Five — Shape and Space

/12




Write the correct letter of the shape i
n

' shapes abov or questions 1-5 below.
Use the shapes above to answer qu -

1. Which shape has exactly two right angles?

Which shape is an isosceles triangle?

3. Which shapeisa pentagon? ]

2

Which quadrilateral has all sides equal in length?

Which shape has just one pair of parallel sides and no right angles?

6. Which one of the following shapes doesn’t have two pairs of parallel sides?
Circle the correct answer.
A Square B Rhombus C Rectangle D Parallelogram  E  Trapezium

7. Which of these regular polygons has the largest internal angle? Circle the correct answer.
A Triangle B Octagon C Pentagon D Hexagon E Square

8. Which 1 1 i
A cEty;')e of triangle has a pair of perpendicular sides? Circle the correct answer.
quilateral B Isosceles C Scalene D Right-angled

This shape is made from
a square (BCDE i i
Use the shape to answer questions(9-12 bngvd o osecls TR g

A

B 9, Lt
B V]\;l;ch line is parallel to DE? Circle the correct answer.
F BC CE o =
10. Which line i )
: : CFc line is equal in length to AE? Circle the correct answer:
H. What h: o BF ED AB
b S pe 18 made by ioini
s onmmg 0i :
A Kite B Square points ABFE? Circle the correct answer.

C Pp .
entagon D Rhombus = E Trapezium!

12. I
2. What shape is formed by joini
A Kite

o
B Square Cg Pf;mts BCDEF? Circle the correct answer.
entagon D Rhonims £ Trapé’ﬁl .

,.gc&en Five — Shape and Space
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2D Shapes

ahich of these shapes cannot be sorted into any of the cells in this table?
sle the correct answer.
At least one

W @ @ V right angle No right angles
VI Triangle

Quadrilateral

{7 14. Joelle has drawn this kite.
' What size is angle x?

R

S isosceles triangle shown is reflected in the mirror line to make a four-sided shape.
What is the name of the shape that is made? Circle the correct answer.

[
I
Parallelogram C Rhombus E Square |
' I

Trapezium D Kite

traffic sign has a diameter of 900 mm.
at is the radius of the sign? DEDj mm

fit together with other identical tiles without leaving gaps

fJohnson wants to buy tiles that :
s should he not choose? Circle the correct answer.

stween them. Which of these tile

§ thombus has two - e
les that are both 30°. mo <130

at size is angle a?

tma thinks of a shape. It is a quadrilateral with two pairs of

bal sides but no parallel sides. One pair of angles is equal.
lat shape is Darma thinking of? Circle the correct answer.

: Kite
Rectangle B Rhombus C Trapezium D Square =

20. What size is each obtuse angle in this parallelogram?

ol B

Section Five — Shape and Space




s — Perimeter anc

oD Shapé

1. Which two shapes on this grid have the same area?
Circle the correct ansSwer.

BandC Aand B CandD Aand C

The dimensions of four shapes are shown.

2




33
2D Shapes — Perimeter and Areg

Mr Robinson built the patio on the right using hexagonal slabs
e slabs are regular hexagons with a side length ' i

- cm

e length of a rectangle is 5 cm longer than its widh,
The arca of the rectangle is 24 em?. The length and width
bf the rectangle are both a whole number of centimetres.

at is its perimeter?
at1s1ts p o

James built this cardboard tunnel for 6 cm x
his toy cars. What is the total area of F Ie cm

the outside of the tunnel? [ I[ i

The diagram shows a plan of Geoff’s garden.
In heavy rainfall the shaded area of the garden floods.

16. Calculate the area of Geoff’s garden. ‘ ' l l T

3 I4 M 17. Calculate the area of

15 cm

Geoff’s garden that floods. ( L I } D
Supermarket 18. The diagram shows a plan of a supermarket and car park.
What is the area of the car park?
. 20m _ |[15m
(L=
Car Park
40 m o

brick in this wall is 5 cm tall and 10 cm long.

I:nScm

P a—
10 cm

brick is exactly centred over the two that it rests on.

What is the perimeter of the hole in the Wau? A

Ty .
3 | e, A -
gt T A AN
- oy =
:
]
i

atis the area of the hole in the Wﬂn3 ’
& L - =

" ha is painting fo;r-»
¥ide and 2 m tall, 1f ez
<1’ of wall, how m:



Section Five — Shape and Space

¢ Jetters and use them to answer questions 1 to 4 beloy,
gseto

WRDHFN

i ?

1. Which letter has two lines of symmetry D
| . . ?

2. Which letter only has a vertical line of symmetry: D

3. Which letter only has a horizontal line of symmetry? D

4 How many of the letters have no lines of symmetry? Circle the correct answer

1 2 : . : .

5. Which of these triangles has a horizontal line of symmetry? Circle the correct answey

AN B <7

Which of these shapes has more than one line of symmetry?
Circle the letter underneath the correct answer.

L9¥4:4

7. Harish reflects the parallelo
What is the shape that Hari

gram on the right in the mirror line to make a new shape.
sh makes? Circle the correct answer.
A Triangle B Quadrilateral

C Pentagon D Hexagon E Heptagon

Tariq shades squares on a grid to make the following patterns.

T EE—
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3D Shapes

Use these 3D shapes to answer questions 1-5 below,

P

W
AA
A B C

How many rectangular faces does shape A have?

Which shape has six identical faces?

) Sl
I
!

Loy

SEnnn

this shape?

LS e

2.
3. Which shape has five faces and nine edges?
4. Which shape has fewer edges than faces?
5. Which shape has five faces, eight edges and five vertices?
6. Ruth built this shape using 1 cm cubes
What is the volume of .
-

7. What is the largest number of 1 cm cubes

that will fit into this box?

L

4 cm[
G

7 cm i

8. Which of these nets will fold up to form a cube? Circle the correct answer.

—

A B

More than two
quadrilateral faces

At least one curved edge

9. Elizabeth is sorting solid shapes using a
Venn diagram. In which section should she
place a cuboid? Circle the correct anSwer.

C D E

e — Shape and Space

A B
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Shape Problems

e Jown the Jetter of the shape you would get if you did each action in questions 1 to 5 to sh
0 5 to shape X.

L Reflect in @ vertical mirror line. l | & .
Reflect in a horizontal mirror line. l
2' ®
3. Reflect in a diagonal mirror line. X A B
4 Reflect in a horizontal mirror line &
" and then a vertical mirror line. D
B |®
& D E

This shape 1s made up of identical regular octagons.

The perimeter of the shape is 64 cm.
How long is each side of the octagons? DD cm

6. Jimmy built these steps using 6 wooden cubes. He glued them
together and then painted the outside. He did not paint the base.

How many cube faces did he paint? Oy STl vk, 2 A
~ Hint: Don t forget _

DD _ the faces that you —

L can't see. ~
s e T G O
Side
Model elevation
; : . 6 cm 1 cm
7. Marcia wants to build this model et «—>
using bricks that have a length and
height of 2 cm and a width of 1 cm. oy
e ¥ 4 cm
w many bricks does she need
to make her model? DO - —

h of the options shows the

8. Jasmine uses tiles to make this shape. Whic . e,
d in a vertical mirror line*?

01.1tline of the shape when it has been reflecte
Circle the correct answer.

el

Section Five —

Shape and Space



Shape Problems

of equilateral triangle shaped tiles, as shown.

ake different shapes.
Shapes A and B show the outlines of two of the shapes ghe hag
e.

1o 5} 9. ShapeA is a regular hexagon.
How many tiles did she use to make shape A? DD
> 10. She used 9 tiles to make shape B.
How long is side x? D Q
s

11, Which shape shows this tile pattern after it has beep
reflected in a diagonal mirror line? Circle the correct answer

(s o

i box
Cynthia bought @
Sli’: used the tiles to m

A B C

Fiona and Kim made exactly the same shape using seven cubes.
Fiona made shape Z. — z

12. Which shape did Kim make? Circle the correct answer. Eﬂ

i s (7

<
A B b D
C E
13. Which diagram below shows a plan view of Fiona’s shape? Circle the correct answer.
]
0 o 2
e || |
& B e D E

14. This is a side elevation of Claudia’s robot.

Which of the diagrams below could ot be a front elevation of her robot’
Circle the correct answer,
a0 oTe) L L1 9 7 =
[ D o [a] A ar =
O
] : 1 0ol o 0ap O =
4 B C D E F

Section Five — Shape and Space



Coordinates

dinate grid shows the location of attractions at 5 fun fair.

The coor!
. the bl di er") o
the coordinates of g dipper? | i
1. What ar€ > Hint: Giye thex~a,;js/’
(l H l ' DD) 1; Ty ;_ value first when yoy ~
| - 7 Write COOI"dinates. ~
at are the coordinates of the go-karts? 11(1)::~ - v oordinates.
¢ o4 d0dgems [ S
( , ) SyoEEmELD
e finper
' gpt—t | | | ]
the coordinates of the carousel? T
. i—g_ Carquse —
OO0 fre
2 [ fe SElrain
4 Whatare the coordinates of the ghost train? 1
| 0

(‘ l ] [ ]D) 1234567 809101112x
5 What are the coordinates of the dodgems? (DD DD)
y

6. Ted starts at point A. He moves 4 squares west 10f N
and then 7 squares north. What are the coordinates 8 T
of the point he finishes at? =

4
(o) sl i) ) \EESEcsE:
2 4 6 8 10"

=

P

1. Aline LM is drawn on the grid parallel

to the line JK. oL

What could the coordinates of point L be? : ]
Circle the correct answer. - s
ACL0) € (5-2 E@©-) [EEaasaa  SERERBEL!

BCL0) D (7,0

o L]
9 N ® ¢ J; o N -

A square has corners positioned at (2, 2), (2, 7), (7, 7) and (7, 2). ;
ch of the following points lies outside of the shape? Circle the correct answer.

466 B g9 D23 E@6)

(6, 19)

9. A pentagon is drawn on a grid. The coordinates of lti s
& 15) corners are given. Two lines are Qrawn on.the ;\3;1‘)1 agon.
®,15) What are the coordinates of their intersection, W

(.00

k section Five — Shape and Space




Transformations

{. The triangle on the grid is reflected in the Mirrg; lin
: e

i shown. What are the new coordinates of Corner
9
: (BT
7
6
5
4 v
3
2 =
1
0
2 Charlie drew a shape onto a cogrdingte grid. FD::
He reflected his shape in the mirror line shm.zvn. 4
What are the coordinates of the image of point G? ‘_‘j
Circle the correct answer. i
—2
A (0,4) C (40 E(44 iy
B (-5,4) D (-4,5) 8-7-6-54-3-2-10 {237

3. A pentagon is translated to a new position a
What are the coordinates of point C?

(L [ )

shown,

4. Remi draws a square as shown. She translates the X=(-2, 6) (1,6
square so that the coordinates of point X are (2, 4). 1
What are the coordinates of the image of point W?

(.00 (S

Maggie drew a cross on a grid as shown. She performed two transformations on her shape

b ] i - oint A
1y O | 3. First, she translated the shape so that the coordlqate; 3fP
’ ]ﬁ*ﬁ“'ﬂ“ 5 were (5, 5). What are the new coordinates of point A
8 “‘_—j—— L )
6 Miarine | 11| || (DD ’ DD
ST
= | .
=T . . sho
; Bl § :_M‘"ﬁ:: 6. Next she reflected the new shape in the mirror 1;1: 4
]S B I el ] What are the coordinates of the image of point 2 ]
O 12345678 g5 (m,

Section Five — Shape and Space




’ SECTION SIX — UNITS AND IMEASURES 41

1-4 using options A to D.

2st10ns
" rqu;sﬂ;’ units would you choose to measure the following?
whiﬁh okf_;-:l B cm Cm D mm
A ;
The peight of @ rabbit. D 0

Y.
ance between London and Liverpool. D : /:' g =
5 Y

, The dist = ;
ight of a building. D ?1%3\
3 The hel &2( J I}

The thickness of a coin.

e L el
T
\—-—Jm ml
BEEE
FETy
e
T ke

10, Which of the following is the most likely mass of a pencil? Circle the correct answer.
A 54kg B 5400 g C 54¢ D 54 kg E 2.54 kg

Tom bought @ melon with a mass of 1.56 kilograms.
What 1S the mass of the melon in grams?

6 AJug holds 2.5 litres. .
" How many millilitres is this?

7. Juan is 128 centimetres tall.
How tall 18 he in metres?

g Tracy walked 15.3 kilometres.
How many metres did she walk?

g A bucket contains 4500 grams of sand.
What is the mass of the sand in kilograms?

WWQDD

11. Farmer Jones fills 32 bags with carrots. Each bag contains the
same mass of carrots. The total mass of the carrots is 16 kg. m
What mass of carrots, in grams, is in each bag? g
12. Which container will hold about 1 litre of water? Circle the correct answer.
Aeggcup B teacup C dustbin D small saucepan E teaspoon

/12

13. Look at the weighing scale on the right.

What is the weight of this parcel in grams?

g

&“Oﬂlﬁr parcel of the same weight is added to
escales. What will the reading on the scales be now?

g

15 Par,
: cel .
1argests f e sent in sacks of no more than 2 kg. What is the

umber of these parcels that can be sent in one sack?

L Section Six — Units and Measures



1-4 using options A 1o D.

yestio

ng;;f;e oS would you choose to measure the following?
Wﬁch"ﬁn ] D mm

A |

The peight of a rabbit.
l-. dad

e distance P London and Liverpool. | ]
) The
3 Thehe,ight of a building.
s The thickness of a coin. [

.~ 7om bought ;
§ %t is the mass of the melon in grams?

A jug holds 2.5 litres.
} ﬁ(j,:l-many'm'llilitrcs is this?
7 Juanis 128 centimetres tall.
" jowtall is he in metres?

g Tracy walked 15.3 kilometres.
How many metres did she walk?

9. Abucket contains 4500 grams of sand.
What is the mass of the sand in kilograms?

a2 melon with a mass of 1.56 kilograms.

L)y

0. Which of the following is the most likely mass of a pencil? Circle the correct answer.

C 54¢

AS4kg B 5400¢g

D S4kg

E 2.54 kg

11, Farmer Jones fills 32 bags with carrots. Each bag contains the

same mass of carrots. The total mass of the carrots is 16 kg.

What mass of carrots, in grams, is in each bag?

L

12. Which container will hold about 1 litre of water? Circle the correct answer.

Aeggeup B teacup C dustbin

13, Look at the weighing scale on the right.

What is the weight of this parcel in grams?

g

- Ang
other parcel of the same weight is added to

< SC: y - «
ales. What will the reading on the scales be now?

g
15,

D small saucepan

E teaspoon

Parce]

o B 1 :

est :rufni,em in sacks of no more than 2 kg. What1s the
er of these parcels that can be sent in one sack?

L o

il O e LIRS and Measures
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, questions {-4 using options A to D.
pof these units would you choose to measure the followi
owing?

maiA . o peio
. The peight of @ rabbit. D

) The distnCE petween London and Liverpool. D & W!//
1 The height of a building. D v

, The thickness of @ coin. D

¢ Tombought a melon with a mass of i
. 1.56 kil
What is the mass of the melon in grams? e DC jm
,, Ajugholds 2.5 litres. :
How many millilitres 18 this? D[ :]OD
7 Juanis 128 centimetres tall. g
How tall is he in metres? DC DDD
§. Tracy walked 15.3 kilometres. | -
ek

How many metres did she walk?

9- A i

Wh .
at is the mass of the sand in kilograms?

s of a pencil? Circle the correct answer.

10, Wh
ch of the following is the most likely mas
E 2.54kg

AS4k
g B 5400 g C 54¢ D 54kg

I g
- farmer Jon, _
Same masg :Sfﬁns 32 bags with carrots. Each bag contains the
carrots. The total mass of the carrots 18 16 kg. Dm .

at mass
0 : o
f carrots, in grams, 15 111 each bag?
rect answer-

x Wthh
contaj .
A cgg cllptamer will hold about 1 litre of water? Circle the €0T
B teacup C dustbin p small gaucepan E teaspooDl @

B L
* Look at .
atis tl];: Weighing scale on the right.
weight of this parcel in grams’

g

Anoth,

Cr

Scalezar\(}:ve}ll o ﬂ'le same weight 18 added to
at will the reading on the scales b€ now?

15, p g
are
lay IS are sent in t is the
acks of no more than 2 kg What’ k?

gest
Numb
} er of these parcels that can pe sent 10 one SaC%
~ pitsand ed

5ures



16.

17.

18.

19.

20.

21

bon. She bought 650 cm of

n ribbon.
Mrs Scott went Sh(’?glue ribbon and 12.3mof t%lree; m
i EbiEe 7.6;1 soof ribbon did she buy altogether .
efre

bath.
. bottle of bubble
ie bought a 1.5 litre Which
GI;C:(; paths she had used 400 HI;L o ot
ARET 2 est shows how much she

dlagram anSWer- A B C

Circle the correct D

¢’ on holiday. He travels
24 km to the waterfall, 15 km to the caverns and 12 km

i for every 500 m
it a castle. The taxi charges 25D kg £
LZ\Q::IL:&%M was the total cost of Roberto’s taxi ride? j
Mrs Tan has a full 2 litre bottle of lemonade.
She pours twelve 150 ml glasses of Iemqnade. DD
How much lemonade does she have left in the bottle? i
A hospital’s kitchen staff are cooking lunch for the patients. They cook 4 kg of Mmeathal

and twice that weight of pasta. Each lunch serving of meatballs and pasta wei ghs 250 g
How many servings can they make? Circle the correct answer.

A 32 B 16 C 40 D 48 E 56

Mrs Conway visits her daughter who lives 270 km away.
She can travel 9 km on 14 a litre of petrol. How many DDDD _
litres of petrol does she use to get to her daughter’s house? litres

1§ |

Caroline has two different types of stickers. Large stickers are 3 cm long and small ones are 15 mm.

22.

23

24,

25,

Section Sh e

Caroline pla}ces 400 small stickers and 250 large stickers
end-to-end in a row. How long is the row of stickers in metres?

L

Caroline has a box shaped like a cuboid with a height of 60 cm
alength of 1.3 m and a width of 80 cm. |

What . :
at1s the perimeter, in metres, around the base of the box?

. : m
Caroline wants to cre

large stickers, oy, ;Z ; l:grier around the sides of the box with
sticker border around her bo;') ##% Wil she need to ereate an end-to-end

Units and Ag.




| these clocks to answer questions 1-5 below.
Use :

A
[ What time does clock C show?
) Which clock shows the same time as clock A?
jNich o\ock shows twenty to seven in the evening? ‘ J

4 Clock A is 35 minutes fast. What time should it show? L_L]LJ_J
5. Which clock gives the time as 90 minutes later than ten past 8? D

Look at this bus timetable.

|Bus number Bus Station | High Street | Bank Street | Bigsby Road | Clayton Close | Hospital
35 10:15 10:25 10:40 10:55 11:07 11:20
42 11:25 11:45 12:00 12:12 12:37
6. How long does it take the number 35 bus D .
o get from the Bus Station to Bank Street? minutes
7. How long does it take the number 42 bus to D
travel from the Bus Station to Bigsby Road? minutes
8. How long is the journey from Bank Street D@ :
to Clayton Close on the number 35 bus? ks
9. How much longer does it take the
number 42 bus to get from the Bus Station DD minutes

to the Hospital than the number 35 bus?

10, Which of these dates is closest to 15th August? Circle the correct answer.
A 23rd May B 19th December C 4th October D 28th July E 10th March

11, Mary’s birthday is 12 days after Alan’s. Alan celebrates his birthday on the 27th September.

Circle the date of Mary’s birthday.

A l1th October B 10th November € 10th October D 9th October E 9th November

Jo and Kat went to see a play. The play started at 10:30.

12. Kat allowed 12 minutes for the walk to the theatre and Ujgj

5 minutes to find her seat. What time did she leave?
3. Joleft 16 minutes after Kat. It took her 9 minutes to walk to the m ifes

9
theatre and 3 minutes to find her seat. How late was Jo for the play?

Section Six — Units and Measures
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15.

16.

17.

18.

19.

20.

1

22,

23.

24,

Section Six —

‘ s 3 . S.
Thomas won a race with a time of 374 minute

This is Jessica’s timetable for Monday,
P e o

How many seconds is this? Circle the correct answer.
A 225 B 190 C 300 D 250 E 45

All of these times are shown in the 24-hour -C(llﬁfkﬁt m m m m ,
Circle the clock that shows 25 minutes to midnight. A B A < R

Mr Smith started to paint his fence at quarter to ten in
the morning and finished it at 5.15 pm. If he took an

hour off for lunch, how many hours was he painting for? D hours DD My

Todd, Sam and Patrick all had swimming lessons one after the other.
Each lesson lasted the same amount of time. Their lessons lasted

for 2 hours and 15 minutes altogether. How long was each lesson? DD Minuteg

If 18th May is a Tuesday, what day of the week is 18th June? Circle ¢

he correct answer,
Monday  Tuesday Wednesday Thursday Friday

Saturday Sunday

Jenny spends 25 minutes on her homework each night for
five nights each week. How long (in hours and minutes)

would she spend doing her homework over two weeks? D hours DD minutes

Javier took 2 hours and 20 minutes to run a half-marathon, Which of these
could have been his start and finish timeg? Cirel

e the correct answer.
A 10:20 and 12:00

B 11:50 and 13:10 C 11:10 and 13:45 D 11:35 and 13:55

Molly visited the 200 on Thursday 21t February, Barchester Zoo Opening Hours
She arrived 4( minutes after the Z00 opened and April-October | Novermber-Mardh
left 21 hours before it closed, Vi : rrlpT
Between what times ag she there? 2 S80-17:3 :

Weekend 9:00 - 18:00 10:30 — 16:003
(D00-C0

It shows when each activity starts.
9:00 : :
\_9& 10:15 10:50 11:10 12:15 13:20 14:40
régister | maths Spelling break

literacy lunch science | music

Units and Measures



SECTION SEVEN —

MIXED Progigs
Mixed Problems

; _.: - asked what colour car they drove. The results WETE recor
'ﬁﬁ?%:t percentage of people drove black or silver cars?
L

i
J

s e

ded in a pie chart.

i B
1 ' 9 o W .
Fxpress the proportion of people who drove blue or red cars as a : A Sooh'te
t.'.% action in S simplest form. DDC 135°Q

45

d

The plc'ﬂlrE.: on the right shows the angle on a straight line split into 3 parts.
tfraction of the total does angle x represent? Circle the correct answer.

L

Section Seven —

, Greghas a bag of Pe@uts. er eats Y5 of the bag each day.
" How many days will it take him to eat 40% of the bag of peanuts?
4 Class 6B wrote down which flavour of pie was their favourite. :
" They showed their results in a pictogram. How many people Fleyourotbie bl eqevEeibis
chose the most popular flavour of pie? Circle the correct answer. LAl <
' A2 Rhubarb o
'B 4 Pumpkin <]
C6 Blueberry o
D8 @ =2 people
5, Jacob buys a bag of seeds for £4.50. Each morning he puts out two
cups of seeds on his bird table. The bag runs out after 9 days. m
How much does one cup of seeds cost? P
6. Miss Orchard is buying some carpet for her hallway, which is 6 m
long and 150 cm wide. The carpet she has chosen costs £22 per £[:Uj
square metre. How much will it cost to carpet her hallway in total?
1. Mr Phillips filled a swimming pool with water from a hose. 20 litres
of Watt.:r went into the pool every minute the hose was turned on.
M Phillips turned the hose on at 8:20 am and turned it off at 10 am. m o
How many litres of water did he put into the pool? el
8. !
Imby 4 m rolls of turf cost £80.00. Mr Taylor’s yard is 5 m long
and 8 m wide. How much will it cost him to turf half of his yard? £
9.

Al 75° °
4% BY ck% Dpk Eh x
Mrs By,
10, Th: ;? Iecords the sizes of her gas bills on a bar chart. 120 .
. n:an of her four bills is £80. 100 |
uch is her bill in April? | e & . PE——
Price 3
B T v
Wes::rﬂil ¢ difference between the highest and gt .
c¢ of her gas bills from July to April? 20 e
£ 0“Juy Oct Jan APr
Month

Mixed Problems



1k

13.

14.

I8,

16.

1.

18.

19:

20.

213

ach of his five apple trees.
Mr Drew weighed the crops from € B ok e

ig
t that the mean crop wWe o
i wofrrl:;i;1 (f)c‘)lur of his trees Were 370 kg, 280 kﬁ; : z(zt }l:%r ze?
grlogJ lscg What was the weight of the crop from ! l i I )

: : . o with 1000 cm® of water.
yussif filled this contaune(l)'ntainer was filled with water?

What percentage of the ¢ ")
Circle the correct answer. . a5
A 30% B 15% C 40% D 25% o == -
1 —\
40 language textbooks were put into a box. i
The number of books for each subject was s
recorded in a bar chart. What fraction of the total number g :
of books were German books? Circle the correct answer. E
1 2 2 1 =z
2 1/3 s /5 . /5 4 /3 E 4 0 French German Spanish

Lars is cleaning his windows. He has a bucket and a 600 ml bottle of washing-up liquid.
He needs to add 5 ml of washing-up liquid to every 500 ml of water that he uses.

If he uses 6 litres of water each time he fills his bucket, how many buckets
could he mix before the bottle of washing-up liquid ran out? Dm

She cuts some of the square tiles in half to make triangles
and makes the pattern shown on the right.
What is the area of her pattern? Circle the correct answer. Area=S Area=H

A 2H+8S B 2H+4S C 2H+2S§ D H+4S E H+2S

Hannah has some tiles in two different shapes — squares and hexagons.

What is the perimeter of the shape to the right?

Circle the correct answer. a
A 2a+2b Ba+b Caxb D 2a x2b E 2a+b—ab b___:j

Circle the rule below that gives this sequence:
5, 12, 19,26, 33."

A n+7 B "Tn-2 C Tn+2 D n+4 E n+n?

In the same sequence, which term gives a value of 173? DDD

Gerald is paid £3.
On Saturdiy 50 for every half hour of work he does.

Gerald was at work from 6:20 l ]
: 20 am to 4:50
he took a 1 hour unpaid lunch break. How much did hel:J rerellfl?"d £[I:D'
Melanie needs to take 15 ml of ‘

and takes her first dose at 4 pm
dose at 2 pm on Wednesday. H

medicine every 2 hours. She opens a full medicine bottlet
on Monday, and finishes the bottle of medicine Wit 2 A
oW much medicine was in the bottle to start with?

ml

Section Seven — Mixed Problems
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ol

o PO '
an b ing.co. ' , n format, eith i
) Crw
o in the spaces provided or circle the correct answer from the options givennte
/ Section A — Quick Maths

AssessmentW
—— 1

+ book contains four assessment tests to help yoy improy.
. . e
- divi ed into tWO parts. Sectlon A is the ‘quick maths’ secti
t"'sﬂs orward put with less time av’allable Per question. Section R ; 1ons here are
il e MOTE complex, but there’s more time to answer them

your maths skiljs.

jor - ; :
Muﬁ“ ow 10 minutes to do Section A and 25 minutes to do Section B

(est, all and as carefully as you can.

lﬁp]e-choice answer sheets for these questions from oy

uk/11+. If you'd prefer to answer them in write- website — go to

You have 10 minutes to complete this section
There are 30 questions in this section.

Rose Measures the height in cm of a plant against the ruler to the
E;ht She marks the height with an X. How tall is the plant?

X
24 cm 26 cm

Kylie has a mirror which is shaped like a regular hexagon,
a5 shown to the right. What is the size of angle y?

, 18° B 60° C 120° D 90° E 175°

Jeffthinks of a number which can be expressed as 6 x 2 + 12.
Which of the following expressions gives the same answer?

A 48-8x3 B 3+11x2 C 3<% D 24+2-1 E 2+4x4

James saves the following notes and coins from his pocket money. £5 @

How much has he saved altogether?
1

Which of the following shapes could only Atloast two P:jl_l f?nglets
0 . angles equa ifferen
goin the region labelled X? A e
‘é thombus D scalene triangle sides equal
) kite . : All sides X
: E isosceles triangle o e

C regular pentagon

gbag of fruit costs 99p. l l
‘OWmuch will 9 bags of fruit cost? £OOD
:Vhat 1845.952 rounded to the nearest tenth?

59 B 460 C 4595 D 4596 E 4510

Chrig :
Wi !las a dentist appointment at ten to five in the afternoon. gjm

iy t = |
e time of his appointment on the 24-hour clock? . .
Carry on to the next question =

Assessment Test 1
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10.

11.

12.

13,

14.

 slices. She gives out 16 slices to her friendg,

1 1 0 equa
birthday cake 1nto 2
e cake does Rethany have left?

1
c % D 4

]

iob and £25 for every hour that he works
' harges a customer £50 for every JO i 3
e&;]hieé:]g‘fro]:g;a cguld you use to find how much he charges in pounds, C, for A hours of work9

A C=50-25h B C=50+25h  C C=50n—25 ~ D C=25+50h  EiGH

1]

Bethany cuts her
What fraction of th

A K B /%

E %

Anna has a book with 1897 pages.
Round the number of pages to the nearest ten.

24 children want to go camping. 5 children can sleep in each tent.

How many tents do they need?

The graph to the right shows how many of a particular board
game have been sold each month over a 6 month period.

What is the missing number in this equation?
2808 + 2808 + 2808 = X6

Jan

Feb

Mar

Apr

May

June

Ant Alliance

50

25

10

5

20

45

Bee Bash

45

40

35

30

20

20

Croc Chase

20

10

15

25

40

40

Dodo Detective

30

35

30

35

30

30

Emu Escape

15

20

25

30

40

40

Number Sold

Jan Feb Mar Apr May June

Month
Using the information in the table, which of the games could the graph correspond to?

A Ant Alliance C Croc Chase
B Bee Bash D Dodo Detective

E Emu Escape

15. This pie chart shows the colours of the sun hats worn by
36 children. Find the number of children wearing yellow hats.

L

16. Johnny has a ten pound note. He
- He spend
How much does he have left? BERL O

17. Year 5 it i t lv
The nuillrlll()ie‘r{e;)aff : are split into red, yellow and blye teams Team | Year 5[ Ye2r® T;;
{able. How mas nesron bY each team are shown in the- Red | 27 | 90

. Y points did the blue team wip in total? Yellow | 32 2
= 30

Blue
Total 90 it

18. A packet of 6 Milky B
¢ars normally cost
offer at 10% off. What is the cost of one ’Sn‘:gg, bTheg are on special
ear?
stion g

Assessment Test 1 Carry on to the next qU¢






50
' i different dessert each weekday. B
- op sells a different P1€ and a L e,
28. S:ﬁl‘;ﬁ]y likes meat pies. He hates apple Ficsserts. On what : _MMLNB‘SE:R Deggy
. of the days will he like both the pie and dessert on offer? _TLesdij T T c:
fraction © 5 1 E _‘5/ m chicken a\ﬂe crlu-n-
A 2/5 B 3/5 C 7 D 2 | Thursday | cheeg,e aDDIeD]e
" Friday |y e |
Carrot Cake,
29, On Tuesday the temperature is 1 °C. By Wednesday it has dropped .
; 102 °C. The temperature drops by twice as much from 3 DDO
Wednesday to Thursday. What 1S the temperature on Thursday? C
30. Tara uses this net to make a 3D shape. 5 ] .
Which corner will touch the corner marked X BE ]
when the net is folded? :
D E —

A B C

Section B— Long Maths

You have 25 minutes to complete this section.
There are 30 questions in this section.

Joel is shopping for fruit at a greengrocers.
1. Joel weighs a basket containing 7 peaches, as
shown on the right. Each peach weighs 200 g.
How many kilograms does the basket weigh?

Joel exchanges three of the peaches for three apples.

Each apple weighs % the weight of one peach.
What is the new weight of the basket and its contents?

(O

Roger and Andy take part in a long jump competition. They have six jumps each.

They record all their jumps in metres in the table below.

1 2 3 4 5 6
Roger 5.30 4.75 4.75 5.10 5.05 470 |
Andy 5.25 5.00 4.90 4.95 4.80 Sl0n )
3.  What is the difference between Andy’s
longest jump and his shortest jump? DDC:D o
4. Which distance did Roger jump most often? l ], Jj o
5.  What is Andy’s mean distance? l ” \j 2
6. How much further was Roger’s longest jump than Andy’s? l 1 g £
7. Ad i .
- gmggzﬁlsi a nqn}:ber. He multiplies it by 8, adds 6 and then divides O
p with 131. What was the number he started with? '
8. ‘

A tap 1s dripping water at a rate of 20 ml per minute

How long will it take for 1 litre of water to drip from the tap?
p?

Assessment Test ]

.on/) :
Carry on to the next ques!
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ds 60% of 1t
da has some pocket moncy. She spen : D
% ﬁgﬁ Ith with £6.00. How much money did she start off with? & ; D

1. Kate starts out on a 135 km journey at 8:50 am. She travels

on average at 60 km per hour. What time does she arrive at DD D
her destination? Write your answer using the 24-hour clock. 3 D

22 A number is written on each face of the triangular-based pyramid shown on the right.
The mean of the numbers is 4. Which of these could be the two hidden numbers?

A 2and4 B 1and?2 C 2and5 D 1and>5 E 1and4

23. Toby has 4.4 litres of lemonade, 900 millilitres of lime juice and

2.8 litres of orange juice. He mixes them together in a bucket. DD DD | |
How many litres of liquid is in the bucket? ; litres

24. Juliet is converting her exam results into percentages from fractions. DD
She scored 17/2¢ in her English test. What is this as a percentage? %

25. Use the formula below to find the size of angle m if n = 46°.

)
m=(180—n)+2 m=[ JL J[ J ﬂ‘lﬂ

The playground at Jay’s school is made up of six identical right-angled triangles.

26. What is the area of the playground? DO m? 1

27. How many lines of symmetry does the playground have? DD

2m
2m /
28. Jay’s school are building this climbing frame
on the playground. The frame is built of a
wooden cube on top of a cuboid.
What is the total volume of the frame? mDD m?
.
5.5m

B , . 2
obby’s school have been collecting 2p coins for charity. They count the coins into £1 piles.
29. gob}?y d‘ecxde.s to check the £1 piles are correct by weighing them
ach coin weighs 7.5 g. How many grams should each pile wéigﬁ? DDO ]

30. Bobby’s school aim to raise £200 |
School aim . If they achieve their taroet h |
much will it weigh in total, in kg, if all money raised is in §; 2:051‘:‘7 DDD 9 -

Assessment Test 1
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9. Sarinder aske

d her classmates what their

favourite pet was.
ctogram.

She recorded her results in the pi
How many more people liked dogs than fish? DD

10. Elsa has a bag of
She takes out 2 sweets a

sweets containing 7 choc
t random and eats
s left in the bag are toffees?

olates, 8 toffees and 3 liquorice lace
them. They are both chocolate. 3

~ I
—_——)

What fraction of the sweet:
A Y B 4 c 4 D % E %

11. Ben reflects the triangle shown on
' are the coordinates of the reflection of point A?

this graph in the y-axis.

c (1.4 E (2,2

D (3,0

da and Jennifer are given £150 by their aunt.
share it in a 5:3:2 ratio.

|

4 Deople

will Lucin inda receive?
long in this sorting table? [

e Ll . Eve

D bottom right-hand box = nUmbgrs e

E ¢ none of these Multiples of 3 —

’}. Multiples of 7
on as.shown below. He reflects
ces it on top of t
o P he shaded pentagon.
E
Bus A Bus B
Oxton 09:44 11:39
Lymson | 09:52 | 1145 ||
Barraw 10:31 12:16
Brixal 10:56 12:48
+ 189 E 672+99%8

Purple

o the next question” 4

F Gold




hows the number of prizes won by Ester at
35

week. Ester won 32 prizes altogether e T
rizes did she win on Thursday? e . MDay Number of prizes
Y1ZE> |___Monday
m | Tuesday : o
Wednesday 4
; . | Thursd
¢ the following statements 18 true? Frida; ;
s B 7100 > 0.65 c’ 6
%4 7100 > 0.09 D 0.65 <3
ol E 0.65 < 0.09

- is opening up a plant stall in the market. She b
X - uys th
s for £C each. E§Ch box contains 12 cactus p){amsea;tgllldfor £S and boxes of
ts altogether. Which expression shows the total cost in p emgn: buys 60
ounds?

..
B S+5C C SC+12 D 55C E S§+6
+60C

ow on the spinner is pointing at number 1.
s the arrow round 315° anti-clockwise.
ber is the arrow pointing at now? O

Ff‘ les a day, how many days will it take him to run the distance?
B 27 C 32 D 35 E 26

hows a rectangular flag. It is split into four
What is the area of the shaded rectangle?
;-] 1 |4cm

- :
DDCmZ LR

- sweets which each contain 14 individual sweets.
total. Jake has 46 bags of sweets. Each bag contains
How many individual sweets does Jake have in total?

C 64400 D 6440 E 12888

ing 36 socks. 24 of them are white socks. ED

p n—(n+1) E (1)

has exactly the same

some rabbits. Each rabbit
any whole carrots.

-ots leftover and doesn’t divide
E 8

Carry on fo the next question ——

Assessment Test 2
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Il island. Adam goes for a walk starting at (-1, -2),

28, The grid shows a sma
He travels four squares north and two squares east. ] :
What are the coordinates of the point that he reaches? - 1 ‘£ ;
A (3,2 B (-2,2) € (0, 3) D (1.2) E (1,3 5 HRA
h [~
9. Jemima wants to plant a number of plants, and a number of trees, . - b
mmasheneedscanbewnttenas 3p + 181 —| 2
Which expression below is equivalent to Jemima’s expression? t ,i »-
A 3(6p0) B 6(p+30 C 21p-3t D 3(p+ 6 gl ]
E
2[) 4

130 50 people were asked what colour their car was. 16 people said blue.
Whatxpawntage of people dxd not say blue?

)
-

/,

:Sectmn B Long Maths

N
ge. Which games could he have bough
t?

| _s
—— gefamble Brainium
L £11.50 £9.50




nges 6 equ.ilateral.triangles to make the o7

. Lpﬂise all collect handbags.

andbags, Amy has H + 2 handbags and Louise h
as

o5, Altogether, Lisa, Amy and Louise h
andbags does Louise have? ave 26 handbags.

« three times as many handbags as Amy. Which '
sresses the number of handbags Georgina has? expression

B 3H C 3H+6 D 3H+3 E 3(H+6)
73. He has the same number of 2 i
) ] p and 1p co
e only coins that he has. How many Ip coinspdoelsnlsl,eallxlegre‘? m

played in a football tournament.
oals scored and saves made during Girls | Boys | Total
Goals 4

recorded in the table.
re made in total? DD Saves| 14
Total | 24 44

cing box with small match boxes. The packing box measures
The matchboxes measure Scmx2cm X 1cm.

25 matches in total.
r the packing box if
th match boxes? D

Concert Tickets

Adults £3.50

Children £1.50
20% discount for family ticket

(2 adults and 2 children)

d 7 adults.
{ and 5 sausage rolls for
ackets of 25, how many [Ij

v She needs enough for

ve 1/s of a cake. [E

Carry on to the next question = -
Assessment Test 2
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- Harry wants {0 paint the side of his house-
~ 18. Harry draws the side elevation. The total [I]
~ perimeteris 32 metres. What is the length of X? m 1 i
f . 6 ns
the side of his house? [:D oo :
m
‘X‘

I9 What is the area of

~ 20. Harry uses 3 litres of red paint, 4 litres of blue paint and 5 li
S L ) . itres of whi

- paint to paint the side of his house. What percentage of the paint W‘:;I :.tee 4o

- Y - =

ﬂaglsreﬂected in the y-axis.
be the new coordinates of point P?

B2 0 6 E o0

D 10x -5y

- { AL
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Assessment Test 3

~ ommut es to do Section A and 25 minytes todo S
quicldy and as carefully as you can.

: ¢ multiple-choice answer sheets for these question

' rning.co.ul L1+, If youd prefer to answ,

ection B,

S from oyr Wwebsite —

: to
er them in Write-in fo i el
: _ ! rmat
ers in the spaces provided or circle the correct answer frop, the opztli(’)rzﬂglijexzme
7 = Section A — Quick Maths
R You have 10 minutes to complete thig section
There are 30 questions in thig section.
, small squares in the shape on the right has an areq of 1 cm?,
e total area of the shape?
i J cm?
most suitable for measuring the length of a foothal] pitch?
E C n?etres E litres
. D kilometres
Vehicle type| Number of vehicles
icles that pass her school during

Caax. OODO@O

ogram shows her results. Van [ @ =4

€ PicC
she see? Bus |O[@

t shows how many children

the right s Bike Skateboard
boards and scooters. A
iteboard and a scooter, but not a bike? AVA

D 3:45 pm E 2:45 pm

Year Group | Boys | Girls
2 49 50
3 52 56
4 533} (7
5 54 59
6 35 54

Dﬂ to the next question ——

Assessment Test 3



ot likely mass of @ tin o

10. wmchis:her;omg e

11, Maddy buys a tomato salad, som
How much change Wi

A £164 B £2.16

gg, Look at these fractions.

: ggp
Y0 740 se T
%Q & /§ i d from smallest to largest? P

soup?
p4kg E4s

x -
et potato. Coles|aw Tice
e coleslaw and a jacket p 5

Green Sal

. from a £5 note? a |,

ill she recelve £3 & E £3.63 Tomato Salad 40p
gsan "D < Rice Salaqg Op

Potato Sajaq | P
Jacket Potate

following shows them arrange
Rt 565 34l i 0 D 4, 7/20r /20r /5, Y50

3

"".{ g i 0% 509

' u i 1000/
he propor ‘g;ns of bﬂ)’S and girls chess a
end *’Tﬁ" . computer

Name |Time  —

Betsy 4m
Cara |3 mins 59 secq

lan (4 mins 2 secs
Sian | 4 mins 20 secs |
Tony |4 mins 27 secs

jf a5
S are square numbers?
3 :

Gl

O

3

{" on 2



v

 which diagram shows how t.he 3-dimensiona] shape to e
. ,%94 meﬁght would look when viewed from directly above?

% e
. - |

C D

| E
rimeter of a rectangular floor tile is 120

; . AL m. The len .
¢m greater than its width. What is its width in ccﬁ:ntirngtn:::;)')f s @
] i ' cm
-mperature of a patient at 9 am each

s recorded and plotted on a graph. #
he difference between the highest < 38
> and the lowest temperature? DED °C S 37
- ©
Q
 a sequence at =5 and counts up in steps of 1,5, :E: i
llowing numbers does he count? T s =
L : Mon Tue Wed Thur Fri Sat Sun
B 0 C 2 D 3 E 4 Day

pattern by repeating three shapes over and z
. ove
s will there be in the first 20 e T again.

C s D 8 E 4 YARVYvA S

nks of petrol to travel 2985 miles.
e travel on one full tank of petrol? {m miles

BN (T [T

ns of the spinner on the right?
and even-numbered sections.

on 8\%/4
T2

b ére‘d sectionsis 2: 1.

Assessment Test 3
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N
Section B— Long Maths B

You have 25 minutes 10 complete this section.
There are 30 questions in this section.

/

1. The shape on the grid is reflected in the min:or line. T
What are the coordinates of the image of point B? Ay h':é’ ’
A (-2,2) B (3,-2) C (1,73 D (2,-2) E (-1,-3) i .
| _ -4 .3 5
ok 3 % Zal 13

2. The ages in months of four out of six babies at a clinic are given below. A RS
> > 2
6 3 8 2 4 &

mean age of all the babies is 5 months. _
the following could be the ages in months of the fifth and sixth babieg?

‘B land2 C3and8 D 1land12  E 3and4

s. He draws a pie chart of his results.
> angle should he draw to represent this?
D 45°  E 130°

to the number of days on
orded, on how many did it rain? DD

3%

' .4.""{'.":'}’.—‘5: »

e~

P -
7

pounds, of printing m leaflets:



ferryman. He counts the number of children and ad

v . ults that i
of one week. He records his results on a bar graph. at use his ferry over the

60

many children used
» ferry on the first 3 days

, many more children than
used the ferry that week?

o Uj |
&P & 3 & & &P &
" & ) =) ) O & &'
O & & &
R o o e o &

Day

D = adults
Ml = chitdren

Number of Passengers
B B B B B

o

vhich day did twice as many adults use the ferry as children?
fonday B Tuesday C Wednesday D Thursday E Friday F Saturday G Sunday

v that the ferry had the fewest
ow many children used it? [jj

that the greatest number at the top of the grid is 20. 7

the numbers on the extended grid? l ’l J 510
g
orid has been extended to 20, OD 2 4 3
:ﬁ: are written on the grid?

and on a clock

D 2430° E 3600°

is given an extra 30%
: money will he

| U




04
22, Sleeping bags are given a rating to show the minimum
temperature they can be used at:
it
Sleeping bag rating 1 4 5
Minimum temperature (°C) 5 -10 | —15
Adam needs to buy 3 sleeping bag that he can use at 2525 :
The graph on the right can be used to change 3 temperature in °F
to a temperature ineC.
What is the lowest rating of sleeping bag he can buy? D

es. 25% of them arc red, 30% of them

Susan has a bag containing 60 marbl
are blue and 15% of them are green. The remaining marbles are yellow.

23. How many yellow marbles are in the bag?
hat fraction of the marbles in the bag are green?

E %

ne atemtxto take on h;o@iday and wants to work out how
s to model it as a regular triangular prism.

-20 -15 =10 5 >

Te 5
mperatu,e (°C1)0 15 3
J

O
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i L Assessment Test 4
: m 10 minutes to do Section A and 2

! 5 minutes to do Section B,
Work as quickly and as carefully as you can.

Section A — Quick Maths

You have 10 minutes to complete this section.
There are 30 questions in this section.

R e sl of the 7 in 7 230 000?
seven hundred million C

seventy thousand E  seven million
en hundred thousand D

seventy million

of the following is most likely to be the height of a fully grown tree?

C 1.2 centimetres E 0.12 metres
etres D  0.12 centimetres

drawn a trapezium.

e in the dotted mirror line shown to make a new shape. !

oes she form?
- C heptagon E quadrilateral :
-~ D hexagon ;

7 j;‘{'tpay ' Monday | Tuesday [ Wednesday Thursday | Friday
|Temperature| —2°Cc | 1°C 0°C 2°C_|1°C
lowest temperature?

=

~ C  Wednesday D  Thursday E Friday

he next question — —

Assessment Test 4
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_hand car for £3, 080.

I
| 9. Kate buys a second
The original cost of the car was £6,999. - A m
lue decrease

By how much has the car’s va

t 10. How much does the kitten on the right weigh?
i‘ A 25kg C 225kg E 2125kg
B 2.05kg D 05kg

11. Joe eats three loaves of bread on a seven day holiday.

He eats the same amount of bread each day.
* What fraction of a loaf does he eat each day of the holiday?

swer should'he get?
E 1677

0.am | 8:05 am | 8:10 am | 8:15 am [8:20 a7
8:30 am
8:35 am
8:49 am
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_athan’s family go on a jou S
19. Jgnathan's Journey which is shown on thi
” The family stops for a break. H g = 280
! Th 3 s ow long does the break last for? §zooi | |
A 1% hours our C Yahour D Yhour E 1% hours 8 150 | | |
.;Eu 100/
!
» | f {

Class 7 have made 250 biscuits to sell at the school fair.

-y They pack them in bags of 12.
Time

" How many biscuits are left over? U:]

Mark takes seven 4 cm cubes and places them end to end
to make this shape.

~ He then puts the shape on a piece of paper, and draws
d it with a pencil

~ aroun .
( _W;__t is the perimeter of the shape that he draws? U:D cm

<——
4 cm

ag qointains 5 cherry sweets and 10 lime sweets.
fraction of the sweets are cherry sweets?

BIG CJ5 DY EX
vn QOO OO

oram shows the number of awards
ed each day in a week. Tue O
wed L
\e greatest number of awards : e
7 on a single day? mr QOOOG
gl Fri

some striped and spotted balls.

i

balls is either red or yellow. :
' spotted | striped

AT shows how many of each ball there are.
yellow 6 3

red 4 7

0 L - BEPR.
08:00 10:00 12:00 14:00

n to the next question — —

Assessment Test 4
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28. The net to the right folds up to form a 3-dimensional shape. 3 em
What is the volume of this shape? ) " [ ]
cm cm Locag D
\r-\m\
29. Lucy wants to buy a T-shirt in a sale. ]
All items in the sale are reduced by 60%.
What is the sale price of the T-shirt if the original price was £n? e
A n+60 B 25(n) Ccn-60 D ¥%® E 2n—6 L
0 : : - N =
30. Oscar faces north and then turns through 225° 1n a clockwise direction. NW "
Which direction is he now facing? W e
A west B south-west C south-east D south E east s =
¥
'- ’ A Section B— Long Maths e
. You have 25 minutes to complete this section.
0 o~ There are 30 questions in this section.
: \

slumes shown below. What is the total volume when they are added together?

es 5.5 litres 5.0 litres 0.5 litres Uj m
B : i litres

to sell the badges.

e
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9. The diagram shows a patio made from two j

What is the area of the patio?

A 3.84m’ C 9.6 m? E 192 m? 4m
B 192 m? D 384 m?

dentical triangular slabs,

4.8 m 10

8

0. The frequency chart shows the results of throwing a dice. 6
- How many times was the dice thrown altogether? Frequency B

4

L) :

0

253 4-=5 6
Number on Dice

ts 245 g of dried food per meal. She has 3 meals per day.
ow much food does the dog eat in a week?

).4725kg B 5.145kg C 3375ke D 1.575kg E 47.25kg

0g’s owner buys the food in 1.25 kg bags. How many full meals does one bag provide?
B 4 Cs5 D 10 E 12

ble shows the opening times of Mr Jason’s café. The cost of running the café is £10 per hour
s open 7 days a week.

re per week does it cost to run Opens | Closes
> summer than in the winter? £ Mar—Sep | 9am | 6pm

Oct — Feb 1M1am | 4 pm

50 visitors to his café about their eating habits.

(L

kg of apples for every 2 kg of sugar.

O

<=

, s Mass per
pples and 1 bag of pears. AL bags(g)
: Oranges 600
Bananas 450
Apples 500

Pears 750

Acspssment Test 4
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20. Adam starts watching a film at 10:45 am.

The film lasts for 136 minufes. ED[:[] >

What time does the film finish? :
21. Katie buys six 1 litre cartons of milk each week. She drinks 350 ml of milk twice g day,

. She uses the whole carton before she opens aqnew one. m

How much milk will be left over after 7 days” i
Jasmine builds this model on a table.
Each brick has a volume of 3 cm’.

3

22. What is the total volume of the model? [I:E] cm

23. What fraction of the number of blocks in the model are not touching the table?
B s e gz 0 5 B X

24. Jack is cooking a turkey that weighs 2.2 kg. To work out how many
" minutes for he is using the formula 20w + 70.

inke.

d to cook his turkey for? [_LU minutes

Level | 1|23
Minutes | 31 | 36 | 44

February ?Op
March |£150]
April £1.10
May £150
June 50p

Iv A 30 gram serving contains:

e
Protein 49
Carbohydrate 219
| Fat 159
Fibre 084
059

MGODEN
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TRECPESCRENEe REISSRS IS S PRSI |
. 14. B 7. 5000
Section One Compare the place value of the digits in the options. 4 is being rounded, 9 is greater than 5, so
— Working with Numbers Start with the value of the digits on the left. If 4990.63 rounds up to 5000.
these are the same, then compare the value of the 8. 4990.6

Page 2 next lot of digits to the right. Gis being rounded, 3 is less than 5, s0 4990.63
Compare the place value of the digits In the options, | Thebiggest numberis 11293, rounds down to 4990.6.
starting with the digits on the left. If these have 15. B 9. 4991
the same place value and are the same number, Find the difference between 14 and each number in O being rounded, 6 is greater than 5, 50
compare the values of the next lot of digits to the the pairs given. 4990.63 rounds up to 4991,
right until you find the smallest number and place 14.18-14=0.18,14-1382=0.18
value 10. 5000

1. 1979
2. 1.06
3. 7.09
4, 98.01
5. 0.878

The 5 needs to be two places to the left of the
decimal point — this is the tens column,

6. 6252.0
7. 51.303
8. 7541

9. 21052.2

10. 3257.81

Find the difference between the two given numbers
on the number line. Divide the difference by the
number of sections the number line is split into (1 0)
to find how much the number line increases byat
gach point.

11, 45

The number line is marked in steps of 5.

12. 53

The number line Is marked in steps of 2.

13. 5.85

The number-line is tmarked in steps of 0.01
(hundredths).

Page 3

Look at the digit to the right of the digit you're
rounding. Ifits 5 or more you round up, if it’s less
than 5 you round down.

1. 6700

7 Is being rounded, 2 is less than 5,

506726 rounds down to 6700.

2. 9350

4 s being rounded, 5 is equal to 5, 50 9345 rounds
up to 9350.

3. 65

4 is being rounded, 7 is greater than 5, 50 64.77
rounds up to 65.

4. 0.29

8 s being rounded, 7 is greaterthan 5,

80 0.287 rounds up to 0.29.

5. 1100

Ols being rounded, 9 is greater than L7

50 1095.93 rounds up to 1100,

6. 4990

The 9 in the tens column is being rounded,

Ois less than 5, 50 4990.63 rounds down to
4990.

The 9 in the hundreds column is being rounded, the

9 in the tens column is greater than 5, so 4990.63
roundis up. 9 hundreds rounds up to 10 hundreds —
the 0'stays In the hundreds column, and the ‘1’ gets
carried over to the thousands column, 4990.63
rounds up to 5000.

11. E
4 is being rounded, 3 is less than 5,
50 2439 rounds down to 2400.

12. 36.6 kg

Convert 36.572 kg to grams.
1kg=10004,9036572 x 1000=365724

S is being rounded, 7 is greater than 5,60 36 572 g
rounds up to 36 600g. Convert 36 600gintokg, 36
600+ 1000=366kg

13. 45450

To round to the nearest 100 and result In

45 500, the number must be at least 45 450 but
less than 45 550,

So the smallest it can be is 45 450,

14. 125.6 m

Convert 125,639 m to centimetres.
Tm=100cm, 50 125639 x 100

= 12563.9cm. 6is being rounded, 3 is smaller
than 5, s0 12 563.9 cm rounds down

to 12560 cm. Convert 12 560 cminto metres,
12560+ 100=1256m



., 440000
.15?5 being roundea, 7 is greater 12120; B
o0 437985 rounds up 10 440000.

Page 4
i hat you can use for
There ferent methods T
rtiz: ‘;;16 partitioning method has been used for
ot ﬂoz;s 1-10 below. It involves breaking up 075
i into units, tens, hundreds, e1¢. and adding
joingd other number, oneata

the parts to the :
e‘::: DI; uspu';l/y easier to partition the 5.maﬂerof
?he fwv numbers you're adding. Alternatively. you

could use the column method for these questions.

1. 128 .
5 breaks into 50 +
?7(27+ BO= 122122 +6= 128

2. 393 005045
135 preaks into 100 + 90 +
25&«»100=555,555+30=5&9,
388+5=393

3. 1213

268 breaks into 200 + 60 + 8
945+ 200=1145

1145 +60= 1205
206+8=1213

4, 3212

567 breaks into 500+ 60+ 7
2645 + 500 = 3145
3145+ 60=3205

3205+ 7=3212

5. 2253

1076 breaks into 1000 + 70 + 6
1177+ 1000=2177

2177+ 70=2247

2247 +6=2255

6. 8171

3303 breaks into 3000 + 300+ 3
45658 + 3000 = 78656

7868+ 300=5166
8166+3=8171

7. 12.8
3.5 breaksinto 3 + 0.5
93+3=123123+056=128

8. 24
6.2 breaksinto 6+ 0.2
176+6=238,23.8+02=24

9. 56.96
Both numbers have four digits here, so it's probably
easier to use the column method.
34.23
+22.73

56.96

10. 50.2

24.5 preaksinto 20 + 4 + o5
257 +20=457
457+4=497
49.7+05=502

11. 15.81

458 breaksinto 4+ 05 + 008
1123+4=1523
1523+05=1575
15.73+008<= 1581

Ivs often easiest to ady several numbers using the
columin method:

12, £1.63
38

64
32
+ 2.9
e ——
163
12

) me_amounta were allin pence, so the total s 1 63p.
163pis the same a5 £ 1.63

MEQDE1

BAFe  Amébmsan s

1.45
+ 0.75

2.20

171

14. D
A bacon roll, toast and jam, and coffee comes to
£355.
1.45
1.2.5
+ 0.85
.55
701
15. 52.35 kg
Remember to line up the decimal places correctly,
24.5
16.2
6.25
+ 5.4
52.55
21
16. £673.60
490.90

55.50
*1 27220

673.60
111

Page 5

You couild use partitioning to find the answers to
these subtractions. Break up the smaller number
into units, tens, hundreds, etc. and subtract each
of the parts from the other number; one at a time.
Alternatively, you could use the column method.

1. 24
32 breaks into 30 + 2
56-30=2626-2=24

2. 55
29 breaks into 20 + 9
84 -20=64,64-9=55

3. 704

358 breaks into 300 + 50 + 8

1062 -300= 762, 762 ~50 = 712,
712-8=704

4. 181.8

825 breaksinto 80+ 2 + 0.5
264.3-80=184.5
184.3-2=182.53
182.5-05=1818

5. 9.04

4.16 breaks into 4+ 0.1 + 0.06
132-4=92,92-01=91,
9.1-006=904

In questions 6-11, you're told the result of the
subtraction, and you have to work out the number
that was subtracted,

You do this by subtracting the result from the
bigger number.

6. 11

31 breaks into 30 + 1

42-30=12,12-1=11

7. 3.2

2.1 breaksinto 2 + 0.1

53-2=533533-01=32

8. 72

52 breaks into 50 + 2

124-50=74,74~2=72

9. 7.6

9.8 breaksinto 9+ 0.8

174-9=8484-08=706

10. 258

406 breaks into 400 + 6

664 - 400 =264, 264 -6 =255
~

17;- 6.14
46 breag,
256-19. 502194044
12, ¢ ' \0'46:674
48~ 1,
=96, 36 _
27 ~C= 75' 152 ’_{5:21
6 Were decorated . 2
13 Wi Coffee p
<1
SEbtract the mb, "
a ; chil
tho, 25: p;);;n L0keep tragy :fi " e,
; " Us
60- 75 Were 6 Childrep, , Ware gp on
45 -~ 7= 38 .
38-4. 34,
34-9- 25,
25- 14 = 11
There were 77 chi
iidren on th,
Church Avenue, They alf mﬂﬁi;‘e’:;’;ﬁﬂ "t reachg,
14. 71 em -
Subtract each g
Mount
320em- 120 op, - 2063 othom 5200,
200 ¢m - 63 c6m = 137 cm
187em-66cme 771y,
15. £6.1 8
Add up how much Rona spent.
£260+£122-£30)
Now subtract the amoum;
Ro
£1000-£382 =£6.18 " et fom ¢ o
16. 1 3p
Add the amounts that Ron,
B A and Jenny each spent;

Jenny: £3.20 + 75p=£395
Now subtract the amount Re,
amount Jenny sperit:
£3.95~£382 =1 3p

& spent from the

Page 6

When you multiply by 10, move the digits one place
to the left. Move the digits two places to the left
when you multiply by 100, and three places to the
left when you multiply by 1000, (Use zero to fifl
any places to the left of the decimal point which are
left empty.)

When you're dividing by 10, 100 and 1000, you

move the digits the same number of Places, but to
the right.

1. 1200

Move 12 two places to the left.
2. 3600

Move 3.6 three places to the left.
3. 24

Move 0.24 one Place to the left.
4. 16945.4

Move 169.454 two places to the left.

5. 62
Move 0.062 three places to the left.

6. 34.72
Move 3472 two places to the right.

7. 946
Move 94.6 one place to the right.

8. 0.483
Move 48.3 two places to the right.

9. 0.046
Move 0.46 one place to the right.

10. 3.205 ‘
Move 3205 three places to the right.

11. B )
Division is the inverse operation of multiplication, o
the missing numberis 4720 + 100. Moving the
digits in 4720 two places to the right gives 47.2

12. 22.4 cm
2240+ 100.
Move 2240 two places to the right: 22.4 cm.

@ R 20172
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13. £2700
£270=1 pack. Ina box there are 100 packs, so

that will cost £270x 100=£270
whres Chapman buys 10 boxes, so that will cost
£270x 10=£2700

14. 26300
mm'g population 5 2630. Bentley's population
is 10 times smaller than Ampney s,

2630+ 10= 263.

Qifton’s population is 1000 times larger than
Bentleys. 263 x 1000 = 263 000

pannett’s population is 10 times smaller than
Ciftons, 263 000 « 10=26 300

Pages 7-8
4 You could use partitioning to find the answers to
these multiplications. Break up one number into
unite. tens hundreds, etc. and multiply each of the

arte with the other number one at a time — then
dd them together You could also set the numbers
out incolumns and multiply them or use the grid
method.
1. 104
13 preaks into 10+3. 10xE=80
3x8=24,80+24= 104
2. 216
24 breaks into 20+ 4 20x9=180
4x9=36 180+36=216
3. 238
15 often easier to use columns when multiplying
owo 2-digit numbers:

17

x 14

x 7
ge (17x4)

+ 170 (17x10)

R

2358
1
4. 1650
330 breaks into 300 + 30
300x5=1500.30x5= 150
1500+ 150 = 1650
5. 1430
{5 often easier to use columing when
multiplying two Z-digit numbers:
65
x 22

130 (65x2)
+ 1300 (65 x 20)

1430

6. 752
47

x 16

282 (47x)
+ 470 (47x10)

752

1

7. 21.6
3.6breaksinto 3+06. 6x3=18
6x06=3618+36=216

8. 294
4.2 breaksinto4+0.2. 7x4=28
7x02=14,26+14=294

9. 744
93 breaksinto9+0.3. Bx9=72
Ex03=24,72+24=744

10. 448
BG4 broaksinto 6+ 0.4, 70 x6=420,
TOx04=28420+ 28 =448

MEQDET

11. 26.4
22breaksinto2 + 02 12x2 =24
12x02=2424+24=264

12. 1.15
0.23 breaksinto 0.2 + 0.03
5x02=15x003=0151+0.15=1.15

13. £7.80

Round £1.95 to £2, by adding Sp.

4 x 2 =8, then minus the 20p (4 x 5p) you added
when rounding: £8 - 20p = £7.80

14. £11.50

You need to work out £2.30 x 5.
2.30 breaka into 2 + 0.3.
5x2=10,03x5=1.5,
10+15=115=£1150

15. £271

The cost for 5 aduits to go swimming is £11.50.

5 x 10 =50. So the takings from 50 adults were

£71.50x10=£115

The cost for 4 children to go swimming is £7.80.

The cost for & children to go swimming Is

£7.80x 2. 780 breaks into 7 + 0.8.

2x7="14and 2x08=16.

14+ 1.6=15.6=£15.60. So the takings from

B0 children were £15.60 x 10=£156

The total takings were £115 + £156 = £27'1

Alternatively, work out the answers from scratch.

So the takings from adults were:

£230x50=£2.30x 10x5
=£2300x5=£115

The takings from children were:

£1.95 x80 =(£2 x 80) - (5p x 80)
=£160-£4=£156

The total takings were £115 + £166 = £271

16. 168.48

To get from 3.24 to 32.4 you multiply by 10, To
get from 52 to 5.2 you divide by 10. S0, the
answerto 32.4 x 5.2 is the same as 3.24 x 52,
which iz 168.48,

17. D
Use estimation to do this calculation.
7.7 rounds up to 8 and 6.4 rounds down to o.

Bx6=46.
The closest answer to this is option D, 49.28.

18. 189
There are 21 days in & weeks so you need to work

out 21 x9. 21 breaks into20+ 1.
20x9=180. 1x9=9 180+9= 189

19. 225
2.5 preaksinto 2+ 05. 90x 2= 180,
90x0.5=45, 180 +45=225.

20. 50384
1886 is double 94, so the answer will be double 25

192.
25192
x 2

50584
7 1

21. C

Work each calculation out by ignoring the zeros,
and multiplying the digits at the beginning of each
number. Einally, put the same number of zeros that
you Ignored on the end of the answer.

A 6 x 4000: 6 x 4 =24. Three zeros have been
Ignored, 506 x 4000 = 24 000

B 70x 300: 7 x3=21. Three zeros have been
ignored, s0 70 x 300 = 21 000

C 200 x 200: 2 x 2 = 4. Four zeros have been
ignored, so 200 x 200 =40 000.

D: 900 x 10: 9x 1 =9. Three zeros have been
ignored, s0 900 x 10 = 9000

E: 8x500: 8x5=40. Two zeros have been
ignored, 50 8 x 500 = 4000

C was the largest value.

22. B
value
You can tell which calculation has the smallest va
he bers
here just by looking at the nuimi anyofthe

t left hand number i

2.41i5 the smalles
the smallest 1

calculations, and G 06 15
numiber in any of the calculations
Therefore, 2.41 x 0.06 (B) has the
23. C

Use your knowledge of place value a’ndn @:nnpl/m tion
to estimate thevalie ofeach calculatic!

A 52,7 can be rounded down to50. It5 ::::Z_ y |
multiplied by eight tenths 0.8) 50 Iﬁﬁ# :0 60 -

be around elght tenths of 650, which %

=5 5x8=40)

B: 0.527 is roughly one

e hand

omallest valie

half (0.5). S0the rc:5u2; of
nd 40)-

the calculation will ke about half of 80 (ir‘;sg g

C: 527 canbe rounded dowr 10 5. Th;

calculation is around 5 x 800 = 402 };'5 o

D- 527 canbe rounded down 10 50 h o .

multiplied by eight tenths (O-8) 50 t; f 500

be around eight tenths of 500, which s

. 10=50. 50x8=400). .

E 5270 canbe rounded dowr .

multiplied by €ight thousandths ((7.::70hc5"),0f5-€j '200‘

answer will be around elght thougandths

=40).
which is 40 (5000 = 1000="5. 5xB=4 )
C has the largest value (around 4000).

24. E
Option Ais pased on the fa
of B2, so the answer must be one q

7712+ 4. ' 2
g;?tfon B ig based on the fact that 64 i ;1;‘;17;3 5’2
s0 the answer Must pe double 77 12, olr 52,
Qption Cis based on the fact that 16ish3
50 the answer must vehatfof 777 2
or7712 +2.
Option Dis based on the fact that 2171'
one lot of 2471 more than 7712, 80
Option E should pe 7712 +8 n;t; 771
i one eighth of 32. E is incorrect. )
Option F is pased on he fact that 241x31 2/1: 7be
one lot of 241 less thar 7712, 80 7712 - .

5000. It beind

; rter
ot that 8 i5 0N qua
uarterof 7712

1 x B3 will b&
712+ 241
2-16254

25. E
Estimate the answer t0 each option.

A BOx250= 12500
B5x25=125
c05x25=125

D:50x 25= 1250
E5x25=125

From smallest to largest it wou
So E would be in the middle.

26. D
Estimate the cost of each option.

A=24x50p=£12
B=6x£2=£12
C=4x£3=£12
D=2x£5=£10
E=£10+(4 x50p)=£12
So the cheapest option is D.

27. 286

Dave has 7 times as many stickers as Betty, 50
Dave has 7 x 26 = 182. Lorna has

3 times as many stickers as Betty, so Lorna has 5
x 26 = 78 stickers.

26 + 182 + 78 = 286 stickers.

28. 2000 kg

80 is double 40 and 25 kg is double 12.5 kg s0 you
need to multiply 500 kg by 4.

4 x 500 kg = 2000 kg.

29. 4.86kg

Mrs Greengrass is losing:
3x0.27 =081 kg a week.

So after & weeks she will have lost:
6x081kg=486ky

IdbeC, B E Dand A.
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You can do these divisions by partitioning the vigger
nurmber and dividing each of the parts by the other
number Altematively, you could use short division.
Which method you choose depenids on the numbers
you're working with.

1. 16 N

Break 96 into numbers that easily diviae by 0.

96 breaks into 60 + 36. Divide these bits
separately then add them together at the end.
60+6=10 36+6=6,10+6=16

2. 3t

124 breaks into 100+ 24
100+ 4=2524-4=625+6=31

3. 144
720 breaks into 500 + 200+ 20,

500+ 5=100,200-5=40,20+5=4,
100+40+ 4= 144

4. 45
045

7|5“§;35

5. 107
107
8|8 5%

6. 224
22. 4

3l6 7.2

7. remainder 2
0 7 remainder2

5[3%

8. remainder 3
O 2 5 remainder 3

4[1703

9. remainder 6
0 1 5 remairder 6

8[12%

10. remainder 6
0 2 0 remainder6

9[ie 6

11. remainder 4
0 3 O remainder4

8l2% 4
12. remainder 1
0 5 2 remainder 1
7]3‘96 5
13. 13
Thereare 81 + 10 = 91 children and staff

altogether.
13

7[9%r
14. 70 cm
070
8[5% o
15. 18
O 1 7 remainder3
e[15%
3 are remairng, 50 Claire will need 1 more box,
making a total of 18.

16. 122
o122
13|1758¢6
-13
28
-2 6
26
26
Qo

There wil be 122 fish in gach tank.

M6QDE1

17. 32
0 0 3 1 remainder36

so[1157% %6
There are 36 fish left over so they will need an extra
tank, so the pet shop will need 32 fish tanks.

18. B
Find the number that 128 divides by exactly.
0 4 2 remainder2

s[1z8
032
4[172 8
It5 divisible by 4 with no remainders.

Page 10

Use BODMAS to do each part of these calculations
in the correct order:

1. 28
7+4x6-3=7+24-3=31-3=28
2. 9
6+8+2-1=6+4-1=10-1=9
3. 3
7+6-5x2=7+6-10=13-10=3
4, 63

9x5+6x3=45+186=63

5. 18

3x5+15+5=15+3=18

For questions 6-10, try the different signs until
You find the one that works. Remember to use
BODMAS to find the correct answer.

6. x
6 + 4 is in brackets, so you know it must be done
first: 7_(6+4)=7_10=70. 7x 10=70

7. -
5 x 2 Ig in brackets, 50 you kriow it must be done
first: 9_(3x2)=9_6=3 9-6=53

8. +

8 x 1isin brackets, so you know it must be done
first: 5_(Bx1)=3_8=11,3+8=11

9. =

11 -2 isin brackets, so you kniow it must be done
first: 27_(11-2)=27_9=3.27+9=3.

10. x

4 _ 5isin brackets, so you know it must be done
first. (This one’s a bit trickier because you need to
do the unknown calculation first,)

Onemore than (4_5)is 211 from the equation.
So(4_5)must be 1less than 21 = 20.
4x5=20,

11. -

9_ 3ls inbrackets, 50 you know it must be done
first. Eleven more than (9_ 3)is 17 from the
equation. S0 (9 _ 3)mustbe 11 less than 17 = 6.
9-3=6.

12. C

Estimate to find the answer: 9 x 296 can be
rounded to 90 x 300 = 27 000,

11 x 296 can be rounded to 10 x 300 = 3000,
27000+ 3000 =30 000. The only answer that's
close to thisis 29 600. Alternatively, you could
add 89 and 11 togetherto get 100, then multiply
this by 296. 100 x 296 = 29 600

13. D

Ad4x3=127+6-12=13-12=1

B 7X6=42,42-4=3838+3=41
CAx3=127-6+12=1+ 12=15
D:7x6=4242+4-4646-3=43
E6x4=2474+24-3-31-3=28
Fd4x6=24,2447-3=31-3=28

S0Dis the answer:

14. -40p

The price of each ticket has been rounded up by 5p.
There are B tickets in total B x 5= 40. Soto
Compiete the calculation you need to subtract 40p.

4

15. E

Af 70- =

5;20"104362‘20*2“‘0

C 10450 a0 2450 52245

D20 19-80+20- 5 58*5%3

E;w:;gjg;o+z‘5=§§‘2=7e

Elstheanswen' *10-5 73‘5=§7

16. 2

To find 60

60x3< 12%5y0u S Partition 3 o
"@0x05_ lhty

This leaves yoy With420. 5. 160, 30 5+05

double 210, ’270=2354;27O

0

Section Two
— Number Knowledge
Page 11

1. 3
The number which woul

: d be furth
number line has the sMallest vz ::t fothe ety a
2, .21
The number which would b

: e furth,
number line has the sMallest value: ottt g
3. 34
The number which would be f
a number line has the largest
4. 7.6
The number which would be #,
anumber line has the largest
5. -1°C
The number which would be furthest to the ht
anumber line has the highest valye, e

6. <

-Bisless than 5.

7. <

-4+2=-2,-2isless than 2.

8. =

2+6=4,7-3=4 4isecqualto4.

9. >

-7+ 1=-6,5-13=-8,-Gisgreaterthan-8
10. 30

2+4+6+8+10=530

11. 69
21+23+25=069

12, 1
The number has to be even, prime and less than 10.
The only even prime number is 2.

13. 16

Both boys' ages are square numbers under 20.
These are 1,4, 9 and 16. Only 16 and 4 addp
to 20. Feroz s older, so he must be 16.

14. 6 ,
1 and 4 are square numbers. 2,3 af:d 5 are prime
numbers, 6 is neither square nor prime.

rthest tothe

i
value, ght on

rthest to the right o
value,

15. 25°C ‘
The highest temperature s 12 Cand tl;e Iowest s
-13C. Toget from-13 00 youadd 13.

To get from Oto 12 you add 12.
13+12=25°C

Pages 12-13

1. 1,2,4,8,16 B

16 divides exactlyby 1.2.4 8

2. 1,3,59154 w5
45diw‘deswcb(yb_y1.5,5,9,7 a
other numbers.

3. 4
20,-4=5and32+4=5

4. 12115’ 16 16
_ 5=154x4=
3x4=123x @cGP2013



5, 18
186+6=3, 18+:9=2

6. 8
Factorsof 16=1.2,4,8 16.

Factorsof24=1,2,3,4,6 8 12,24.
Factorsof 32=1,2,4, 816,32
The highest number they all divide by is 8.

7. 8

Factorsof8=1,2.4.8.

Factorsof 16=1,2,4.8, 16,
Factorsof 32=1,2,4.8 16,32.

The highest number they all divide by is 8.

g. 12

Factors of 60

=123456 1012 15,20, 30, 60.
Factors of 72

=1,234068912 1824306 72
The highest number they bothdivide by is 12.

9. 32

Factors of 96

=1.2346812 16,24 32 48, 96.
Factorsof 126=1,2,4,8,16,32, 64, 128,
The highest number they both divide by is 32.

10. 35

Multiples of 5= 5, 10, 15, 20, 25, 30, 35..
Multiples of 7= 7, 14,21, 28, 35..

Firet multiple that is the same is 35.

11. 24

Multiples of 4=4,8,12, 16, 20, 24...
Multiplesof 6=6, 12, 18, 24...
Multiples of 8= 8, 16, 24...

First multiple that is the same is 24.

12. 12

Multiples of 2 =2, 4, 6,8, 10,12...
Multiples of 6 =6, 12...

Multiplesof 12=12...

First multiple that is the same is 12.

13. 20

Multiplesof 2=2,4,6,8, 10,12, 14, 16, 18, 20...
Multiples of 4= 4,8, 12, 16, 20..

Multiples of 5= 5, 10, 15, 20..

First multiple that is the same is 20.

14. 3x5

3 x5="15. Bothof these factors are already
prime numbers.

15. 2x3x3

3x6=18. 3is aprime number so can be used as
aprime factor: 6 can be written as 3 x 2, which are
both prime numbers.

16. 2x2x3

3x4=12. 3isaprime number so can be used as
a prime factor.

4 canbewritten as 2 x 2 — 2 is a prime number:

17. 2x2x3x3

6x6=36. 6 can be written as 2 x 3, which are
both prime numbers.

18. 100
The answer must be 2 multiple of 2 and 5. The first
square number that is a muitiple of 2 and 5 is 100,

19. 36

The answer must be a multiple of 3 and 6. The first
square number that is a multiple of 3 and 6 is 36,

20. 18 seconds

The tite in seconds until the kittens next miaow at
the same time must be 2 multiple of 6 and 9. The
lowest comtnon multiple of Gand 9 s 18. Sothe

kittens will mizow at the same time again after 18
seconds.

21. 3 boxes

The cakes come In boses of 4, so the total number of
cakes must be a multiple of 4. There are & children
Who all get: the same number, so the total number of
cakes must also be a multiple of 6.

The lowest common muftiple of 4 and 615 12.
3boxes contain 12 cakes (3 x 4).

M6QDET

22. 45 cm

The distance in cm until the seeds next ine up must
beamultiple of 9 and a multiple of 15. The lowest
common multiple of 15 and 9 is 45. So the seeds
willline up again after 45 cm,

23. 90cm

The distance in cm until all the seeds next line up
must be amultiple of 9, 10 and 15. The lowest
comimion multiple of 9, 10 and 15 is 90. So the
seeds willline up again after 90 om,

24. 8 friends

Factors of 56=1,2, 4, 7, 814,28 56.
Factors of 72

=12346809 1218 24, 36,72,

8 s the highest common factor — in order to
give each friend in the group an equal number of
sweets and an equal number of chocolate bars,
the maximum number of peaple there can be in the
groupis 8,

25. 3

3 should be in the centre of the Venn diagram where
all three circles overiap. 3 is a prime number, 2
multiple of 3 and a factor of 24.

26. 85

Thefactors of 64 are 1,2, 4, 8,16, 32 and 64.
The 4 square numbers in this list are
1,4,162nd64. 1+4+16+64=85

Page 14

To find a fraction of 2 number. divide the number by
the denominator (bottom number) and multiply the
result by the numerator (top number).
1. 6

Yof12,12+-2=6

2. 3

160f9,9+53=53

3 2
%%0f8,8+:8=1,1x2=2

4. 8
260f24,24:6=4,4x2=8

5. 27

24 0f36,36+4=9,9x3=27
6. 36

Y% 0f45,45+-5=9,9x 4=36
7. Yof27

Y40f32. 32+4=86x1=8
150f27. 27 +:3=9,9x1=9

8. 250f33

260f33. 35+53=11,11x2=22
Y of 100. 100+ 5=20,20x 1=20
9. % 0f25

240f25. 25+5=55x2=10
1%0f18,18+2=9,9x1=9

10. 4/5 of 35
4/50f55 55-:—5-:7, 7x4=28
5,0f30. 30+ 6=5,5x5=25

11. 75 of48

77/501’120. 120+3=40,40x 1=40
% of48. 48+8=6,6x7=42
12. 74 of 72

€4, 0f86.88+11=8,8x6=48
760f72. 72+9=8,8x7=56

13. B

8 apples divided between 12 children would give
845 of an apple for each child. This fraction can be
simplified to % if you divide the numerator and the
denominator by 4.

14. A

6 out of the 16 squares are shaded, giving the
fraction % This can be simplified to 3 if you
divide the numerator and the denominator by 2.

5

15. £2.60

First work out Y% of £4.50: £4.50 + 5= £0.90
— this is how much Josh gives to his sister.

Next work out 3 of £4.50:
£4.50+9=£050,£050 x 2 =£1.00

~— this i5 how much Josh gives to his friend.

Add the two amounts and subtract them from
£4.50 to work out what is left:
£0.90+£1.00=£1.90
£4.50-£1.90=£260

16. C

Convert 2/5 Into tenths by multiplying the
numerator and denominator by 2.
Martha cuts 2/5 = 4/7 0 off, which means

she has 7/70— 4/—,0= 740 of ayardleft.

17. A

To find 7/2 of 5/4 you need to multiply the
numerators together and the denominators
together. So Aartineeds 7/2 X ‘% =] 5/5 ofacup
of flour.

Page 15

1. 13

There are 3 red apples for every 9 green apples,
which gives a ratio of 3:9. The question asks for the
ratio to be written in its simplest form, so divide
both parts of the ratio by the same number.

3 and 9 are both divisible by 3 giving 1:3, which can't
be simplified any more.

2. 15g

Gabriel adds 5 g of ginger, 50 5 g = 1 part.

He needs to add 3 parts cinnamon so multiply the
quantity of gingerby 3: 5gx3=15¢4

3. 75g

Lara adds 22.5 g of cinnamon, s0 22.5 g = 3 parts.
She needs to add 1 part ginger so divide the
quantity of cinnamonby 3. 22.69+3=75¢g

4. 3:1

The pie chart can be split into quarters.

%is occupied by frogs and Yy by newts.

That means that for every 3 frogs, there is 1 newt,
which can be written in the ratio 3:1.

5. 8 robins

Nick expects that 1 in every 4 birds will be a robin.
This is another way of saying Y of the birds will be
robins. If he sees 32 birds in total, Y, will be robins,
5032 +4=8.

6. 3 black rabbits

2 outof every 3 is the same as %,

0% of Melissa’s rabbits are ginger, and Vs must
be black. & ginger rabbits make up 24 of her rabbits.
To work out how many rabbits make up %,

divide by 2: 6 + 2 = 3, 50 she has 3 black rabbits.

7. 16 games

The ratio of racing games to football games is 3:5.
He owns 6 racing games, which is 6 + 3 = 2 times as
many as in the ratio. Multiply the number of football
games in the ratio (5) by 2 to find out how many
football games he owns 5 x 2= 10

So he owns 6 racing games and 10 football games,
whichis & + 10 = 16 games in total.

8. 300:200

Add the numbers in the ratio together: 3+2 =5
500+ 5 =100. So one part equals 100.
100x 3 =300and 100 x 2 = 20050500 is
300:200in the ratio 3:2.

© CGP 2013



9. 240:180

Add the numbers in the ratio together: 4+ 3=7
Divide 420 by this to find what one part of the
ratio equals: 420 + 7 =60.
60x4=240and60x 3= 1805042015
240180 when divided in the ratio 4:3.

10. 400:240

Add the numbers in the ratio together 5+ 3=8
Divide 640 by this to find what one part of the
ratlo equals: 640 « & =80

BOx 5 =400ard80x 3=2405064015
400240 when divided In the ratio 5:3.

11. £40

Find out how tmuch each charity gets:
5+4+3=12 £240+12=£20

One part is worth £20, so the money is split in the
ratio (5 x 20)(4 x 20)(3 x 20) = 100:80:60.
Then work out the difference between the largest
and smaliest amounts: £100 - £60 = £40.

Page 16

1. %00

29% means ‘29 out of 100’ (whichcan't be
simpiifiect).

2. 0.15

To convert the fraction into a decimal, you need
to make the denominator equal to 100, multiply
numerator and denominator by 5 here:

5/20 = 75/‘100'

Then divide the numerator by 100 to convert toa
decimal: 15+ 100=0.15

3. 62%

3 7/30 is equivalent to 62/700 (multiply the

numeratorand denominator by 2). 9% 0 16 624,

4. 23,

% means ‘46 out of 100. So that's*%pp.
This can be simplified to 2‘%0 by dividing the
numerator and the denominator by 2.

5. 23

This question is asking you to find 46% of 50.
50+100=0505x46=23.

S0 23 of Ed's friends have dogs.

6. 7
To find 10% of 70 you can divide 70 by 10,
50 10%0f 70is 70+ 10=7

7. 3
25%o0f 12is the sameas Y4 of 12. 12+ 4=3

8. 128
1%0f 6400156400 - 100 =64,
2%is64x2=128

9. 24
To find 10% of 80 you can divide 80 by 10,
50 10%0f80is 80+ 10=8, 30%i58x 3=24

10. 60%

There are five triangles, so each triangle is

100 + 5 = 20% of the shape.

Three triangles are not shaded, so this is

3x 20% = 60% of the shape.

Alternatively, 3 out of the 5 triangles aren't
shaded, 50 that's %. This is equivalent to %% o,
(muitiply the numerator and denominator by 20).
“i00=601.

11. £8.40

10%of£10501s £1050+ 10=£1.05
S0 20%=£105x2=£2.10
£10.50-~£210=£8.40

12. 13

Find the total of red and yeliow rose bushes.
40% arered. 10%is 30+ 10=3.

S0 40% =4 x 3= 12 redrose bushes.

Y% are yeliow. 30 = 6 = 5 yeliow rose bushes.
B0 30 - 12~ 5 = 13 white roae bushes.
M6QDET

13. 40%
Add up the total rumber of pupils.
10+ 4+ 12 +4=30. 12 out of 30 take the bus,

50 1250 — you can simplify this to Y40 by dividing
the numerator and the denominator by 3.
4, i equivalent to *%;pp — 50 that's 40%.

Section Three
— Number Problems

Pages 17-18

Replacea with 6 in each calculation.

1. 11

6+5=11

2. 24

4x6=24

3. 9
(2x6)-3=12-3=9

4. 30
(3x6)+(2x6)=18+12=30
5. 50
5(6+4)=5x10=50

6. 2a
2lotsofa=2xa,or2a.

7. 3A-2
3xA=303A-2

8. 4x+3x

Sx +2x =7x, and 4x + 3x = 7x
9. 6a+3b

3(2a + b) means:
(2a+b)+ (2a +b) + (2a + b)=6a +3b.

10. 2%-2(%+0)
2(3% + 0) means (35 + 0) + (Y5 + 0), which is 2%
So the expression is the same 25 2% - 23X

11. 9

4 x 7= 28, Whateverx represents, the product
of 3andx must be smaller than 28. The biggest
numberx could beis 9. 3x9=27.

12. A

Substituting values of f = 3 andr = 12 into the four
equations gives the results:

Shine o' Grime: 50+ 12 + 3 = £65

Wishy Washy: (5x 12) + (6 x 3)=£78

The Sud Buds: 2x 12x 3 =£72

Top Mopz: 30 + 12 x 3= £66

13. £39
Claire has 9 rooms and 1 floor.
This gives a result of 30+ 9 x 1= £39.

14. 16

Rosemary has a two-storey house meaningf= 2.
Using the given equation, £92=5r +6x 2.

This can be simplified to 92 = 5r + 12, leading to
80 = 5r. This means thatr, the number of rooms
=80+5=16

15. £28

From question 14, we know Rosemary has 2 floors
and 16 rooms. Substituting this into the equation
for The Sud Buds glves 2 x 16 x 2 = £64.

Wishy Washy cost her £92, meaning a saving of
92-64=£28

16. £525

d=9.80c0st=75+(50x 9) = 75 + 450
=£525

17. E

Each passenger, orn, costs £5.

So that can be shown as 5 x n, or 5n.

The total cost is 5n plus £260 = 260 + 5n

18. £69
Put m = 25 into the formula,
15+2(25+2)=154+2x27 = 15+ 54 = £69

)

19. A
Each game, or n, ¢,

STs £
So that can pe shown e

= 100 minutes,
21. C

3 pieces, each

77’1,: plank was :{C)’; ’;7:19,.;: f; : o ongin tota]
pleces ars cut offit s (400 - 5, ) c’;:?e Fhree
22. 130 cm "
Ifx =90,3x =90 x 3

The plank has length 400 - (90 x
23. A

Two shelves of length g ¢,

Lals t
One shelf of length b .andqor,e Wolots of g 2a,

equaltob+c, Helfoflengc -
Therefore the equation s 150 - 2a+bye
24. a=33,c=54 '
1fb = 30, then substituting
150=2a + 30 +e,

7;#5 gives 150-30=120=24 , c.
feisknowntobe (a+ 21), the ion i
120=2a +a+21. This ian b:sqif:/;;’;:;qua’ o
120-21=2a+a5099=34
Solving 99 = 3a gives 99+ 3=, 504 « 33
¢ is found by substituting a = 33 intoc =
c=35+21=54

Pages 19-20

To find the rule in a sequence, try to find how toget
from one number to another. It can help to look at
the difference between the numbers, or trytospot
apattern, €.g. the numbers double each time,

1. 21
The rule of the sequence is add 3,
So the missing term= 18+ 3=21

2. 101
The rule of the sequence is subtract 3,
So the missing term = 104~ 3= 101

3. 16

The rule of the sequence is subtract 5.
Sothemissingterm=21-5=16

4. 2

The rule of the sequence is aad 0.25.
So the missing term=1.75+025=2

5. 4

The rule of the sequence is double the previous
number. So the missing term must be half of the
following term, &+ 2 =4

6. 22
The sequenceis 6, 10, 14, 18, 22...

7. 10
The sequence is 30, 25, 20, 15, 10..

8. 48
The sequence is 3, 6, 12, 24, 45...

9. 11
The sequencels 23,20, 17, 14, 11..

10. 7
The sequenceis 5,5.5, 6, 65,7.

11. D '
Choose a term and test each expression 20
which gives the correct value. .
E 4. for the second term.n = 2: subéfrfjufgs e
2 forn in each expression and o6 whic/ gn
corvect value, 7. Only 4n — 19ive? 7 whel
n=2:(4x2)-1=7. o
If there had been more than oné axmst;n tzf"
gave the correct value, you would ha(e haneofthﬁ
choose A differsnt term and 165t which ol

EXpressions was correct.

3) = ']300”’

into the equatiy gives

a+27:

find out

TN
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12. B
Whenn = even, even x 4 = even.

Even-1=0cd.

Whenn = odd. odd x 4 = even.

Even- 1=0dd.

13. 2.5,3.75

For the second term in the sequence,n = 2.
Uging%+n.§{;+2=2.5

For the third termin the sequence,n = 3.

Using 4 +n. 5/,;4-3:575

14. 25 )

whenn =20, B +nis equalto 294 + 20 = 25,

15. D
Use the equation "4 +n = 50 and solve forn.

Multiplying everything by 4 gives n + 4n = 200 so
Bp=200andn=200+5= 40

Alternatively, you could try putting in each option
25 the value of n until you find the one that gives
"/4 +n= 50

16. 21

There are O sticks in the first shape, 11 in the
second shape, and 16 in the third shape, So each
shape has 5 sticks more than the shape before.
The next shape will be made of 16 +5 = 21 sticks.

17. 22

There are 4 sticks in the first shape, 10 in the
second shape, and 16 in the third shape. So each
shape has 6 sticks more than the shape before.
The next shape will be made of 16 + 6 = 22 sticks.

18. 10

Continuing the sequence, 20 - 15 =5, 50 5is the
sixth number: The seventh number is the difference
between the Sth and the 6th numbers,
15-5=10. 101s the seventh number.

19. 37
Tom's sequence is 73,64, 55, 46, 37..
Mark's sequence is 25, 29, 33, 37...

20. -0.25
Nadiah's sequence Is: 6,4.75, 3.5, 2.25, 1,-0.25...

21. 22,67, 202
Brias sequencels 2, 7, 22,67, 202...

22. 36

The expression for the sequence is 7/2 n(n+ 1), s0
substitute 8 into the expression and follow the
rules of BODMAS.

Yox8(8+1)=15 x8x9=4x9=36

23. 6

The number of marbles increases by 2 in each shape.
Shape 4 has 10 marbles, so shape 5 will have

10+ 2 = 12 marbles.

Shape 6 will have 12 + 2 = 14 marbles and shape 7
will have 14 + 2 = 16 marbles.

Fatima has 15 marbles so the highest term she can
make is the 6th term.

Pages 21-22

1. £80

Matt worked for 3 hours + 4 hours + 3 hours, so
that’s 10 hours in total. 10 x £8 = £80

2, £2

tfone shirt costs £11, then two shirts would be
2x£11=£22

£24 - £22 = £2, which Is the cost of the tie.

3. 4

Hafof 56 i 28 (56 + 2 = 28), Finlay eats 8
chocolates per day,

Day 1:56 -8 = 48 left.

Day 2:48- 8 = 40 left,
Day.}40-&=52keft.

Day 4.32 ~ 8 = 24 left, which is less than half
4. 81

The only umber which is a multiple of 915 81
(@x8=81)

M6QDE1

5. 78

S litres marked out 130 spaces, 5o

1 litre could mark out 130 « 5 = 26 spaces.
Multiply by 3 to find how many spaces 3 litres could
markout 26 x 3= 78

6. C

Find the total price for each answer option
unitil you find the correct answer.

C: T calculator + 1 ruler + 1 rubber
=£450+£1.00 + 7Bp=£6.25

7. 450 g

Find the weight of one ball: 750 g+5=1504.
Two balls are used, that's 1 50gx2=300g4,
which leaves 750 g - 300 4=450g

8. 08kg

6 people need 1.2 kg, 50 1 person needs
1.2kg+6=02kg,

4 people would need 4 x 0.2 = 0.6 kg,

9. £36.25

2shirts =2x £1250=£25

Boots =£32

B pairs of socks = 3 x £2.25 = £6.75
£25+£32+£6.75=£63.75
£100-£63.75=£36.25

10. £1.25

At their normal price, 5 pairs of socks would sefl for
S5x£225=£1125.

In the sale they sell for £10.

Thereisasaving of £11.25-£10= £1.25

11. £39.20

The usual cost of two pairs of shorts js
2x£850=£17.

The usual price of football boots is £32,
Together this costs £17 + £32 = £49,
10% 0f £49i549 + 10=£4.90.
20%is £4.90 x 2 = £9.80

The sale price is £49 - £9.80 = £39.20

12. £1.15

If Connor received 10p change from £7, he spent
£8.90. (£7-£6.90=10p)

1¢hocice costs £6.90~6=£1.15

13. D

He spends 24p. If 1 enake costs 4p, then 24p buys
24 + 4 =6 shakes.

2% g is the same a5 2.75 g, 50 6 snakes would
weigho x2.75g9= 165y,

14. E

A: This can be true, e.g. Chris could have sold

29 teas and 28 coffees.

B: This can be true, e.g. people could have bought
29 coffees and 26 teas.

C: This can be true, eg. Chris could have sold

31 teas and 26 coffees.

D: This can be true, eg. Chris could have sold

38 coffees and 19 teas.

E: This cannot be true. The total number of teas and
coffees sold is odd (57), 50 the sum of the number
of teas and coffees sold must be an odd number
added to an even number.

The difference between an odd number and an even
number is always odd. 10 is an even number, so this
cannot be true.

15. 170 cm

There are 10 rows of bricks. There will be

10 concrete layers altogether — 9 between the
rows plus ong beneath the bottom row.

Total height of bricks = 15 x 10= 150 cm.
Total height of concrete layers: 2x 10=20cm.
So the total height of the wall is:

150+ 20=170cm.

16. 4 litres
A 2 litre bottle can make 6 x 800 ml of squash.
&6 x800ml=4800ml.
The total volume of squash needed Is 46 x 200 ml.
48 x 200 ml = 9600 ml. 9600 ml is double
4800 ml, s0 the amount of concentrate needed is
2 x 2 litres = 4 litres.

7

17, £96

The children spent 24p on soap and wax for each
car. 50 In total they spent 24p x 100 = £24. The
total amount chargedis £1.20 x 100 = £120.
The amount they raised for charity is the total
amount charged, minus the total amount spent on
s0ap and wax. £120 - £24 = £96.

Alternatively, you could work out the profit on each
car wash, which would be the amount charged, minus
the cost of the soap and wax, £1.20 - 24p = 96p.
Now multiply this by the number of cars washed,
96p x 100=£96

18. £1.98

The ingredients shown are enough for 24 rock cakes
and Ben wants to make 36.

36 + 24 = 1.5, s0 you need to multiply the amount
of each ingredient in the recipe by 1.5.

There are Z eggs in the recipe, 50 2 x 1.5 = B eggs.
3 x 22p=066p. The ingredients shown are enough
for 20 lemon buns, and Ben wants to make 60.

60 + 20 = 3, 50 you need to multiply the amount of
each ingredient in the recipe by 3.

There are 2 eggs inthe recipe, 50 2 x 3 = 6 eggs.
6x22p=£1.32. £1.32+66p=£1.95

19. £14.70
If 24 rock cakes cost £5.04, one rock cake costs:
£0.2 1

24[5%0%

To make 70 rock cakes, it would cost £0.21 x 70
=£14.70

20. 68

Ifeach bun costs 20p to make and sells at 50p,
there’s a profit per cake of 50 - 20 = 30p.

To make £20.40, Ben must have sold

2040 + 0.30 lemon buns.

This is equal to 204 + 3 = 68 lemon buns.

Section Four
— Data Handling

Page 23

For questions 1 and 2 you need to read the values
from the table.

1. 8
2, 5
3. 8

17 pupils in Class C use a car to get to school and 9
catchthebus. 17 -9 =8 pupits.

4. ClassA
15 pupils in Class A catch the bus, compared to 14
inClass Band 9 in Class C.

5. 75
Add all the entries in the bus and car columns.
15+14+9+8+ 12+ 17 =75 pupils.

6. ClassC
17 pupils in Class C use a car to get to school,
compared to 12 in Class B and 8 in Class A.

7. 37
Add the entire row for Class B
14+ 12+5+6=37 pupils.

8. 8

The values in the table must add up to 40 (the
nurmber of children asked). So add up the numbers
given and subtract this from 40 to find the missing
number: 8+4+8+5+7=32. 40-32=56

9. 27

Add together the number of children who receive
less than £ 1 and the number who receive between
£1and £3.50; 156+ 12=27
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10. Largs | Small | Total
Pepperoni | & 2 8
Cheese
and Ham 9 7 16
Total 15 9 24

The numbers i the last row must show the totals
for each column. The numbers in the last column
must show the totals for each row
Since & pepperoni pizzas were ordered, and 6 of
them were large, the number of small pepperoni
pizzas ordered must be 8- 6= 2.
Since 24 pizzas were ordered in total, the number
of cheese and ham pizzas must be 24 -8 = 16.
The number of large pizzas ordered is equal to
number of pizzas ordered - number of small pizzas
ordered. Thisis 24 -9=15.
You can use the number of large pizzas or the
number of cheese and ham pizzas to find the
number of large cheese and ham pizzas:
15-6=90r16-7=9

Pages 24-25

1. 3

Read the value off the graph. The total number for a
category is inline with the top of the category bar
2. F

Only one person said fish were their favourite pet.
This is option F.

3. 1

6 people preferred cats. 5 people preferred
hamsters. 6-5=1

4. 6

7 people preferred dogs. Only one person said that
fish were their favouritepet. 7-1=6.

5. 27

Add the total values from all categories.
5+6+7+3+5+1=27.

6. AandE

Both horses and hamsters were the favourite pet
of 5 people.

7. 45

Each picture represents 20 fish,

There are 24 pictures.

Y, of apicture represents 20 + 4 = 5 fish,

S0 21, pictures represents 20 + 20 + 5 = 45 fish,

8. 75

The bar chart shows that 375 people watched the
7 pm film on Friday. There are 450 seats available
50 the number of empty seatsis 450 - 375 = 75

9. 13

Each symbol = 4 drinks.

There are 4 % symbols for blackcurrant drinks.,

4 x4 =16 drinks. 3 of 4= 3 drinks. So the total
number of blackcurrant drinks s 16 + 3 = 19,
Cherryade Is represented by 1%, symbols.
4x1=4, 1, 0f 4= 2. Sothe total numberof
cherryade drinks is 4 + 2 = 6. So the difference
bevween the number of blackcurrant and cherryade
drinks is 19 -6 = 13 drinks.

Alternatively, you could find the difference in the
faumber of symbols for blackcurrant and cherryade
drinks, then multiply this by 4:

4%~ =3, symbols. 4x3=12, Y, 0f 4= 1.
So the difference in the number of drinks is

12+ 1= 13 drinks

10. D

18 teenagers preferred to spend their pocket
money on technology and this represents ¥ of the
pie ¢hart (as this section is 90° which is ¥, of the
whole 360° pie chart).

Multiply 18 by 4 to find the total number of
teenagers in the survey 18x4 =72

M6QDE1

11. 4 minutes

The flat portion of the graph between 11 and 15
minutes shows that Joe is not moving. This must be
when he stopped to talk to his friend.

15-11 =4 minutes

12. 10 minutes

Joes walkis 2000 mintotal. The halfway point of
his walk is 2000 + 2 = 1000 m. The point at which
Joe reaches 1000 m can be read off the graph.

13. 750

The shot put section has an angle of 60° and
represents 250 tickets. The high jump section
covers half of the pie chart. As the total of the
angles in a ple chart is 360°, the size of the high
Jumpangleis 180° (360°+ 2).

The size of the high jump section is three times the
size of the shot put section (60° x 3 = 180°) so
the high jump sold three times as many tickets.

3 x 250 =750 tickets

14. 500

The angle that corresponds to javelin can be
calculated as 180° - 60°= 120", If shot put sold
250tickets at 60", then 120° sells

250 x 2 =500 tickets.

15. $4.50

FPounds are written on thex-axis. Find £3 on this
axis. Ifyou travel from this point vertically up to the
line, and then horizontally across to they-axis, the
corresponding value in $ can be read off,

16. £4

Dollars are written on the y-axis. Find $6 on this
axis. If you travel from this point horizontally
across to the ling, and then vertically down to the
x-axig, the corresponding value in £ can be read off
17. £30

The graph tells you that $4.50 equals £3. $45 is
ten times greater than $4.50, so multiply £3 by
ten to find the number of pounds. £3 x 10 = £30

Pages 26-27

To calculate the mean, add up all the values and
divide this total by the number of values.

1. 7

2. 17

3. 16

4. 4

5. 5

6. 6

6 appears the most number of times In the list.
7. 5

5 appears the most number of times in the list.
8. 8

Mean = total = amount of numbers (4).

S0, to work out the total score, multiply the mean
by 4: 10x 4 = 40. To find the missing score,
subtract the other scores from 40.
40-12-14-6=8

9. 20

Meari = total - amount of numbers (5).

5o, towork out the total score, multiply the mean
by5: 10x5=50. Tofind the missing score,
subtract the other scores from 50.
50-9-12-6-3=20

10. 14

Mean = total + amount of numbers ( 7).

So, to work out the total score, multiply the mean
by 7: 10x 7=70. To find the missing score,
subtract the other scores from 70.
70-15-5-12-8-10-6=14

11, 2
To caleulate the mean,

L add up z)
goals: (0+2+ 442, 5, ff’;ﬁe;umbersof
divide by the numper of Matches ¢, = 16) the,,
16-8-2 VPlayed (5)
12. 20
Add up the numbers ofe,

995 hatch,

(254104254204 25, 75+Zdoefchday:
then divide by the fumber of daye (7 =140) any
140+ 7=20 $
13. 10

Mean = total score on the six tests

tests (6). So, to Work out the total SC”:rmberof
tests, multiply the mean by6: 7x 6+ 45 il
the missing score, subtract the othe; - ot
42. 42-4-6-7- 10-5= 10 i

14. 10 °C

Add up the High' temperatures f;
14+ 14+ 10+ 4+ e

8+11+9=< 70
divide by the number of days 7). 70 -a';ti t;zgrr

15. 5°C

Add up the Low' temperatures fop eachday:

10+6+4+3+2+4+6—35 and
= A th .
the number of days (7). 35+7-5 e dlivice by

16. 2004

In 2002, 3 UFOs were spotted. n 2003,
were spotted,so 3 + 2 = 5 UF0s were spottedin
total. In 2004, 5 UFOs were spotted, so

5+5 =10 UFOs were spotted in tota

17. 3

Add up the number of UFQs Spotted each year:

(3+2+5+1+3+4= 78)andthendividebythe
number of years (6). 18 +6=3

18. 140

140 is the most common score,

19. 30

Add up Gary's scores:

140+ 140 + 100 + 180 = 560, and then divide
by the number of turns (4). 560 + 4 = 140,

Add up Zoe's scores:

100+ 140 + 60 + 140 = 440, and then divide by
the number of turns (4). 440+ 4= 110,

So, thedifferenceis 140~ 110=30.

2UF0s

Page 28

1. A

Jamie got 25%, Hasim got 10% and Ted got 5%,

Lex didn't get any votes, so he got O%.

Despite only having 12 votes, Anne received a higher
percentage than Jamie, Hasim, Ted and Lex. Sothat
leaves Anne with 100% - 25% - 10% - 5% = 60%
(There were only twenty voters).

2. C

The pictures in this pictogram are different sizes
and this is misleading. Forexample the crocodile
row appears longer than the snake row, but there
areonly 3 x 4 = 12 crocodiles compared to

5.5 x 4 =22 snakes

3. D

The steps on the vertical axis double each time.
What the graph appears to show at aglance s
different to what the data actually shows. For
example, the number of calls on Wednesday 1
actually double the numberon Tuesday, but the ’
differerice between the values plotted onthe grap
looks smaller than this.

4. D i6 3, of the
The number of children with blue yes 16 74.© "
number with green eyes. There are 24 children wi
blue eyes and 32 with green eyes.
7/,,0F52/552+4=&50%af52=5ngzjbdr
(The blue bar is not 7 of the height of the 9¢¢
because the scale does not start at zer0)
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page 29
40° .
-7'7; o three anglesina triangle add up to 180"
pngex = 180°-65"~ 75" =40
-

A;lgleﬁ onastraight line add upto 180"

Angley = 180°-75°= 105°
o
3, 295 ' )
Angles arounda poirtt add upato 360"
Anglez = 360°-65°=295
4. 3 . ]
Angles ona straight line add up to 180
e
5' . 3
Angles ona straight line add up to z 80",
AngleU= 180°-34°-23°= 125
6. 23°

The three anglesina triangle add up to 180"
180°-90°-67°=253°

7. B

The angle looks to be half of the size of a right angle.
Aright angle s 90", so the size of the angle is about
a90° + 2=45°

8 A

Anobtuse angle i an angle that is bigger than 90°
and smaller than 180°. Shape A contains two
obtuse angles.

9. 210°

Each angle in an equilateral triangle is 60° and each
angle In 2 square is a right angle (90°). The shaded
angle is made up of one angle from the square and
two angles from the equilateral triangles:
90°+60°+60°=210°

10. 10

There are 360" in 2 full circle and the numbers on a
clock face divide the circle into 12 equal sectors.
Eachsector has an angle of 360°+ 12 = 30",

The minute hand has moved 300° so it has moved
through 10 sectors (30° x 10 = 300°).

If the minute hand moves on 10 sectors from 12 it
is pointing at 10.

11. 70°

The angles in a quadrilateral add up to 360"

The size of the fourth angle inside the shape
=360°-85°-83°-82°=110°

The angles on a straight line add up to 180°
soangley = 180°- 110°= 70°

12, 240°

You need to use your answer to the previous
question to work this out. You know that angle

¥ =70", 50 you can now work out the missing angle
inthe triangle.

180°-70°- 73°= 37°. There are 360°ina
fullcircle so angle z = 360°- 37°- 83°= 240°

Pages 30-31

1. C

Shape Cis the only shape with exactly two right
angies,

2. D

Anleosceles triangle has three sides in total, with
@ that are equal in length — D s the only shape
with three sides and two that are equalinlength,

3. C

Apentagon has five sides — Cis the only shape
with five sides,

M6QDE1

4. H
Aquadrilateral has four sides. His a quadrilateral
with four sides that are equal in length.

5. B
The two horizontal lines in B are parallel and
the shape has no right angles.

6. E

A trapezium has one pair of parallel sides.

7. B

The internal angle of a regular polygon increases as
the number of sides increases. An octagon has &
sides which is more than the other shapes given.

8. D
Ferpendicular sides are at right angles to each
other (see the diagram).

These two sides
are perpendicular.
9. BC

Farallel lines have the same slope s0 BC is parallel
to DE,

10. AB
ABE is an isosceles triangle so AB is equal inlength
to AE.

11. A

The points form a quadrilateral with two pairs of
non-parallel sides of equal length (AE = AB and EF
= BF), and a pair of opposite obtuse angles that
are equal (at points B and E), so the shape formed
is akite,

12. C

Joining points BCDEF makes a shape with five sides.
A pentagon is the name given to a shape with five
sldes.

13. D
Shape D is 2 hexagon so it cannot be placed in either
the triangle or quadrilateral rows of the table.

14. 60°

The angles of any quadrilateral add up to 360"

The obtuse angles in a kite are equal,

s0anglex = 360°- (125°+ 125°+ 50°) = 60°
15. C

The diagram befow shows the reflected isosceles
triangle which has 2 equal sides.

It is a rhombus because it has 4 equal sides, 2 equal
obtuse ang/ef and 2 equal acute angles.

16. 450 mm
The radius of a circle Is half of the diameter:
900+ 2 =450mm

17. C
FPentagons do not fit together without gaps
whereas the other 4 shapes do. For example:

A~ Another pentagon could
not fit into this space.

18. 150°

The marked angles inside the rhombus are both 30°
50 the total of the unknown angles must be
360°-30°- 30°= 300°

Opposite angles In a rhombus are equal so angle a
must be 300° + 2 = 150°

19. E
A rectangle, rhombus, trapezium and square all have
parallel sides whereas a kite does not.

20. 130°

The acute angles in a parallelogram are equal.

Each acute angle = 90 - 40 = 50°. The sum of the
two olituse angles is 360 - (60+ 50) = 260"

So the slze of each obtuse angle = 260 + 2 = 130",

9

Pages 32-33
1. CandD

Count the number of squares in each shape to find
its area.

The area of shape C = 10 squares + 4 half squares
= 12 squares.

The area of shape Dis also 1 2 squares.

For questions 2-4, work out the perimeter of each
shape by adding the lengths of each side together.
Inquestion 2, shape S is a rectangle, so the missing
sides are 7 cm and 3 cm.

2. 20cm
3. 27 cm
4, 22cm
5. 21 cm?

Find the area of a rectangle by multiplying the
length and width together: 7 x 3 =21cn?

6. 24 cm?
The area of atriangle is ¥, x base x height.
Vox4x12=2x12=24cn?

7. 125cm

A regular pentagon has 5 equal sides so all 5 sides
are 25 cmlong.

25+ 25+25+25+25(or5x25)=125cm

8. 5m
The area of the carpet = length x width.
75 = 15 x width, sowidth=75+15=5m

9. 70m

The playground is 2 regular octagon 5o all eight
sides are the same length. The perimeter (560 m)
divided by the number of sides (8) gives the length
of each side: 560 + 8=70m

10. 16

From the left hand vertical side lengths you know
the total height of thepenis 2m+4m=6m.

So the missing height on the right hand side of the
penmust be 6m-4m=2m. Fromthe horizontal
length at the top you know the total length of the
penis 10 m. So the missing length on the top left
hand sideis 10m=-4m-4m=2m.

The sides of the pen are 10m, 4m 4 m, 2 m,
4m,4m, 2 mand 2 m. Add them to give a total
of 52 m. Each panelis 2 m long so the number of
panels neededie 32 + 2 = 16 panels.

11. 3 cm

A kite has two pairs of equal sides, so all the sides
at the top of the pattern are 2 cm.

The total length of all these sides is 6x 2 = 12 ¢cm.
The remaining sides together add up to
30-12=18c¢cm.

All the remaining € sides are the same length, so
eachside=186+6=3cm

12. 36 cm?
Divide the shape into two sections as shown in the
diagram.

rectangle triangle

The area of the rectangle is 9 x 3 = 27 on?’

The height of the triangleis 15 -9 =6 cm Thearea
of the triangleis ¥y x 3 x6=9cnr So thetotal
areaof the shapeis 27 + 9 = 36 cnr’

13. 540 cm

The outer edge of the patio consists of 18 of the
30 cm sides.

So the perimeteris 16 x 30 = 540 cm
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14. 22 cm

A rectangle with an area of 24 cmé must have sides
of 2cmand 12 em, 3cmand Bom, 4 cmand 6 cm
or 1 emand 24 cm. As thedifference in the length
of the sides is given as 5 cm then the rectangle
must have sides of 3 cm and & cm. So its perimeter
mustbe3+3+8+8(or(3+8)x2)=22cm

15. 270 cm?

The three cardboard panels that make the tunnel
each have the same dimensions and therefore the
same area.

Area of each panel= 15 x 6= 90 cnr’

Total area = 3 x 90 =270 cnv’

16. 57 m?

5m

am X 2

g Y I4m
- —
8m

Split the garden into two rectangles — eg. X and Y.
X has sides 9 mand 5 mlong so the area is
9x5=45n7,

Y has sides 3 m (8 - 5) and 4 mlong so the area is
3x4=12n".

The total area of the gardenis 45 + 12 = 57 ni?

17. 16 m?

You need to find the area of the triangle,
which is Y5 x base x height.
VoxBx4=4x4=16n7

18. 700 m?

The total area of the supermarket and the car
parkis 40 x 25 =1000n7. The area of the
supermarket is 20 x 15= 300 n?. Subtract the
area of the supermarket from the total area to find
the area of the car park: 1000~ 300 = 700 n?

19. 130 cm

The hole is made up of twenty two 5 cm edges and
two 10 cmedges. The perimeter is:
(22x5)+(2x10)=110+20=1300m

20. 700 cm?

The area of each brick is 10 x 5= 50 cn.

The hole fits 14 bricks, 50 the total area of the hole
1550 x 14 =700 cn?®

21. 3

The area of each wallis 4 x 2 =8 .

The total area of all 4 walls is 4 x &= 32 nP.
Two tins of paint will be enough for 24 n? of wall
(2 x 12 = 24) and three tins will be enough for
36 of wall (3 x 12 = 36).

So Martha needs to buy 3 tins of paint to have
enough.

Page 34

1. H
H has one vertical and one horizontal line of
symmetry.

2. W

Wonly has a vertical ling of symmetry.
3. b

D only has a horizont.al line of symmetry.
4. 3

R F and N have no lines of symmetry.

5. D

Shape D has 2 horizontal mirror line.

6. B

B has one vertical and one horizontal line of
symmetry.

7, D

The reflected shape has six sides (see diagram
below). This means that it is a hexagon.

M6QDE1

8. B
Fattern Bis the only pattern that has a diagonal
mirror line.

‘

5

9. D
Pattern D has no lines of symmetry.

10. E
Two more squares were shaded on the pattern as
shown in the diagram below:

The pattern has four lines of symmetry.
Pages 35-36

1. 5
Shape Alis a pentagonal prism. It has 5 rectangular
faces.

2, E
A cube has six identical square faces.
3. D

A triangular prism has 2 triangular faces at each
end and 3 rectangular faces in the middle. It also
has 9 edges.

4. C
A cone has two faces but only one curved edge
between the fiat face and the curved face.

5. B

A square-based pyramid has five faces

(1 square base + 4 triangular faces), 8 edges and 5
vertices (the vertices of the square plus the vertex
at the tip of the pyramid).

6. 14cm?®
There are 14 cubes and the volume of each cube is
1 ¢nP. So the volume = 14 x 1¢cmP® = 14 cn®

7. 84

7 cubes fit along the length of the box, 3 cubes
fit across the width and 4 cubes can stack up the
height of the box. 7 x 3 x 4 = 84 cubes

8. A
Net A s the only net that will fold up to make a cube.
9. B

A cuboid has more than 2 quadrilateral faces and
itis also a prism. S0 it should go in the overlap
of these two circles. It has no curved edges so it
cannot go in the third circle.

10. D
The net folds up to make a square-based pyramid.
Points Z and D will join together at the top of the
pyramid.

11. D

Start by ruling out the nets where the same letters
appear next to each other. So Band Ccan't be
right. Then think about each of the other nets when
they are folded. When nets A and E are folded, the
two letter As and the two letter Bs will be next to
each other.

When net D is folded, each pair of letters will be on
opposite sides to each other.

12. B

The edges of each cube are 4 cm long.

The box is long enough to fit 40 + 4 = 10 cubes.
The width of the box means you could fit

24 +4=6rowsinit.

Soone layer of cubes = 6 x 10 = 60 cubes.

The box is high enough to fit 12 + 4 = 3 layers of
cubesinit.

So the total number of cubes = 3 x 60 = 180

10

13. B\

There Is no net: for the cone. Thi

5 di;
what the net of 2 cone might look l;/fg’ M shows

14. 8cm

Volume = length x width x height
800 =20 x width x 5

50800 = 100 x width
Sowidth =800+ 100=8 cm

15. 44 m?
Volume = length x width x height so the
the larger cuboidis 4 x 5 x 3 = 36 m°.

The volume of the small cube is 2 x 2x2=8pp
The totalvolume is 36 + 8 = 4.4 ' 1‘

volume of

Pages 37-38

For questions 1-4, you need to imag;

ey ] gine the sha
being flipped to find the option that matches t;ff’:
transformed shape.

1. A
2. B
3. E
4. D
5. 2cm

7 sides of each of the outer 4 octagons make up
the perimeter of the shape, plus 4 sides of the
central octagon. So the total number of, octagon
sides that make up the shape
=(7x4)+4=28+4=32.

The total perimeter of the shape = 64 cm,

So the length of each octagon side
=64+32=2cm.

6. 18
The diagram below shows the painted faces on the
stairs:

11 painted faces are visitle.

There are ; A/\There are
4 painted 3 painted
faces at faces on
the back. this side.

11 +4 + 3 = 18 painted faces.

7. 11

You know the width of the model is 1 cm.

This is the same as the width of the bricks so all you
need to worry about is how many bricks you would
need to fit the length and the height. The diagram
below shows how the model would be made:

=11 bricks

8. C
Imagine the shape being flipped from one side to the
other of a vertical mirror line,

9. 6
G tiles are needed:
10. 4.5 cm

Cynthia made the shape like this:

Each side of a tileis 1.5 cm,
so the length of side x
=3x15=45¢cm.
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€, as shown below:

12.

When ygu grand shape Z up onto it's end it gives

shape E

13.
Aplan view i what the
apove.

::u.wuld be able to see two bobbles on the robots

read on the side elevation of robot E.

shape looks like from diirectly

Page 39

T find the coordinates for questions 1-5, move
along the x-axis 10 find the horizontal position
of the point. Then move Up they-axis to find the

vertical p05i15i0n.

1. 6,7
2. (5,11)
3. 449
3. 8,2
5. 2,9
6 49

W'hen you move 4 squares west from point Ayou
get tothe point (4. 2). When youmave 7 squares
north from (4, 2) you reach the poirtt: (4, 9).

7. A

To be paraliel with JK. the line must follow the
dotted shown. Plot the coordinates you ‘regiven
untilyou find the pair that sit on this line. The only
option given that’s on this ling is point. (-7, O).
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Only points withx and y-coordinates greater than
2 buts less than 7 will lie within the square. (8. 4)
has anx-coordinate grester than 7 so s outside of
the square.

9. (6,15)

Wis vertically below point (6, 19) (top of the
pentagon). Soits x-coordinate is also 6.,

Wis also in a horizontal line with points (3, 15) and
(3. 15), s0 its y-coordinate is 12.

(6,19)

15""(‘3“.'?\5”)"-i - l(s. 15)

—

6
Page 40

. 5,3
The reflected triangle is shown In the diagram. The
coordinates of_tirf  point: B are now at (5, 3).

r—————
o5 S T | {
IR R 4=

M6QDE1

2. B
The diagram shows the reflected shape.
The coordinates of the reflected point G are (-5, 4),

iTof fing | o J

14

111
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Gl .‘*jf L'JL—"‘BA
Sy A
e A

24

¥

I
!
o

.
B-765-4-3
3. (12, 8)

The point at. (1, 8) has moved to (4, 10).

The x-coordinate has increased by 3 and the
y-coordinate has increased by 2 (so the shape has
moved 5 squares right and 2 squares up). FointC
was previously at (9, 6) s0 its new x-coordinate is 9
+3 =12, andits new y-coordinatels 6 + 2 = 8,
4. G, 1
You know the shape ic a square so the length of
all the sides must be the same. The top line has
coordinates (-2, 6) and (1, 6) so its lengthis 3.
Before the translation point W will have the same
X-coordinate as the point above it (1) but the
Y-coordinate will decrease by 3, so its coordinates
must be (1, 3).

After the translation the x-coordinate of point
X has increased by 4 atid the y-coordinate has
decreased by 2. So after the translation the
x-coordinate of the image of point W will be

1+ 4 =5 and they-coordinate willbe 3-2 = 1.

5. (6,2)
The diagram shows the shape translated to the new
coordinates. The coordinates of point X are (6, 2).
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6. (6,10)

The dizgram shows the new shape reflected in the
mirrorline. The image of point Xis at (6, 10).
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Section Six
— Units and Measurements

Pages 41-42

For questions 1-4, pick the unit that best matches
each object.

1. B .

A rabbit is usually no taller than 30 cm, 50 youd
measure it In centimetres.

2. A
t'5 4 long waly between London and Liverpool, g0
youd measure the distance in kilometres.

3. C

Buildings are taller than the average peeson, 50 youd
measure their height in metres.

4. D

The thickness of a coin is very small, 50 youd
measure it in milllmetres.

1

5. 1560¢g
1 kilogram = 1000 grams
1.56 x 1000 = 1560 grams

6. 2500 ml
1 litre = 1000 miliilitres
2.5 x 1000 = 2500 millilitres

7. 1.28m
1 metre = 100 centimetres
128 + 100 =1.28 metres

8. 15300m
1 kilometre = 1000 metres
16.3 x 1000 = 15 300 metres

9. 45kg
1 kilogram = 1000 grams
4500 + 1000 = 4.5 kilograms

10. C
2.54 kg, 5400 g, 5.4 kg and 54 kg are far too
heavy for a pencil. The most likely answer is 5.4 g.

11. 500g

Mass of onebag =16 kg + 32 =05kg.
You need to give your answer in grams.
1kg=1000¢, 5005 x 1000 =5004g

12. D

Anegg cup, a teacup and a teaspoon are all very
small and wouldn't hold 1 litre of water A dustbin is
very large and would hald much more than 1 litre of
water. The most likely answer is a small saucepan.

13. 175 ¢

The scale increases by 25 g at every notch.

The needle on the scale is pointing one notch before
2004,502009-254=175¢g

14. 350¢g
Both parcels weigh 175 grams. Together they will
weigh 175 x 2 = 350 grams.

15. 11

This can be calculated using trial and error. 1t's easy
to see that 10 parcels would weigh 1750 g, or
1.75kg. 17 parcels would weigh 17504 + 175g
=1925g0r 1.925kg.

12 parcels would weigh 2.1 kg. So the largest
number of parcels you can sendin one sackis 11.

16. 264 m

Convert all lengths to metres. 1 metre=100cm,
50650 ¢t is 650 + 100 = 6.5 m. Add all the
lengths together: 6.5+ 7.6+ 12.3=264m

17. E

1 litre = 1000 mi, s0 1.5 litres is 1500 mi.
400 mlis about 2 quarter of 1500 ml, so the
correct bottle will be about three quarters full.

18. £25.50

The total distance Roberto travelled is
24+15+12=57km.

In the taxi it costs 25p to travel 500 m, so to
travel T km would be 2 x 25p = 50p.

The total cost would be
51x50p=2550p=£2550

19. 200 mi

12 x 150 ml= 1800 ml

2 litres = 1000 mi x 2 = 2000 mi
502000 ml- 1800 ml=200ml

20. D

There are 4 kg of meatballs, so twice as much pasta
would be 4 x 2 = B kg. Altogether thereis

4 + 8= 12 kg of meatballs and pasta.

Each serving is 250 g, 50 4 servings would be
4x260g=1000g=1kg.

So thereare 12 x 4 = 48 servings in 12kg.

21. 15 litres

270 - 9 = 30, 50 Mrs Conway's car needs 30 lots
of % a litre of petrol.

30 lots of 3 alitre is 30 x Jp = 15 litres
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22, 135 m

10mm=1cm, s0a 15 mm stickeris

15+ 10= 1.5¢cmlong. Caroline used 250

3 cm stickers, and 400 1.5 cm stickers.

Totaliength = (250 x 3) + (400 x 1.5)
=750+ 600= 1350 cm

Tm=100¢m, 50 1350+ 100=135m

23. 42m

Tem=001m. Therefore 80cm=08m,

The shape around the box is a rectangle. The
perimeter of a rectangle is the sum of all four sides.
The perimgteris 08+ 08+ 1.3+ 1.3=42m

24, 140

Eachstickeris 3 cm inlength. Convert the perimeter
of the box into em by multiplying by 100.

4.2 x 100 =420 cm. The nurmber of stickers
required is 420 + 3 = 140,

25. 2.1m

Each small sticker is 15 mm. This can be converted
intocmby dividing by 10. 15+ 10=15¢m.

The length of stickers around the box is 1.5 x 140
=210cm. This can be converted ntom by dividing
by 100, The perimeteris 210 « 100=2.1m.

Pages 43-44

1. 3:45 or 15:45

The hour hand is pointing between 3 and 4, so the
houris 3. The minute hand is pointing at 9, which is
45 minutes past the hour: So the time is 345,

2. E

If the number of hours ona 24-hour clock is
between 13 and 23, you can work out: the time
inthe 12-hour clock by subtracting 12 from the
number of hours.

19-12=7 sothetimeonclock Ais 7:20pm.

On clock E the hour hand is pointing between 7 and
&, s0the houris 7. The minute hand is pointing at 4,
whichis 20 minutes past the hour.

3. D

Twenty to seven in the evening is 6:40 pm.

The 12-hour clocks do not show this time because
none of them have their hour hand between & and 7.
On a 24-hour clock, 6 o'clock will be shown by

6+ 12 = 18. Onedigital clock shows 18:40, which
s the same as 6:40 pm.

4. 1845

Clock Ais 35 minutes further ahead than it should
be. 0 you need to subtract 35 minutes from the
time shown. Do this in two parts, first subtract
20 minutes from 19.20 to get to 19-00. Then
subtract 15 minutes from 19.00 toget to 18:45.

5. B

There are 60 minutes in an hour, s0 90 minutes is

7 hour and 30 minutes, Add 1 hour to ten past&
and you get ten past 9, add 30 mins to that and
Youget 9:40. The clock showing 9:40is B

The hour hand is pointing between 9 and 10, so the
houris 9. The minute hand is pointing to 8, which is
40 minutes past the hour.

6. 25 minutes

The hursber 35 bus leaves the Bus Station at
10:15 and arvives at, Bank Street at 10:40,
There are 25 minutes from 10:15 to 10:40.

7. 35 minutes

The number 42 bus leaves the bus station at

1 1:25 and arrivss at Bigsby Road at 12,00,
Add 5 minutes to get from 11:25 to 11:30 and
add 30 minutes to get from 11:30to 12:00.
5+ 30 = 35 minutes

8. 27 minutes

The number 55 bus leaves Bank Street at 1040
andarvives at Qayton Joseat 11:07.

Add 20 minutes to get from 10-40to 1100 and
add 7 minutes to ast from 11:.00t0 11:.07.

20+ 7 =27 minutes

M6QDET

9. 7 minutes

The number 35 bus leaves the Bus Station at
10-15 and arrives at the Hospital at 11:20.
Soadd 1 hour to 10:15 toget to 11:15 and add
5 minutes toget from 11:15to 11:.20.

1 hour = 60 minutes, 60 + 5 = 65 minutes in total.
The 42 bus leaves the Bus Station at 11:.25 and
arrives at the hospital at 12:37. S0 add 1 hour
to 11:.25 toget to 12:25 and add 12 minutes to
get from 12:25 to 12:37. 1 hour = 60 minutes,
60+ 12 =72 minutes in total. So the difference
between the times the buses takels 72 - 65 =7
minutes.

10. D

The closest months to August are October and July.
28th Julyis less than a month from 15th August,
but 4th October is more than a month away.

So the answer Is 28th July.

11. D

Count on 12 days from 27th September.

There are 30 days in September; so 3 of the days
will be in September. 12 -3 =9, s0 that leaves 9
days in October.

Mary's birthday will be 9th October,

12, 10:13

Kat allowed 12 minutes for the walk and 5 minutes
tofind her seat. 12 + 5 = 17 minutes, so she must
have left 17 minutes before 10:30,

10:30~ 17 minutes = 10:13

13. 11 minutes

Jo left 16 minutes after Kat. IfKatleft at 10:13
then Jo must have left at

10:13 + 16 minutes = 10:29

fttookher 9 + 3 = 12 minutes to get to the
theatre and find her seat, meating she was in her
seatat 10:29 + 12 minutes = 1041

The play started at 10:30, making Jo

41-30= 11 minutes late.

14. A

There are 60 seconds in a minute, so

3 x60= 180 seconds.

Work out % of aminute: 60 + 4 = 15,

15 x 3 = 45 seconds.

S0 3%, minutes =180+ 45 = 225 seconds

15. E

25 minutes to midnight is 11:35 pmusing the
12-hour clock. To find a time after 1 pmona
24-hour clock you need to add 12 to the hours.
So 11 pmwouldbe 11+ 12=23

11:35pmis 23:35,

16. 6 hours and 30 minutes

Mr Smith started at quarter to ten in the morring,
which is 9:45 am,

Add on 15 minutes to get to 10 am,

Add on 7 hours to get to 5 pm.

Then add on 15 minutes to get to 5:15 pm.
15 minutes + 7 hours + 15 minutes

= 7 hours and 30 minutes.

He took 1 hour off for lunch,

7 hours and 30 minutes - 1 hour

= 0 hours and 30 minutes

17. 45 minutes

3 people took swimming lessons, so You need to
divide 2 hours and 15 minutes by 3.

Two hours is 2 x 60 = 120 minutes

120+ 15 = 135 minutes

135 + 3 = 45 minutes

18. Friday

You know that 18th May s a Tuesday, s every 7th
day after 18th May will also be 2 Tuesday.

Add 7 days onat a time to 18th May.

Remember, there are 31 days in May.

18thMay + 7 days < 25th May

25th May + 7 days = st June

18t dune + 7 days = Bth June

12

8th Jure + 7 days = 1 5th Juhe
15th Juneis a Tuesdzy, noy, add o
Tuesday to fing what dayof the weey 1 Vot
15t day = Wednesday, Bth e is
2nd day = Thursdzay ang4 3rd day = Friy

= Fridzy,
19. 4 hours 19 Minuteg
In one week she Spends: 26 x 5 - 4 25m;
her homework. In £y, weeks she o o utes oing
Z2x125=250 minutes, e
7 hour = 60 minutes, so
4 x60minutes = 240

spend 4 hours and 10
20. D

Javier took 2 hours and 20 Minutes,
to find the pair of times which has tl:1i5
The answeris 11.35 and 13:55,
11:35toget to 13:35 and
from 13:35 t0 15.55,

21. 11:10 and 13:00
Molly visited the zo0 on 4 Thursday in Februa

0 the 200 was open between 10:30 ang 15?;0
Molly arrived 40 minutes aftep it opened, Md 50
minutes to get from 10:30 am 10 17:00, then add
10 minutes to get from 1 1:.00t0 11:10

She left 2% hours before it: closed,
Subtract 30 minutes from 15,50
and subtract 2 hours from 15.00
So Molly was at the zoo between 1

22, 11:02

Spelling usually finishes at 1050,

12 minutes later than this is 1050 +12 minutes
= 11:00+ 2 minutes = 11.02

23. 95 minutes

Jessicass literacy lesson starts at 111 0. s0
subtract 35 minutes from 11:10, Subtract 30
minutes to get to 10:40 and then subtract 5
minutes to get to 10:35, Lunch starts at 1215
and Jessica returns to school 5 minytes before the
start of lunch, so she returns at 12:10, Work out:
the time difference between 10:35 and 121 0.
10:35to 11:00 s 25 minutes.

11:00t0 12:00is 1 hour = 60 minutes.
12:00t0 12:10is 10 minutes.

25+ 60+ 10 = 95 minutes

24. 16:05

From question 23, Jessica was away from school
for 95 minutes. Her music lesson is 95 - 10 = 85
minutes. This is equal to 1 hour and 25 minutes,
Add this time on in parte:

7 hour on from 14:40is 15:40,

20 minutes on from 15:40 s 16:00 and

5 minutes on from 16:001s 16.05.

hreg da

4 hours wey, be
Minutes, 5, she

g Ol
minutes doing hep homey, i

You ngey
differenCe_
id two hours

to
20d 20 minytgg 1, get

togetto 1500
toget to 13,00
1:10and 13,00

Section Seven
— Mixed Problems

Pages 45-46

1. 50%

The black and silver segments make up half of the pie
chart (135°+ 45°= 180°). That means that 50%
of the peaple drove black or silver cars.

2. N

The total angle of the segments for blue and red
cars is 90° + 30°= 120, This as a fraction of the
entire chart is 129540 which can be simplificd t0 ¥

3. 8

1o find how long it will take to eat 40% of the bag
You need to work out what Vepis as 2 percentage.
Convert Vs into an equivalent fraction with
denominator of 100. Multiply the numerator and
the denominator by 5 to get %pp. That means
that Vopis the same as 5%. It takes Greg 1day r.o
eat 5% of the bag, so it takes him 40 + 5 = B days
to eat 40% of the bag.
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m shows more people chose Blueberry
' ' far.
] her pie. 0 thia is the most popular.
pe A’ ﬂg:mggnis 2 people, and there are
;niofngr Blugberry, 50 2 X 4 = 8 people chose
4igon-

Bluehe™y

4.
hepitd™

> zzg 50 into pence by multiplying it by 100,
Co"wr;m = 450p. 9days worth of seeds cost
1 1daysworth of seeds costs 450 + 9
o 5;;;; of seeds are used each day, so the

;asz’;f‘l cupis50p * 2=25p

6. £198
cm=15m P
of thehallwayis ©x 1.9 =
%iozafmecarpetls.ezz)(g:mgg

2000 litres
F,;gm p202mr09amis 40 'minutes_
From 9 am to 10amis 60 mlr?utes. ‘
40+60=100 minutes. 20 litres goes /n'to the
poolevery minute, 50 100 x 20= 2000 litres

. £400 ,
meamaoftheyardi55 x8=40m
Mr Taylor wants to turf half of it which is
40+2=2017. 4P of turf costs £80.
He willneed 20+ 4 = 5 rolls of turf to cover half of
s yard. 5 rolls of turfwill cost 5 x £80 = £400

9. B
Angles ona straight line add up to 180",

Sox=160°- 75°-60°= 45°
45°x 4=180° 50x i Yz 0f 180"

10. £100

W £he mean of Mrs Farooq’s gas bills is £80, then
the totalis 4 x £80 = £320.

Reading oft the chart, July bill = £40,

Octobers = £60 and January's = £120.
£40+£60 +£120=£220, 0 the billin Aprilis
£320-£220=£100

11. £80

The smallest value is for July (£40). The largest
valug is for January (£120).

Thedifferenceis £120 - £40 = £60

12. 310kg

If the mean weight of the crop from the 5 trees is
320kg, then the total weight would be
5x320kg=1600kg

The total crop from four trees I

370+ 280+ 330+ 310=1290kg.

The crop from the Sth tree will be
1600-1290=310kg

13. C

Volume = length x width x height

5o the volume of the container is

25x10x 10=2500 cm® The containeris filled
with 1000 ¢m? of water, so the fraction of the
container filed with water is 1%0 =104.

To find this as a percentage you need to turn
Tt into an equivalent fraction with 100 as the
denominator. Multiply the numerator and the
denominator by 4 to get 00 =40%

14, B

W¥youread off the bar chart the number of German
books is 8, There are 40 books in total, and & are
German books. This as 4 fraction is &

This can be slmplified to "Aj ifyou divide the
Numerator and the denominator by 8.

15. 10

':'f;ld trtof much washing liquid is needed per bucket.

oy =1000ml, 50 500 miis 0.5 litres.

16 litres there are 12 lots of 0.5 litres

(12x05=¢)

?; Tg Yotal amount of washing liquid in 1 bucket =

b ’"’ =?0 mi. The bottle contains 600 mi of
"gliquid, 60 600 mi < 60 mi = 10 buckets.

M6QDpE1

16. B

The pattern uses 2 hexagons and
have been cut into 8 triangles).
The area of 1 hexagon is H, so the areaof 2
hexagons = 2H. The ares of 1 squareis S, so the
area of 4 squares = 45, Altogether the a'rea of
Hannah's patternis 2H + 48,

17. A
Added together =

4 squares (which

Added

a together
j/ -

b

The two unknown sides opposite to the labelled side
a add together to makea. The two unknown sides
opposite to the labelled side b add together to
make b. So the perimeter is 2a + 25,

18. B

Find which rule will give the first number in the
sequence. For the first numbern = 1, only 2 rules wil
give 5 as an answer.
fn=1,7n-2=7-2=5andn+4=1+4=5
Try these rules forn = 2:
n-2=14-2=12andn+4=2+4=6

Only 7n - 2 gives the right number for both terms.
19. 25

If the sequence value is 173, it can be written that

173="7n-2. Adding 2 to each side gives
175=7nandson=175+7=25

20. £66.50

Gerald is paid £3.50 for every half hour, so he is
paid £3.50 x 2 = £7.00 for every hour.

Next work out how many hours he was at work for:
From &:20 am to 4:20 pmis 10 hours.

From 4:20 pm to 4:50 pm is 30 minutes, or half an
hour. So he was at work for a total of 10 and a half
hours. He took 1 hour unpaid for his lunch go he got
paid for 9 and a half hours work.

He was paid 9 x £7.00 = £63.00 for the nine
hours, and £3.50 for the half hour. So he earned
£63.00 + £3.50 = £66.50 in total.

21. 360 ml

From 4 pm on Mondzy to 4 pm on Tuesday is

24 hours. From 4 pm on Tuesday to 4 pmon
Wednesday Is 24 hours, but subtract 2 hours to
get back to 2 pm. So that's 24 -2 =22 hours.
24 4 22 = 46 hours. 46 + 2 = 23 doses, but this
doesn't inchude her first dose, so the total number
of doses =23 + 1 =24 doses.

1 dose=15ml, 5024 x 15=360ml

Assessment Test 1

Section A
Pages 47-50

1. 25.5cm

There are 10 spaces between 24 cm and 26 cm.
So each space is worth 2+ 10=0.2cm. The arrow
s pointting halfway between 25,4 and 25.0.

Half of the gap between 254 2nd25.6i5

0.2 + 2 =0.16m, so the number the arrow I
pointing tois 254 + 0.1=255¢cm

2. C .
Angley is bigger than a right angle (90°), s0 it 'can t
be 60°(B) or 90° (D). It i5 smaller than aostra'lght
ling (180°), so it can't be 180°(A). 175°(E)is
almost a straight line and angley is smaller thana
straight line by more thar 5° S that leaves € as

the only possible answer.

13

3. A

You negd to use BODMAS to work out the initial
answer and each option.
6x2+12=12+12=24

A Bx5=24,48-24=24 — 50 Ais the answer:
B 11x2=22,3+22=25

C3x7=21

D:24-2=1212-1=11
E4x4=16,2+16=18

4. £7.08
£5+£2=£7
Sp+2p+1p=8p
£7+8p=£7.08

5. D

Scalene triangles have three different sides and
three different angles. Rhombuses, kites, reqular
pentagons and isosceles triangles have at least two
equal sides and at least two equal angles.

6. £8.91

Round each 99p up to £ by adding 1 p. then
multiply by 9: £1 x 9 =£9.

You added 9 x 1p to the total cost, so subtract
theextra 9p: £9-9p=£8.91

7. B

In45.952, 9is in the tenths column.

Look at the number in the next column to the right
(the hundredths). Itis 5, so round the 9 tenths
up to 10 tenths. 10 tenths is one unit, so the
rounded number is 46.0

8. 16:50

When using the 24 hour clock, the hours in the
afternoon, ie: after 12 noon, increase from 13 to
23, Ten tofive in the afternoon is equivalent to
fifty minutes past four. Four oclock is 4 hours after
12 noon sois 4 + 12 = 16:00. To make this fifty
minutes past four, 16:00 + 0:50 = 16:50

9. A

The cake is cut into 20 slices and 16 are given away.
This leaves 20 - 16 = 4 slices.

As a fraction of the overall cake, this s %zo.

The highest common factor of both the numerator
and the denominatoris 4: 4+4=1, 20+4=5.
The amount of cake left overis Vs,

10. 1900

The tens column is the second column from the
right. This is 9, which rounds up to 10.

This increases the value of the hundreds column by
one making the answer 1900.

11. B

The customer is charged £50 for the job, plus the
number of hours (h) multiplied by £25.

So the cost = 50 + 25 x h, or 50 + 25h.

12. 5

Work through your 5 times table until you come to
first number greater than 24.

5 x 5= 25, s0 5 tents would be enough.

13. 1404

There are 3 lots of 2808 (multiplication is repeated
addition), which is equal to 6 lots of something.

6 is double 3, so halve 2808 to find the missing
number: Half of 2808 is 1404.

502806 + 2808 + 2808 = 1404 x 6

14. C

On the graph, you can see that the February sales
are lowest. The only game for which this is true i
Croc Chase.

15. 9

The whole circle represents 36 children. The yellow
area of the pie chart is 90" or a quarter ofthe
circle. Y4 0f 361536+ 4=9.

9 children wore yellow hats.
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16. £1.07
Ore way ef dorg £10 - £8 83 is tocount up from
893 1o 100naquck sketch of a number hne:
oa7 1
%
2
pos 7 ¥

C07+1=2£107
17. 61
You cant calcutate the blue team total straight
anay Ore methad s to calculate the number of
ports won by the Yaar 5 blue team first
(G0 -27-32=31) Thentusethis to find the Flue
team total 31+ 3= E7)

Team Year5 | Year6 | Total
Red 22 50 77

Yoliow 32 25 57
Blig 31 30 61
Total 20 105

Aiternataely. find the grand total by adding the
numbere on the bottom row (20 + 105 = 195).
Then use this to find the blue team totalk
(195-77-57=61)

18. op
10% of 40p e 40 + 10 = 4p. So the cost of each
packet is 40~ 4 = 36p.

There are G bears in each packet, 50 the cost of
eachbearis 36 +-6=6p

19. D

The spinnar can be spiit into 10 equal sections.

2 of the 10 sections are white and 6 of the 10
sections are spotty So forevery 2 white sections
there are 6 spotty sections. This can be simplified
50 for every one white segment there are three
spottly seqments.

20. D

The right angled triangle has 1 right angle, the
square has 4 nght angles. None of the other
shapes have any.

21. D

Primie numbers are only divisible by
themselvesand 1.

47=1x47

55=1%x55amd5x 11
42=1x422x21,3x 14and6x7
47=Tx47

58=1x58and2x29
63=1x633x21and7x9
62=1x622and2x 57

73=1x73

22. D

Look at the top right corner of the rectangle, and
follow the instructions to see where it moves ta.

A

2 3 units right

& )

5 ! | 2 units down
4 ! 4

3 |

2 x——

1

0 1234567 Brf1r
The top right: comer would now be at point (8, 4).
This coordinate is only in option D, 50 that'’s the
answer:

23. 6

Add up the shoe sizes: 6 +6+7+5+ 7+6+5=
42, There are 7 numbers so divide by 7 to find the
mean:42 ~7 = 6.

24. 28 cm

The length of each sid of the hexagons is 2 om.

The outer edge of the shape is made up of 14 of
these sides. o the totallength =2 x 14 = 28 em

MBQDET

25. 36.68

latinhas 122g0fc wrbohydrate
Saia 3 timesas m uchas 4.
oo 12 2 g x 3= 36 G gof carbohydrate.

26. 10:05
The first triain
916 Raading down the same co
it arives in Lanston at 10:05.
27. C

A B, DandE canbe split into two of the trapezium-

shaped tiles shown, Ccan't — the ties overlap.

R

28. A
The only days on which there i5 & meat pieanda
non-apple dessert are Monday and Friday.

This is two days out of five, so the fraction is %

29. -8°C

The temperature drops from 1 °Cto—2 °C, whichisa
drop of 3 °C, from Tuesday to Wednesday.

Twice thisis 3°Cx2=6C.

& Clowerthan-2 Cis -8 °C.

30. D

Imagine folding the net up to make a cuboid.

Corner D will touch X.

AC
B E

after @ am fron Chapel Street (5 at
jumn of the table,

Dy

Section B
Pages 50-52

1. 0.9kg

First calculate the mass of the 7 peaches:

7x 200g=14004. 1kg=10004, %0 140049
=14k

The mass of the basket: 2.3~ 1.4=0.9kg

2. 2.15kg

Inquestion 1, the basket was found to weigh 0.9 kg.
3 peaches are exchanged for apples.

The basket will still contain 7 - 3 = 4 peaches.
Each peach weighs 2004 The weight of peaches
in the basket is 200 x 4 = B0Og. Thisis equal to
800+ 1000=08kg.

One apple weighs %4 of the weight of one peach.
(200 < 4) x 3= 1504. The weight of 3 apples is
150 x 3=4504. Thisisequal to 0.45Kg.

The weight of the basket and its contents is
09+08+045=2.15Kg

3. 045m

The furthest Andy jurmped was 5.25 m,
His shortest jump was 4.80 m.

The difference i 5.25 - 480 =045m

4. 475 m
The onlly distarice that Roger jumped more than
once was4.75m.

5. 500m

The mean ls found by adding all the values and
dividing the sum by the number of pisces of data.
526+ 500 +4.90 + 4.95 + 480+ 5.10
=30.00

S0 the meanis 30.00+6 =500 m.

6. 0.05m

Roger's longest jump was 5.50 m.
Andy's longest jutrp was 5.25 m.

The difference is 5.30 - 5.25 =005 m.

14

7« 32

To find the answer you nee
; ; ? A to work I,
131. You're told that a number was wckards From

mal(ls 137 — s0 the number was 73?W€dby2 to
You're told that 6 was added to num; 2=26p
er to

262, 50 subtract 6 from 262, pgp 8 Make
; ~6<254

You're told that a number was

? mult
make 256.sodvide 25615y 5, | X80
256 -8=32

8. 50 minutes

Divide 1 litre by 20 ml to see how ma

will take.

1litre = 1000 mi. So work out 1000 + 2

You can make this easier to work out by d:wQ'

both numbers by 10, s0 thats 100+ 2 - 5cl;n 37,
ns

9. 10%
The amount of discount received off

the origi
price of £27.50was £27.50 - £24, 750:52?/7
2.75=2750 + 10, so the discount is 1, Of‘thﬁ
original price. This is the same as 10%. Sk

10. 2:1

There are B circles and 4 squares,

This isaratioof 8:4.

This can be simplified by dividing both sides by4.

11. 11
There are 2 grey squares and 2 white squares.
Thisisaratioof 2: 2, or 1: 1 inits simplest form,

12. C

There are 3 white circles and 12 shapes in total
This gives a fraction of % .

This can be simplified by dividing the numerator and
denominator by 3 to give 14,

13. 500¢g

The ingredients given make 12 cakes.
40 cakes = 3lots of 12 cakes + 4 cakes.
4 cakes = s of 12 cakes. She will need to multiply
the amount of butter given by 3%,
You can partition 3 V5 into 3 + V5.

Yax 150g=150+3=509g

150gx 3=4504
So the total amount of butter is
45049 +509=500g
14. 70
We are told 240 g of flour akes 12 cupcakes.
Each cupcake requires 240g = 12 = 20 g of flour:
1.4 kgis equivalent to 1.4 x 1000 = 1400 g of
flour. The number of cupcakes that can be made
with 1400 g of flouris 1400 + 20= 140+ 2
= 70 cupcakes.

15. 26
Read the number of children who chose plum and the

number who chose pear off the horizontal axis.

The number who chose plum is halfway between 28
and 32 so 30 children chose plum.

The number who chose pear = 4. Subtract to find
how many more children chose plum than pear:
30-4=26.

16. A

4 children chose pear and 24 children chose apple,
5024+ 4 = 28 children chose either pear or pple.
For 2 Fruit to be half as popular; it would have 1o be
chosen 28+ 2 = 14 times.

Orange was chosen 14 times.

Feach was chosen 28 times.

Flum was chosen 30 times.

Banana was chosen 18 times.

Therefore the answer Is orange.

17. £17.40

Bella gets 6 boxes of 20 gards for4 x £3.90.
Partition £3.90 into £3 + 90p
4x£3=£12.4x 90p=£3.60

£12 +£360=£15.60.

Ghe als0 gets a box of 12 envelopes for £1 80
Total cost=£15.60 + £1.80=£1 7.40

ny minutegs iy
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o723 , o)
A — thex-axis coordinate always goes
9&‘;"1 4 henyou e writhng coordinates.

19. ﬁ(;;?o)cﬁé she follows from the point (4, 2):
Here
¥

4

3

2

20. £15

Amanda he
spent 60% of her pocket money, s

/ pave 40% left, 40%=£06,

10%wauldbe£6+4=£1.50.

Z?Oﬂwuldbc 10x£1.50=£15

7. 1 :05 ‘
[fKate travels at 60 km/h, she will cover
2x60="120kmin 2 hours.

Ghe then goes 2 further 15 km (135 - 120).
15kmis ¥4 0f 60 km, s0 she will travel 15kmin g
of an hour She travels for 2 Y4 hours in total. If she
starts at &50am, 2 hours later will be 10:50 am
and 15 minutes after this will be 11:05 am.

22. E
The mean of a set of four numbers is the total of the

umbers divided by 4. So if the mean is 4, the total
ofthenumbersis 4 x 4=16.

The two sides you can see add up to 11 (3 + 8).

5o the two hidden sides must add up to

16 - 11="5. The only pair of numbers in the answer
choices that add up to 5 is 1 and 4.

23. 8.1 litres
Convert 900 mil Into litres by dividing by 1000.
900+ 1000=09litres
Add up the three volumes: 4.4

09

+28

81

2
24. 85%
To convert from fractions into percent, multiply the
numerator and denominator by the same number
until the denominator equals 100. The numerator
s now equal to the percentage. 100+ 20 =5.
Therefore you need to multiply the numerator by 5
toger the percentage. 17 x 5= 85%.
25. 67°
Putn = 46°into the formula.
m=(180~46) : 2
m=134-2=57°
26. 72 m2
Tocalculgte the zrea of one triangle:
(6"4)1"2= 12m?
The playground is made up of six triangles so the
Wtalareais 12 x 6= 72 pi?
27. 1

1 R
[

L ereis 1 line of & .
ymmetry shown above with the
dashed line,

M6eQpE1

28, 19m?
Yolume = width x height x length
The volumes of the cube angd th
calculated separately,
Cuboid: 55x 1x2= 11 m3
Cube: 2x2x2=8m3
The total volume I the sym of

the volum
cube and cubold. 11+ 8= 19m> orte
29. 375¢g
First find out how many 2ps make up £
£1= 1'00p. sothereare 100 « 2 = 50 coins in
each pile. Each pile should weigh 50 x 7.5 - 375¢4
30. 75kg

From question 29 you know that £1 of 2p’s welghs

3759=0375kg. Multipl
- Multiply this by 200
weight of £200 of 2%, by 20010 get the

0.375x200=0.375x 100 x 2
=375kgx2=75kg

e cuboid can be

Assessment Test 2

Section A
Pages 53-56

1. D
There are 8 segments and 3 are shaded,
This is the fraction 3,

2. 34 minutes
The slowest time was 156 minutes and the fastest
was 122 minutes, 156 - 122 = 34

3. B

You need to find the piece that is the right size and
shape to fit in the gap. Shape B is the only shape
that fite in the gap.

4. A
A small can of beans weighs around 250 g. All of
the other weights are either too small or too large.

5. B

212is 21 x 21. You can estimate the answer

by rourding the numbers to the nearest 10 and
working out 20 x 20.

20 x 20 =400. The only realistic optionis B: 44 1.

6. B

For B the dial is split into & parts and 1 kg is at the
4th point, halfway round the scale. This means each
point on the scale represents Tkg+4=250g

As the arrow is pointing at the 3rd point, it io
pointirig at 3x250g=7504.

7. 9m

To find the length of 20 scarves you need to multiply
45omby20: 45 x 20= 200 cm.

There are 100 cmiin 1 m, 50 900 cm =9 m

8. 145.75cm

The difference between 145.6 and 1 459is
1459 - 145.6=0.3.

0.3 + 2 =0.15 so the halfway point between the
two numbers willbe 145.6+0.15= 145.75

9. 6
Dogs have 2 Y% symbols and fish have 1 symbol s0

the difference between themis 1 V5 symbols.
Each symbol in the pictogram I equal to 4 people.
S0 half of a symbol is 4+ 2 = 2 people.

174 symbols Is equal to 4 people + 2 people

=6 people

10. B

Elsahas 7+ B8+ 3= 18 sweets tostart with.

She eats 2 chocolates so there are 16 sweets g’ﬁ:
(18-2 = 16). There are stlll 8 toffees left. 50 716

of the sweets left in the bag are toffees: 5iw’de ?/he
numeratorand denominator by 8 to find %6 = 72.

15

11. E

tmhsy-axis is the vertical axis 50 the coordinates of
€ reflected pofnt Aare (2,2) (see the diagram).

/r_mrror
line

12. £45

If you add up the portions that Elgise, Lucinda and
Jennifer get all together, 5+ 3 + 2 = 10.
Calculate the amount in one share:
£150+10=£15

Eloise, Lucinda and Jennifer share the moneyin a
5:3:2ratio. Lucinda receives a share of 3, and
therefore gets 15 x 3 = £45

13. E

The number 26 is an even number, but it isn't a
multiple of 3 or a multiple of 7, so it can’t be placed
Inthe sorting table,

14. C

When you reflect the clear pentagon in a horizontal

line it looks like this: Q

The only option where the clear pentagon looks fike
this Is option C.

15. 72 minutes

Work out: the length of time that the journey takes
oneach bus. On Bus A the journey takes

944 to 10: 44 = 60 minutes

plus 10:44 to 10:56 = 12 minutes.

60 + 12 =72 minutes.

On Bus B the journey takes

11:39t0 12:39 = 60 minutes

plus 12:39 to 12:48 = 9 minutes.

60 + 9 =69 minutes.

The journey on Bus A is longer; so the longest time
is 72 minutes.

16. A

When you multiply two odd numbers together you
always make an odd number. S0 113 x 175 will
give an odd number as the answer.

17. A

Silver, purple and blue were each chosen once, gold
and green were each chosen twice but red was
chosen three times, so red is the most popular.

18. 9

Ester won 32 prizes altogether so subtract the
number she won on the other days from 32 to find
the number she won on Thursday:
32-5-8-4-6=9

19. D

Look at each statement and decide if it's true:

A 5/4 = 00,50 7/100 isn't greater than %,
B: 7/100 =0.07,s0 7/100 isn't greater than 0.65.
(3 7/100 =007 50 7/700 isn't greater than 0.04.
0: %= 0.75, 50065 o less than %%,

E: 0.65 is greater than 0.09.

20. B
The cactus plants come in boxes of 12 and Lemone

needs 60 plants so she needs 60 < 12= 5’!70x65.
The cost of 5 boxes is shown in the expression as
BC. She needs to add this to the cost of the stall
S, 50 the complete expressionis S + &C.

21. 2
The total angle around the point at the centre of

the spinner is 360° and there are 8 sections:
60 the size of each section i 360°-8=45"

360" 45°= 315 s0 the arrow is being turned in
an anti-clockwise direction through 7 segments i}
©-1=7) which will leave it pointing at number 2.
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22, D

25 x 4 =100, s0it takes 4 days to run 100 miles.
The number of days to run 00 miles will be
4x8=32days.

This leaves 74 miles left over. 26 x 3 = 75 soitll
take 3 days to complete the last 74 miles.

32 days + 3 days = 35 days

23. 6cm?

You can work out the area of a rectangle by finding
length x width,

So. the area of the flagis 6 x 4 = 24 cn?.

The flag is split into 4 equal rectangles, so the area
of the shaded rectangle is 24 - 4 = 6 cm?

24. D

4G is 23 doubled, 50 46 x 14-is 23 x 14 doubled.
S046x 14=322x2 = 644

140 s 10 times larger than 14,

50 46 x 140 = 644 x 10 = 6440 sweets

25. 24

‘3501‘ the socks are white. There are 36 socks in
total, 60 the number of white socks is 24 of 36,
Y40f36=536-3=12

502403605 2 x 12 = 24 socks

26. D

n is the number of the term. Test each formula by
substituting different values forn.
EgforoptionD:n-(n + 1):

Whennis 1: 1-(1+1)=1-2=-1,
Whennis2:2-(2+1)=2-53=-1.
Whennis3:3~(3+1)=3-4=-1.

Son ~(n+ 1) is the correct formula,

27. C

For Julle to have shared the carrots equally, whilst
having none left over and not having to divide any,
the number of rabbits must be a factor of the
number of carrots, 70.

The only factor of 7015 5 (70« 5 = 14).

28. D

Four squares north takes Adam to (-1, 2). Two
Squares east takes himto (1, 2),

29. D
3{p + 6t) means:
pP+6t+p+6t+p+6t =3p+ 18t

30. 68%

To find a percentage you need to write an equivalent
fraction over 100.

79’50 people had a blue car and when you multiply
the numerator and denominator in 79’50 by 2 you
get 5&, o0=32%.

The percentage of people who didn't have a blue car
is 100% -32% = 68%

Section B
Pages 56-58

1. C

Add the prices of the sets of three board games
tagether. You need to find the option that adds up
to £30.00 - £0.50 = £29.50.

This Is easiest If you split: the numbers and add the
pounds and pence separately.

Blocks + Clueless + Trivia Time
=£1250+£650+£10.50
=£12+£6+£10+ £050 + £050+ £050
=£28+£1.50=£29.50

2. £9.50

Two copies of Brainium cost £950x 2 = £19,
Three copies of Trivia Time cost
£10.50x3=£3150

Together they cost £12 + £31.50 = £50,50.
Jill pald with 3 x £20 = £60. The change she
reseived was £60 - £50.50 = £9.50

ME6QDE1T

3. 50ecm’

The area of each square Is length x width
=4x4="160nT.

The areaof % asquare= 16 -2 =8cnt’.
1 whole square + 3 halves
=16+8+8+8=40cn”

Gheuses 2 half circles so 1 circle in total,
The total area of the circleis 10 cnt’.

So, the total areais 40+ 10=50¢cn?’

4, 4m

The area of each tile is 0.04 mé and Moses uses
100 tiles to cover the floor, so the total area of
the bathroomis 100 x 0.04 = 4 n?.

The area of the bathroom is calculated using
length x width, so area + width = length:
4+1=4m

5. 11:9

White tiles occupy 55% of the floor while black tiles
cover 45%. Writtenas aratio thisis 55:45.

The highest common factor of 55 and 45 is 5.
Dividing both sides by 5 gives the ratioin its
simplest form, 11:9.

6. 1.8m?

The total area of the bathroom is 4 m?

10% of the overall areais 4 + 10 = 0.4 m?
and 5% of the overall area is 0.4+~ 2 = 0.2 m?
Therefore 45% of the total areais
(04x4)+02=16+02=18m~

7. 120°

Each angle in an equilateral triangle is 60",

The shaded angle is made up of the angles from two
equilateral triangles so it is 60° + 60°= 120°

8. 12

In total, the girls have H + (H + 2) + 2H handbags.
Ifthey have 26 handbags altogether, this can be
writtenas: 26=H + (H + 2) + 2H.

This is simplified to: 26 =4H + 2.

Subtract 2 from both sides: 24 = 4H
SoH=24+4,50H=6.

Louise has ZH handbags.

2 x6 =12 handbags.

9. C

Amy has H + 2 handbags.

Georgina has 3 times this,
(H+2)+(H+2)+H+2)=3H+6

10. 91

£2.73 is made up evenly of 2p and 1p coins.
Tpoutofevery 3pisa 1p coin, s0 Vg of the money
Is made up from 1p coins,

£2.7316273pand % of 27316 273 + 3= 91,
8o, 91 coins are 1p coins,

11. 30
Girs Boys Total
Goals 4
Saves{ 14 =(20-4)=16 = (16 + 14) =30
Total | 24 |=(44-24)=20 44

The table shows how to find the total number of
saves. Start by working out the boys' total goals
and saves (20). Then use this to find the number of
the boys'saves (16). Add this to the girls’ saves to
find the total number of saves (. 30).

12. 5000

The length of each matchbox s 5 cim. This will fit
along one slde of the box 50 x 5 = 10 times,
The width of each matchboxis 2 cm. This will fit
along one side of the box 50 x 2 = 25 times.
Spone layer of matchboxes = 10 x 25

=250 matchboxes,

The height of each matchbox is 1 cm, s0 the
box fs high enough to it 20 = 1 = 20 layers

of matchboxes init. So the total numbper of
matchboxes = 20 x 250 = 5000

16

=

13. 125 000

In question 12, it was ca
5000 matchboxes int
If there are 25 Matches
are 5000 x 25 mz tche

/Culated th,
at ¢,
he packing iy here Were

" €ach marcn box, 1
S inthe pack, ey

You can calculate this by findin, 425 x é; Xintot

25% 1000 =25 op,

14. £16
The cost of tickets for2 a
£350+£350+£1.50 +£150=¢
A family ticket is 20% che.

x

. 25000 5. 1250,
0

dults ang 2 Childire, is

10
aper s

10%0f£10is £1 50 20%is £2.
S0 a family ticket is £1 O-£2=¢£8

Raj is buying two family tickets

S0 the

totalcostis £8x 2= £15
15. 5

The number of sausage rolls ¢z
24 x 3= 72 and the number eaten
7x5=35. Sothe total number of
eatenis 72+ 35 =107,

ten by the children s
by the adypy is
Sausage rolls

The sausage rolls come in packets of 25,
4x 25 = 100 s0 Sherrie will need to by
5 packets to have 107 sausage rolls,

16. 4

There are 7 adults who eat ¥y of 2 cake gach,
7x V=1 cake

There are 24 children who eat Vg of 2 cake each,
24x Vy=24+8=5cakes

Intotal Sherrie needs 1+ 3 = 4 cakes

17. 10 years

The plant needs to grow 0.5 m (2-15= 05),
It grows 0.025 m in 6 months.

There are 12 months ina year so it will grow
0025 x2=005minayear,
05m+005m= 10, s0itl take the plant 10
years togrow 0.5 m.

18. 9m

The vertical sides of the shape measure
1+6+7=14m. So,the total of the horizontsl
sides of the shapeis 32 - 14 = 18m,

The bottom horizontal line is equal to the 2 top
sides added together so the bottom horizontalline
is half of the remaining perimeter:

The length of X (the bottom)is 18 = 2 = 9m.

19. 58 m?
Area of a rectangle = width x height.
The house can be spiit up into two rectangles.

The bottom rectangle has an area of 6 x 9 = 54 m?
The upper rectangle has an area of 4 x 1 = 4 m?
The total areais 54 + 4 = 58 m?

20. 25%

The total amount of paint used by Harry is
3+4+5=12litres.

3 litres of this was red paint, so the fraction of
red paint usedis %5, % 7 i simplified to ¥ by
dividing the numerator and denominator by 3, and

1/4:
21.

25%(25% x4 = 100%).
A

The diagrarm shows the flag when it has been
reflected in the y-axis,
The coordinates of point P are now (-3, 3).

1

DRy

TTT
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term. To find the first term,

am e 1 forn in the expression n’ 41

b m:gwfm/awBODMA@-‘

T egx1+ 120+ 1=4
i wnd;erm,nif-Z:
'5,(41‘1:124'1: 13

2% B mpgraf‘h"

51;’:’:‘* 1=
) 3
Cm .
. 12 £ ach cube of cheest i
5
Foubes Iofcheesa, 50 the total volume of
re
eiB xJ=2A 0. \
o e cats 12¢m of cheese, s0 the amount
mou
;”;524— 12= 726("’

2 L has 5 sides that are all
tagon has

m,%ularpen

(zr—y)'"'_ _V+Zx_y+21'—y+2Y-y

s2x-y)= & o105y

om .
2,5'63,19 substitute the valuesx = 10 andy = 2 into
mu sion from question 24.
10,<10-5x2=100-70=90m .
Agrmatively, substitute the values of x andy into
the expression for one side of the pen
2x10-2= 20-2=16m .
Ther are 5 sldes to the pen 0 the total perimeter
i518x5=90m

26, 33

Briannecds 50 m?for every 5 sheep.

youneed to work out how many lots of 50 m®there
argin 555 . .
556-50=11 remainder 5. For every 50 m® Brian
canhave 3 sheep. Since there are only 11 full lots
f50me Briancan fit 11 x 3= 33 sheep in the

pen. Thereis a remainder of 5 m? which is not big

enough for one sheep.

27. 136°

Akiteis 2 quadrilateral so the angles in a kite add
1p360°. This means that the angle missing in the
kite 1s 360°- 130°- 130° - 56° = 44°

Angles on a straight line add up to 180", so angle a
5 180°-44°= 136°

28. C

Round up 49p to 50p and 29p to 30p to make the
calculations easier. Carrie bought 4 chocolate bars
s0the approximate price of these is 4 x 50p = £2.
She bought 7 bags of peanuts so the approximate
price of theseis 7 x 30p=£2.10.
£2+£2.10=£4.10. You rounded each item up by
Tpand there were 11 items in total (4 + 7 = 11) s0
subtract 11pto find the exact total cost:
£410-11p=£3.99

29. 8 hours

Start by making sure everything is in the same

units — there were 2 litres of water so change this
tomilliitres by multiplying by 1000: 2 x 1000 =
2000 mi. There are 5 holes each losing 50 ml each
hour; so the amount of water being lost each hour is
9x50= 250 mi. Divide the total volume of water
(2000) by the amount being lost each hour (250)
tofind the number of hours it take to empLy:

2000+ 250 = & hours
30. 120 minutes

ffone ﬁo)e l.s Stoppered then only 4 x 50 = 200 ml
water wil be lpst; per hour:
2’000 +200= 10 hours.
Zb:l (1;70 ~8= 2 hours more than when all 5 holes
"gwater: 2 hoursis GO x 2 = 120 minutes.

M6QDEY

Assessment Test 3

Section A
Pages 59-61

1. 6.5 cm?

The area of 2 whole Squareis 1 ¢, so the area of
ha'zlfa gquareis 0.5 cn. There are 5 whole squares
withan area of 5 x 1 cni? = 5 o, and 3 half
5quares with an area of 3 x 0.5 cn2 — 1.5en?, so
the totalareais 5+ 15 = 6.5 ony ‘

2, C

Litres is not a unit of length. Centimetres and
millimetres are too smal, Kilometres are too big,
So metres is the most suitable unit.
3. 7

Eachrectangle represents 4 vehicles, so ¥ of 2
rectangle represents 1 vehicle,

There are 1% rectangles for the buses,

This is equivalent to 4 buses for the whole rectangle
and 3 buses for the % rectangle,

S+ 4="7buses

4. 6

The children with a skateboard and a scooter are
shown in the overlap of the skateboard and scooter
circles. The 1 child in the middle section also has a
bike, s0 you don't want to count that ore.

Bike " »<" ™\ Skateboard
[ 17/ 2\ 5\

5. E

E (a trapezium) is the only shape with one pair of
parallel sides (the top and bottom). A and B have
more than one pair of parallel sides.

C and D have no parallel sides.

6. A

In the 24 hour clock, if the humber of hours is
greater than 12, the time is pm.

To convert from the 24-hour clock to the
12-hour clock subtract 12 from the hours,
inthiscase, 13. 13-12=1.

So the answer is 1:45 pm.

7. D
There are eight lines of symmetry:

8. 113

Add up the number of boys and girls in each year:
Year2:  49+50=99

Year3: ~ 52+56=108

Year4: 55+57=112

Year5: 54+59=113

Year6: B35+54=89

Year 5 is the biggest year group and has 11 3
children.

9. 7.2

0.08 15 1000 times smaller than 80, 50 90 x0.06
will be 1000 times smaller than 90 x 80.

90 x 80 = 7200, 50 90 x 0.08

= 7200+ 1000=7.2

10. B

400 g i5 the only sensible answer: 4 kg and 40kg
are too big. 4 gand 0.4 g are too small.

17

11. C

Total up the 3 items Mag
dy chose
total from £5.00, Y L the

40p+25p + 99 =£164 (toadd on 99p, add on
£1 and subtract 1p).

£500-£1.64=£336

12. B

Convert all the fractions to twentieths sp they're
;asie; to put in order:

7= 5/20 (Multiply the numerator and
denominator by 5)

;/5; )4/2 o (Multiply the numerator and denominator

The other three fractions are already in twentieths.,

In order from smallest to largest, the fractiol s
g , NS are:
720 %20 %0. %0 "%0

Convert the fractions back to their original form to
ive: %0, 3, %0, %o, 3

gve: 720. 76, 720. 720 %

13. 12

From the chart, you can see that 70% of children in

the computer club are boys.

There are 30 children in the club, so find 70% of 30,
10%0f30=530+10=3

50 70%=7x10%=7x3=21.

There must be 30 - 21 = 9 girls.

So there are 21 - 9= 12 more boys than girls.

14. C

The fastest time is the smallest number. Cara was
fastest with 3 mins 59 secs, All the other times
are over 4 minutes so compare the seconds.

lan came second with a time of 4 mins 2 secs.

15. 11

To find the answer you need to work backwards from
112. You're told that 9 was subtracted from a
numbertomake 112 —s0add 9to 112:
112+9=121. Toreach 121 the original number
was multiplied by 11. So you need to divide 121 by
117 to find the original number: 121+ 11=11

16. D

The square numbers on a six-sided dice are 1 and 4.
This is 2 out of the & numbers, so the fraction is
%%

17. E

The map below shows Jenny's movements.
Remember — 90°is aright angle, so 155°is one
and a half right angles (90°+ 45°).

(135°anticlockwise || |

18. 6:05 pm

1% hours = 1 hour 45 mins.

Count on 1 hour and 45 mins from 4:20 pm.
One hour later than 4:20 pmis 5:20 pm,

40 minutes later than 5:20 pmis 6:00 pm,

5 minutes later than 6:00 pm is 6:05 pim.
Alternatively, 1% hours is 15 minutes less than
2 hours. So.you could add on 2 hours and then
subtract 15 minutes.

19. 2km
Sarahrunson 7 x 12 = 84 days
Eachday sheruns 168 + 84 = 2km.

20. C A
You nieed to imagine spinning the shape r"au4nd to
different positions. This question is easier if you '
rotate the page so that the cube with the heart is

at the top each time.
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21. 20 ¢m
The perimeter of 2 rectangle is made up of 2 lengths
and 2 widchs. In this rectangle,
length = width + 20 cm, so the periteter is
2widths + 2 widths + 20 cm + 20 om
=4 widths + 40 cm
The perimeteris 120 cm, s0 4 widths is
120¢m - 40 cm = 80 ¢cm
S0 1 widthis 80 cm - 4= 20 ¢m

22. 2.25°C

The highest temperature was 38 25 °C on
Saturday. The lowest, temperature was 36 “Con
Monday and Wednesday.

So the difference = 38.25- 36 = 225 °C

23. E

Count up from -5 in steps of 1.5 until you land on
one of the answer choices.
=5,-35-2,-0.5,1,2.5,4 (whichis E).

24. B

The pattern is made by repeating a set of three
shapes.

3 x 6= 18, s there will be 6 full sets of the shapes,
plus another two that make up the first 20 shapes,

The heart is the 1st shape in the pattern, so shape
19 will be a heart.

Sotherewillbe 6 + 1= 7 hearts

25. 597 miles

1 Sue can travel 2985 miles on 5 tanks, she can

travel 2985 - Smileson 1tank: 0597
5[2%%%

26. 31

You couild do this question by predicting what the

11th shape will look like and counting the squares,

Shape 11 will have a vertical strip of 11 squares,

and the horlzontal strips sticking out the sides

will be 10 squares long each. The total number of

squareswillbe 11+ 10+ 10=31

Alternatively, you could say that the number of

squares increases by 3 each time. There are 10

squares in Shape 4, and Shape 11 is 7 shapes

further on.

S0 Shape 11 will have 7 x 3= 21 more squares

than Shape 4.

This means it has 10+ 21 = 31 intotal.

27. 11

1.75 pints = 1 litre, s0 S litres = 6 x 1.75 pints.
Split the calculation up to make it easler:

2litres =2 x 1.75= 3.5 pints

Glitres = 3 x 2 litres, so:

Glitres= 3x35=105pints

So youd need 11 bottles.

28. B

Consider whether each statement is true:

A: There are 4 even numbers and only 2 odd, so this
isn't true.

B: 4 numbers out of & are even, which simplifies to 2
numbers out of 3, The statement is true.

C: The ratio of add to evenis 2 : 4 which simplifies
to 1: 2. Sothestatement isn't true.

D: 4 out of 6 sections are even which fs 476 = %3
This isn't equal to 75% s0 the statement isn't true.
E:Only 2 of the 6 sections are prime numbers (2
and 5) so this statement isn't true.

29. D

First find what fraction of the bottle she has used
by simpitying: '%%600=>400= "%

Then find what fraction of the bottle of shampoo is
left: 1 - ;’/4' = 5/4

MEQDE1T

30. (8,2)

The fourth corner is directly below the point (8, 10)
50 It will have the samex-coordinate (8).

Itis directly to the right of the point (4, 2) so it will
have the samey-coordinate (Z).

So the coordinates of the missing corner are (8, 2).
¥,

Section B
Pages 62-64

1. D

The reflected point is the same distance away from
the mirror line on both sides.
y

2. C

The mean is 5 so the total age of all the babies is
5 x6=30. The four ages that are given add up to
6+3+8+ 2 =19, sothe other two ages must
addup to 30 - 19= 11, This means that the
correct answer must be C (5 and 8).

3. B

The whole pie chart represents 20 days.

If20 days = 360°, then 1 day = 360° + 20= 18°
3 foggy days will be represented by an angle of
3x18°=54°

4. 6

From question 3, one day is represented by 18°
Therefore 108° corresponds to 108 + 18 = 6 days
(2554 + 18 = 3 and 108 is double 54),

5. 26

Acube has 6 faces, 12 edges and 8 vertices
(corners). 6+ 12+8=26,

If you don't know these, you could count them on the
diagram in the guestion.

6. 6cCm

This can be done using trial and error. To calculate
the length of one edge, the cube root of 216 needs
to be found:

4x4x4=64

5x5x5=125

6x6x6=216

7. £50

Substitute 300 form in the formula and find C.
Remember to follow BODMAS.
C=15(300+100) +5

C=15(3)+5

C=45+5

C=50

The cost of printing 300 leaflets s £50.

8. B

There are 1000 miin 1 litre, soin 10 litres, there
are 10000 m.

2 ofalitre= 24 x 1000mi=(1000x 2) = 5
=2000+5=400m

So the amount left in the bucket = 10 000 - 400
= 9600 ml

18

9. 45kg \‘

7.5 kg of rabbit flakes are used which
to 5 parts. Soonepart is 75.5 :
There needs to be 3 parts of hay,
7.5x5=4‘5kgisneeded_ '

10. 31.5 kg
Thereare 1+3+5=9
Parts in the py;
vegetables only make up 1 part of it Ty
There are 3.5 kg of vegetables in :
total weight is 3.5 x 9, Split ¢
5x9=27and0,5x9=4.5

together, 27 +4.5= 3154,

11. 95

The number of children can pe fou
the correct bar (the darker grey
the values on the y-axis.

On Monday 30 children useq the ferry,
On Tuesday 40 children used the ferry,
On Wednesday 25 children use the ferry,
In total on the first three daye:

30 +40 + 25 = 95 children use the ferry,
12. 70

Add up the total number of children who
ferry: 30 + 40 + 25 + 75+55+35+35=255
Add up the total number of adults Who used the
ferry: 15+ 25+ 10+ 30+ 10+ 35+40= 165
Then find the difference: 235 - 165 = 70.

13. D

On Thursday 30 adults and 15 children used the
ferry. 15 is half of 30.

14. 25

Wednesday had the fewest passengers (35) and
25 of them were children.

15. 210

The calculation is easier if you notice that
11412+ 13+ 14+ 15+ 16+ 17+ 18+ 19+
20isthesameas (1+2+3+4+5+6+7+8+
9+ 10)+ (10 x 10). You are told in the question
that the sum of the numbers from 1 to 10is 55,
Sothetotal=55+55+100=210

16. 8
The prime numbers between 1and 20 are:
2,35711,13,17and 19,

17. B

The minute hand will go round 10.5 times between
12 noon and 10:30 pm. It travels through 360°
each time it goes round. So the total angle it
travels throughis 10.5 x 360°, Split this up into
10 x 360°= 3600° and 0.5 x 360° = 180", then
add them up: 3600°+ 180°=3780°

18. £9.75

Find 30% of £2.50: 10% of £2.50 = £0.25
30%=3x10%=3x£0.25=£0.75

Soif he cleans the car one week he gets
£250+£075=£3.25

So for 3 weeks he gets £3.25 x 3=£9.75

19. 52 m?

First find the area of the whole garden, then
subtract the area of the flower bed. This gives you
the lawn area.

Garden=8x8=64m"

Flowerbed =4 x3 =12 n?
lawn=64-12=52n"

20. 1 hour 5 minutes .
In question 19, it was calculated that the lawn s
52 m? It takes Tamara 5 minutes to mow 4 m“0’:
lawn. In 52 m?there are 52 - 4= 13lots of 4m
It will take Tamara 5 x 13 = 65 minutes to mow
the lawn.

This Is equivalent to 1 hour and 5 minutes.

21. B

lan has rounded each item up by Tp. Thereare 9
Items, 50 his estimate will be 9p too much.

50

the mix an,
his up int,
and add they,

450 the

nd by identi@,-,,g
bar) an4 feading ofp

used the
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22. 3 o is the same as 25 °F from the
howmany ‘C i the ’

e g_ff 1:’5 .appmximatel_y -4 °C. Thetable te{ls

g m temperature for a sleeping

i
th:; ::r; 3i5-5C. Thisis the lowest rated
bagwi
slecping b33 he can get.
%}.3 , rlfrm accounted for by red, blue and green
4
marges i525%+ 30k + 15%=70%

The percent of yellow marbles in the bag is

3, - 70% = 30%
;gZoféSOia 60+ 10 =6 marbles.

30%is Ixb= 18 marbles
. C o
3; = 75/7(;0 of the marbles are green. Dividing
the numerator and denominator by 5 simplifies this
fraction to /20,
25. 30m® e it -
2 of the triangular side = ¥e x base x nelg
Areae =Wx3x2=3nm
Volume = area of triangular side x length
=3x10=30nm"
26. 2016

Find the total number of seats (42 x 48):

27. 14

To calculate the mean, add all numbers together and
divide by the number of classes.
Mean=(16+16+11+17+12+12)+6

=84+ 6= 14 children

28. D

There are seven days in one week. Count on six lots
of seven from 23rd April. There are 30 days in April
and 31 inMay.

30th April, 7th May, 14thMay, 21st May,

26th May, 4th June.

29. D

1 game costs £59.99, so n games will cost himn x
39.99=39.99n

The computer cost £260.

Subtract these amounts from £500 to find what
he has left overs

500-260-239.99n = 240 - 39.99n

30. 6

Russell has £240 remaining from his £500 to
spend on games. Each game costs £39.99 which
can be rounded to £40.

£240 - £40 = 6. Therefore, since we rounded
£39.99 up to £40, Russell can afford 6 games.

Assessment Test 4

Section A
Pages 65-68

1. E

Tmillion 15 1 000 000, s0 7 000 000 5 seven
million.

2. A

Trees are usually taller than 2 person’s height. The
other measurements are all much smaller thana
person’s height.

3. D

Ashape with six sides is formed, X
Which is a hexagon.

4, A
-2 °Cis the lowest temperature in the table.

5. 1 hour 20 minutes

The programme starts at 6:55 pm and finishes at
&:15 pm. Count on 1 hour from 6:55 pm to 7.55
pm. Then counit on & minutes from 7-55 pm to
8:00 pmand a further 15 minutes to 8:15 pm.
The total is 1 hour + 5 minutes + 15 minutes which
gives 1 hour 20 minutes.

6. 17.5cm?

The area of a rectangle is length x width. So the
areais 7 x 2.5. Fartition 2.5 into 2 and 0.5 and
multiply each number by 7.

7x2=14. 7x05=35,
S07x25=14+35=175cm?

7. E

Only two of the numbers are less than 1: 0.81 and
0.18. 0.18 only has 1 tenth, whereas 0.81 has
Btenths. S0 0.18 is smallest.

8. 8cm

Regular heptagons have seven equal sides, so each
sideis 56+ 7 =8 cm

9. £3919

Subtract the price Kate paid from the original price:
£6999 - £3080 = £3919

You can do this subtraction using partitioning;
6999 - 3000-80=3999-80=£3919

10. C

There are 4 gaps on the scale between

Z2kgand 4kg. Soeachgapis worth 2 + 4=05kg.
The arrow is half 2 space further along than 2 kg on
the scale. Half of 0.5 kg = 0.25 kg.

So the kitten weighs 2 kg + 0.25 kg = 2.25 kg

11. B
Joe ate an equal amount of three loaves over seven
days, so he ate % ofaloaf each day.

12. E

The dogs sector of the pie chart is slightly bigger
than a quarter of the chart.

Calculate a quarter of the 32 pets: 32 + 4 =8

9 is one more than &, The other choices are too big
ortoo small to be reasonable estimates.

13. B

9is greater than 5, s0 39 rounds up to 40.
Sz less than 5, s0 43 rounds down to 40.
40x40 = 1600

14. 8:30 am

The latest bus arriving at Rippen before 8:40 am
is the one that gets there at 6:35 am. This bus
leaves Kneesall (where Lucas lives) at 8:30 am.

15. 144

Each piece is 1(3 m, so each metre of ribbon will make
3 pieces. Gus has 48 m of ribbon, 5o the total
number of pieces = 3 x 46

You can calculate this by partitioning 48:
(3x40)+(3x8)=120+24 =144

16. B

Triangular-based pyramids have 4 triangular faces,

4 vertices and 6 edges. \
17. E

403 Is half of 806. S0 30 x 403 must be equal to
half of 30 x 806. As 30 x 806 =24 180,
30 x 403 must be 24 180 + 2 =12 090

18. D

The angle is more than a right angle. It is about
halfway between a right angle and a straight line
—135%Is the only sensible estimate.

19. A

The horizontal line on the graph shows no distance
was travelled between 09.00 and 10:30, which is
1 Vs hours. (Read the times off the horizontal
axls,) This was when they were having 2 break.

19

20. 10

12x10=120,50 12% 20 = 240
250-240=10. 10isless than 12, so no more
bags can be filled. S0 10 biscuits are left over

21. 64 cm

The shape Mark draws is rectangle. The rectangle
Is the same length as seven cubes (7x4=28cm).
The rectangle is as wide as one cube (4em).

So the perimeteric 26+ 26+ 4 + 4 = 64 ¢m

22. C

There are 15 sweets altogether (5+10) and 5 of
them are cherry. So % 5 Of the sweets are

cherry which simplifies to 73 (You simplify
fractions by dividing the numerator and
denominator by the same number — in this case 5. )
23. 15

The day with the most symbols on the pictogram is
Monday wit 5 symbols. Each symbol stands for 3

awards so the class gained 3 x 5 = 15 awards on
that day.

24, A

Find out how mary of the balls would make up 55%.
55% = 5%00 =1 720 so 11 of the 20 balls make
up 55%. Then use the diagram to work out how
marly of each ball type there are:

Red=4+7=11

Yellow=6+3=9

Striped=3+7=10

Spotted=6+4=10

Red striped = 7

So red balls make up 55% of the balls in the bag.
25. A

Farallelograms have two pairs of equal paraliel
sides, 0 the completed shape will look like this:
by

(T4 T a3

26. 8

49 is a square number: 7¢ = 49

Soifx =7, x? - 1=48 whichis less than 49, so
the statement isn't true. That means the answer
must be & — ifx =8, x* - 1 =63, which is greater
than 49, so the statement is true.

27. C

Substitute one of the n values into each formula in
turn, and see which gives you the correct value.
Egifn=2

A:3n=3x2=6—not correct
Bn-3=2-3 =-1-—notcorrect
C2n-3=2x2-3="1—correct
D:2+:n-53=2+2-3=-2 —notcorrect
EZ2n+3=2x2+3=7 —not correct

Only C gives the correct value, so must be the
expression.

28. 42cm?
The net folds up to form a cuboid:

Zem ﬁcm

7em )
Volume = length x width x height
=7x3x2=42cm®

29. B
G0% percent is 6%00 = %O = %
If the price of an item is reduced by % the new
; -7 y £
price will be 1 A 5 ofit. ,
Soif the amount is n, the sale price will be %( n).
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30. B

There are 180" in 2 half tur, 90" in a right angle,
and 45° inhalf aright angle.

225°= 180"+ 45°

= 2 half turn and half a righhtl angle:

sSW

Section B
Pages 68-70

1.  22.105 litres
Addunits=5+5+5+5=20
Addwnth5=0,5+0.5+0.5+0,5=2
Add hundredths = 005 +0.05 = 0.1
Add thousandths = 0005 only
20+2+0.1+0005=22.1051itres

2. 35

Find the number of groups by dividing the number of
girl in the class by the number of girls in a group:
15~ 3=5groups.

The numberof childrenin agroupis 4+ 3 =7,

s0 the total number of children=5x 7 = 35.
Alternatively, find the number of boys in the class
by multiplying the number of boysina group by the
number of groups: 4 x5 = 20 boys.

15 girls + 20 boys = 35 children in total

3. 200

Work out the profit the school makes on each badge:

£1-70p=30p

They made £60 or 6000p in total.

So divide 6000 by 30 to find the number of badges
they bought. 6000 + 30 = 200

4. 35

Use the opposite functions to work back from 25.
To find the number divided by 7 to get 25, multiply
25by 7-25x 7=175. Tofind the number that is
muitiplied by 5 to get 175, divide 1 75 by 5:
175-5=35.

5. B

You can find the answer by rounding the prices of
the sandwiches. The cost of three sandwiches at
£1.49, is just less than £1.50x 3= £4.50. The
other sandwich costs £1.99, which rounds to £2.
Sp the total cost is about £4.50 + £2 = £6.50.
You've rounded up by 1p for each sandwich, so the
actual cost will be 4p less than £6.50, so answer B
(£6.46)is correct.

6. 65p

First take off the cost of the two sausage rolls.
£379=579%

379p-92p=287p

287p-92p=195p

S0 the three jam donuts cost 195p.

So each jamdonut costs 195p = 5= 65p

7. D

Convert prices in £ to pence, then divide the price by
the number of cakes.

15p each

39p -3 =13peach

100p+ 10= 10peach

200p - 25=8peach

150p ~ 15 = 10p each

Bpis the lowest price per cike.

8. 194

Fird the sauare numbers between 46 and 91:
6x6=36—toosmal, 7x7=49,8x8=64,9
x9=81,10x 10= 100 —too big.

49 + 64 » 87 cari be partitioned by adding the
tens and units separately:

(40 +60+80)+(9+4+ 1)= 180+ 14=194

MO W>»

M6QDET

9. B

The options are all very different. so try estimating
to find the answer The base of each triangle is
about 5 m, and the height of each triangle is 4 m.
Area =Y x base x height =% x5x4=25x4

= 10nt. The areaof each triangle is about 10 nt’,
0 the area of the patio s about 2 x 10 =20t
The only answer that is possible is 19.2 nr.

10. 41

The frequency just shows how many times each
number has been thrown. Read off the frequency of
each number and add them up to find out how many
times the dice was thrown altogether:
6+7+8+5+9+6=41

11. B
The dog eats 245 g each meal, andshehas 3 x 7 =

21 meals aweek. So inone week, she eats

245 g x 21. The answers are all very different, so
try estimating to find the answer.

Round 245 g up to 2504, 2nd 21 down to 20.
250x 20=50004=5kg.

The only answer close to 5 kg is 5.145 kg.

12. C

Eachmealis 245 g — round this up to 250 .

Try multiplying this by each of the possible answers.
3x250=750g,4x250=1000 g,

5x250= 1250 g, 10x 250=25004,

12 x 250 = 3000 4. So the answeris 5.

13. £280

First work out how many hours a day the café is
open for in the summer and in the winter

Mar— Sep (summer): 9 am to 6 pm = 9 hours.

Oct - Feb (winter): 11 amto 4 pm = 5 hours.

So the café is open 4 hours (9 - 5) more each day
inthe summer. Soitsopen4 x 7 = 28 hours longer
per week in the sumimer. It coste £10 per hour to
run the café, so it costs 28 x £10 = £280 more
each week in the summer.

14. 22
Start by working out 1% of 550: 550 + 100 = 59

Multiply this by 4 to get 4% 55 x 4=22

15. 225°

All the angles inside a regular polygon are equal.
The angles around a point: add up to 560",

s0 anglex = 360°- 135°= 225"

16. E

4.5 kg of appleis needed for 2 kg of sugar.
So for 1 kg of sugar, you need 4.5kg + 2
=225 kg apples.

10kg of sugar needs 10x 2.25kg
=22.5kgof apples

So for 9 kg of sugar you need
225-225=225-2~-025
=205-025=2025kg of apples

This Is option E.

17. 3.75kg
First find the mass of each type of fruit:

Oranges: 6004 x 1=6009
Bananas: 4509 x2=9004
Apples: 500g x 3= 15004
Fears: 750gx 1=750¢g

Add up all the masses:
600g+900g+ 15009+ 750 g

= 150049+ 15004+ 7509
=3000g+7509=375049

Convert the grams to kilograms:
10009 = 1kg,50 375049 = 3,75kg
18. 1125¢g

He buys two bags of bananas, so in total his
bananas weigh 450 g + 4509 = 9004.
o find the mean mass of a banana,
divide this by 8: 900g-8=1125¢

20

19. D

G
ount the number of smzi| triangles in each patt.
€rn

and see how they r

Fattern 1= 1 tza:;:e Fothe pattern number.
Fattern 2 = 4 triangles

Fattern 3 = 9 triangles

Fattern 4 = 16 triangles

Fattern 5 = 25 triangles

These are all square numbers. If the pattern nump,
Is n, then the numbper of triangles js n* -

20. 1:01 pm

?/ou can work out how long in hours 136 minute

is. There are 6O minutes in an hour. so jn two I'Jo5
there are 60 x 2 = 120 minutes, 136 - 120 —U ';5
50 136 minutes is 2 hours and 16 minutes e
2 hours after 10:45 pmis 12:45 pmand 4

16 minutes after this is 1:01 pm.

21. 1100 ml

First work out how many ml of milk Katie drinks each
day: 350 mitwice adayis 350 x 2 = 700 ml,
Now find out how much milk she drinks 2 week.

700 x 7 =4900 ml. She starts with 6 litres of
milk, which is ©000 ml. So at the end of the week
she has G000 - 4900 = 1100 m left. '

22, 45 cm?

There are 15 bricks in the model and each brick has
2 volume of 3 cn?® so the total volume is
3x15=45cn”

23. C

G out of the 15 bricks aren’t touching the table.
As 2 fraction this i %4 5
6+3=2and15+3=5,50 5/75 = %

24. 114 minutes

Replace thew in the formula with 2.2.
20x2.2=44. 44+ 70 = 114, s0 Jack needs to
cook his turkey for 114 minutes.

25. 47 minutes

The mean is the total of all the values divided by 5.
You can do the opposite of this calculation to find
the total of all the values: total of all the values
=themean x5 =42 x5=210. The total of the
values so faris 31 + 36 + 44 + 52 = 163.

So the missing value must be 210~ 163 =47

26. £1.10

To calculate the mean, add up the amounts and
divide by the number of months (6):
£1.20+£080+£1.50+£1.10+£1.50 +
£0.50 = £6.60 (Remember to convert E0p to
£0.80 and 50p to £0.50)

Now divide the total by 6: £6.60 + 6=£1.10

27. £23.96

The area of the soil is & x 6= 48 n.

One tub of seed covers 12 m?, s0 48+ 12
= 4 tubs are needed.

This costs £6.99 x 4 = (£6.00 x 4) - 4p
=£24.00-4p=£23.96

28. 14¢g

20gis two thirds of 30 g. If there are 21gof
carbohydrate in 30 g of cereal, there will be two
thirds of 21 gin 20 g of cereal.
Onethirdof21g=21+3=74

Two thirds of 21g=7x2= 144

29. 758

1 serving of the breakfast cereal has 08 g of fibre,
50 2 servings has 0.8 x2=1 6. Youstil need
0.4 g of fipre to get up to 2 4,50 yoU need another
half a serving. Altogether you need 2 and a half
servings: 2.5 x30=754

30. D

You can work out 1% by doing 30 + 100=034.
Then divide the amount of fat (15 g)by0.349

to find the percentage of fat: 1.59+034=5%
(25 15 + 3 = 5 and both numbers aré ten times
smaller), 50 the answer i D
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Progress Chart

this chart to keep track of your scores for the Assessment Tests.

Use

You can do each test more than once — download mark sheets
You
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